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Answers, Scripts, and Translations
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Mini Test 1

Answers
1. (B) (Sentence Simplification Question)

2. (A (Factual Question)
3. (D (Inference Question)

4. 3, 5, 6 (Prose Summary Question)
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1. CA) (Rhetorical Purpose Question)

2. () (Inference Question)
3. (B) (Vocabulary Question)
4. (C (Factual Question)

5. 3" (Insert Text Question)
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Mini Test 1

Answers
1. (D) (Sentence Simplification Question)

2. (D) (Factual Question)
3. (B) (Vocabulary Question)
4. 2, 4, 6 (Prose Summary Question)
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Mini Test 2

Answers
1. (C) (Vocabulary Question)
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2. (B) (Vocabulary Question)
3. (D) (Factual Question)
4. CAD (Inference Question)

5. 4™ (Insert Text Question)
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Mini Test 1

Answers
1. CA) (Rhetorical Purpose Question)

2. (C) (Inference Question)
3. (B) (Factual Question)
4. (BD (Vocabulary Question)

5. 2™ (Insert Text Question)
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2. CA> (Negative Factual Question)
3. (B (Inference Question)
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Sample Negative Factual Information Question
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1, (DD (Vocabulary Question)
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(Fill in a Table Question)
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Mini Test 2

Answers
1. (C) (Factual Question)

2. (B) (Rhetorical Purpose Question)
3. (C) (Inference Question)

4. (D) (Vocabulary Question)

5. CA) (Negative Factual Question)
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1. CA) (Factual Question)
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3. (D) (Rhetorical Purpose Question)
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1. (D) (Reference Question)
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2. CA) (Negative Factual Question)
3. CA) (Vocabulary Question)
4, (C) (Factual Question)

5. 4" (Insert Text Question)
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Sample Rhetorical Purpose Question
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1. CAD (Vocabulary Question)

2. (D) (Reference Question)
3. (D (Factual Question)
4. (B) (Negative Factual Question)

5. (B> (Rhetorical Purpose Question)
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1. (BD (Rhetorical Purpose Question)
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2. (D) (Vocabulary Question)
3. CAD (Sentence Simplification Question)

4. Jupiter: 1,7 Saturn: 4, 5, 6 (Fill in a Table Question)
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Sample Insert Text Question

Translation
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Mini Test 1

Answers
1. (D (Vocabulary Question)

2. (B) (Negative Factual Question)
3. (B) (Factual Question)

4. (D) (Reference Question)

5. 1% (Insert Text Question)
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Mini Test 2
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1. (D) (Reference Question)

2. (B (Factual Question)
3. 2" (Insert Text Question)

4.1, 3, 4 (Prose Summary Question)
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Sample Sentence Simplification Question
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1. (C) (Sentence Simplification Question)

2. CA) (Vocabulary Question)
3. (B) (Negative Factual Question)
4. 2, 4, 6 (Prose Summary Question)
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3. (C) (Reference Question)

4, (C (Rhetorical Purpose Question)

5. (B (Factual Question)
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Sample Fill in a Table Question
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Mini Test 1

Answers
1. (C) (Reference Question)

. (B (Factual Question)
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3. (D) (Vocabulary Question)

4. CA) (Sentence Simplification Question)
5

. CAD (Negative Factual Question)
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e =HE E Ch= 01250 QIBER VISE sl 2E 440|210t = 7hade]
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QUCE 2] AE2 00| UM B2 BB 200 0152 ST Higso(ct
0j2ft E4E BFE= OlIE 12| 7R S5 2201 0f59) M s
E2{iC), ofZa|7o| ST} HiED! o] Mol Fri= FE0| WokSe sl ot=2|7 it
AlRIR|Ssl= Zoick H2HM 0lXHM AA27} 20t 22 X=X £hi= RE 419
THERI0| St ojopIE B2 Eot
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Mini Test 2

Answers
1. (D) (Factual Question)

2. (B (Inference Question)
3. (C) (Rhetorical Purpose Question)
4, Elliptical: 3, 6 Spiral: 1, 4, 7 (Fill in a Table Question)

Translation
2812 EF

26h= $5 L Cleel 2dE0| 20] 2l R0ICh X172 26k= 2al5=0]Ck
HIEIKIES, S ZIXI2H 250 28 7HoilM 482 JHo| HdEs0|
EMBictn Y=rt 2ales 2570 s M A JHel 251 E2| st ok, of2fgt
25152 MZE 20} H0|X| S=r). Crst FHElE 7EXT ik 1920\ A0Ho, Ol=2l
H2EEI2 =2 5180| 1 Eelol] 78610 2o12| £F AMAIE USSR 2= F
702 712501 Hel7t EXfECh=s EE YopAck EFEEa LHME0] 22i0ick O
E5tEnE 2k 2l M Hm J8E S0lE] Wk

E}E Sobk= 7 HElE Z=Cth YR = CHE Zoll HisH Bt Z=sic), 0248t
25H= EO0M E7T7IX|2| 992 SREICE E0 S6ks A2 st HEE wrh Evd
Clisl 2SIXIH, 0l 0iF 223 EFEE SEiS 27| M2 Che BEE Sels 2Ict
EtHE Soltlie S22 $2 340] /20 71 X2l Slojsich £2, 00| 385
QU= SEER 0|R0H QlCt M2t M22 EEE o= 2esh M2t 2E0| 7Y
SEis|o] QUK UL EFE 2ok SF0IM 7HE 3o YR0l= £ Jie] 2hdE0|
ZElz|o] Uch HESMIE2 OIE Ct S E2 a0l St SEsis o
MaeoiCia 2o ik

LIME 2ol 92 YE Ui £ 8230t SE30iM BolLt Qh= Zo| Uk
Eot U2 E Q= ool o 22 SHdS0| XEElo QI £ BEES
5 71| HEHE Hok 7 FEl) 712 U7} = FEloIch 2ES0= @aE Edol
Q= BHH, B0t 92 U2 U= Eolle M2 471 28S0| ZEziof Qlt, X119
EHY2 25k0] T & 5 2oi =0H QUCk 0[2f3t 25H= S 52 SB 2512 BRECL
S 28te 780 54 BEES 240 =t HIsl, SB 2iis 712 2L Sl B4
SE88 #eCh LS Sololi= 1 2o Eeligh 2180 E 7[Et 5i 28301
Erigict,

EnE] Ssloll= SHe FelL 220t Sict HESIXKISZ 0IEZ Ir 12t |l
2ol2 FEsICE HAlo i =HE of2! SMS0| AUCE EX0=E HRL U2
HAE7 ZHE0] 27| tizol, 1 2ol s Folle 20| E7ssIck

a» 10 psd

Sample Prose Summary Question

Translation

HMAS) LS AHEE E27} Uiel= AZIE 33| it =5 20l =1t g20]
=0bM =27} AR = QUr) F AP R0 UM, ST+ EHME! == Qlct
E40= o 71X 2EEQI 01H0| QICk SHX(0H =0 Hat0| Of QT 71E Hulst
A= 247t 018 EE0 0P [5ks DiEH0ICL S e =28 TialAl7|n
c2|o} 7 |t REEES FASES IS 4 QUCt S+ - 55| YRR B

ZOILE AIHS) 917} LRAZ MBS ZS, ALSS 248 NOR 45 Ut
B4 T3 Kot B0 TGS YBIC FBS BES SAAIL 4 et o/2M
EX|9| HISE7H RO £ICh 2 XISfOME 2AIg UoY 4 U=t ol2M
EXle] e} Hopl Ek Tt 0| B2 BIS A2 Y SBES 5 4 AUk
DIXISlOR, 4t HEHS WAL 4 Urk. $40| of1f2. AR S8 257}
ClofBt o) Zels 2ot Bl

Answers
1. (BD (Factual Question)

2. CAD (Rhetorical Purpose Question)
3. 37 (Insert Text Question)

4. 2, 4, 5 (Prose Summary Question)

Translation
A2l Ex|

AR ZE ZR0| £50| YEC| SXIE UECL MS0| SXIE 3= FE 0lgs
US I3 02 O30l UE 57| |6 ZAS 06| HeiAMolct E8L ME2 B
XM EE AN, ZAXIS2RH S8 1§ == U= 242 XI5 ZEsic) sixet
BE M2l SXIS0| S22 22 ofLic MSS Ciefst Ja0 SAIE BT kst
MEEZ SKIS 2HECt

Yo Meo| SX|2| YAls i ERSICE HIE U2 MS0| LRI SXIE
FX2E 2Ot ERER| MSE I GIE S0, HiCt s E3 27 22| ZHulA
Urgl= HE S20| SXIE =0t Y2 2o gu2|S2 LIR 2SS oY LIS
Olofl EXIE R=Ct HHn} 20| x| Fol= MES Xldol SXIE Z=0t. (Et=s
x| Zol= E OIE QI S22 HEE Sih) B2 ME2 0138 FXE0 SXIE
Aoz QI7te| Exio] MSs 21 SICt MHISS W2 FE40] Mot ZAL Lo
SAIE B0, Y £30let o= ti=A| Xige| 1 25 3 Hof L2t Jls FE
SIS 3=t

5 SAIE Tes| ARk R0 0ME MES Aelmel 4 it thRE|
MEE2 Tzi0| 220[E ZIS0| FHot d 4 Us HH MEES 0IFEIL iR
A2, LRI, 9, 2|1 B2 SXIE et 2o} Citist LS99 SX19) AiE
HglS olH, MRk U Mot Angrs Mg =0t O3 O3, ME2 SXIE R
QST I S A7) sl IR B8 FILAZICE R ME2 X8t 5, 0|7, FIE,
J2|n ZiE2 SKIE UEY|= ik £ Al SXI0IM 2IZI0| DI Clekst BHES
B Eli= Zis S0[5! €| ofLict, 2EEOE MSS 0IBE £ U= 2EHE
0|51, U2 oM U HAE 4= 2T T Roll= 2 2S5 MPIEE S0l +
Ue SXIE Bh=ECk

Answers
1. (C) (Vocabulary Question)

2. (D) (Reference Question)
3. (B) (Factual Question)

4, (C) (Factual Question)
5

. (A) (Inference Question)

Translation
)

7 | 501 MAFAICHO] AEES M7| Alckiof] A2UCt 0|S2 S22 HAIER
B UEIc) 73 Ok, 719 oF 30000, QRIS HES picE as
Yol HE7| AlcHoll ZIJCE HE2 7|% 40| ORIQICE FAat Tale| g
SE0[QICH 02 Qlel, AIMER Hrt Z3sln 2ot 7122 =18 Ui 5
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QUACH 0L 20| B ¢ | LR & Uk

HS2 B1Z0[ck B0 5 7 0KYe| BAS0| BRXIA M2 S40] S0f
Z0Ick, BIZ0k= B4 siLio| SA} ERBICE CisiRIS &7} HAS 342 4 U
3401 01 4 9ick, HES QlE7} wast 2%l BN, SE! CIE 28
RiCk $52 Tlet olelel 4 B30IC), YMES 21 Falo| Y BHOIC
2ES E 012 S30[T) Ofi= En} B4R BISOIC OISE 2 2K U= M 7He)
g2,

BIZ0IA T8 342 AR E2U0) OE 282 83010, B32 Yisioz
HASE =0/A OISS BAAIZIORM BISOIRIC Olnf iR 52 H0| 278 4
U6, 71 0IRE BE BABO| N2 CIE SsHES 27| R0IC, ME BiSo0fT!
#3255 2 3450 SakES SAIBCk UK HE0] U} ol 20y
7] AR 4 QU 1D, FHE 01| SIS HCHHER It 9REIC), SR,
BASO0| B3 HIBZ US|, U2 B4 ML S WA Hct

B130| OH2S IH0| B2 40| e HABC) SAT Ciacks Folc,
B32 11 A20| Sl 348U} o TS, ©f 7D, B2 of B 4 ok 2o
ZCl 5340} H71S HEA 4 s 53 T8 okl 4 2Uck 2HS 2 Mpstc
of EIErn o Hp 3o 8t ofoick 254, U2 Bi3S0) S SN2 sl
SHSOJXIT Ict O S01, HIEY| 22, J2In SFMS S 8138 e st
FRERIEt 245HT o} 212 SFE 21 4 U0{0} Bir, ElEksS - YR0ks, H
225 7let HASE 0/S0F B BEOIH - 3B 97 AolM S8 #3010t

Listening
aD 01 72

Sample Gist-Content Question

Translation
M Professor: ARIEE 8 | S0t M2 7Ho|| H2iS SiRiSLIC 2IE9] Heli=
Xprle| O|RED MRS, Of, OIAICIA|L] 22 mES 5 ARKE 25 0|R0IFSLICt
Ofoje OfF ARZO| & CHE ARYO| 71X|D IS 1718 ©97] el SAS 7Haig o=
gLcL 22 529 7IEE 7| 26l 527PH RIS HARE 5 0K 52t
LASLITT Mz MRS0| 22 EFC| HUE s N0[200 SLEhct

AlZHO| RILEHM, ARISS 20t 22| HojA Sls Ol ARISa H2HE 57|
ARBSLICE HOSS 8 AMNIES| HES T H2iE | HiE) M2 xIHez
0|52 517| AESLIC) 0f2i5t MOISS oS 51HM R REE QISSUSLICE
2o REE £ HOIS0| 0120)M XMROZ HES 248 m AE3E Lol2in
ULS =20} 8 4 278 PY REE K2 2 = USUCt ZE9| 2 RE
& Ore ARY 28 E5 Z0(YUELICE T 019 oL ORI} B2 B2
o] MES 246k 200| 2ot 20l6h | miEYL|ch

SIS Safl, o4 2 RET ERlsH SheLCH YR E thest Zi0igLck BiX|
H20| AZS AT SR H2S E24 24U 20t BHE 20|QU&UCE 8IS Hu4E=
Slafiet HRHE HET AUUSLICL oS ST o, REIEE ol=a7t HECR SEE
oM QI 0|2 2 REE UE| WaLICH £5 502t Jolo 0l2= 29
ZEC JiESIELCL 28 |4 29 2E £5 ExfEict olols A32E7t OF
7FE REE ZiLIC, 0l S201M ARSI, 21=8 HA, J2|7 2ot Z0|
gLt

Ol Ci{ESHIME off ARIE0| B RES M= thel 238 a1
2 2R, 0lofl iEiME B2 olRS0| EMELICE TJ2|m 3240 &Pt X2 oizisat
27l =Clatn H2 017 |= ELiCh 022 S0l Yo AL 20| QULIR? HEA
MZISIALIR? of AIRIS0| 2 RES ZiMMENR -7
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Mini Test 1 E

Answers
1. (B) (Gist-Content Question)

2. (D (Detail Question)
3. (B) (Understanding Function Question)

4. CAD (Making Inferences Question)

Script &
W student: Greetings, Professor Nelson. I'm here to see you like
you reguested.

M Professor: Ah, thank you for dropping by, Alice. | know you're
busy today, but | hope you can spare a few minutes to speak
with me.

w: Of course, sir. | don’t have to go to my next class until three.
So I've got an hour of free time.

M: Excellent, excellent.
Ww: So, uh, what do you want to talk to me about?

M: It's about the paper you need to write. I'm talking about the
one that's due in two weeks.

W: Ah, sure. | haven't started writing it yet. I'm kind of busy at
the moment. So, um, | probably won't begin until, hmm . . .
next week | guess.

m: Well, if you don't mind, 1'd like you to turn in your paper a
week early. I'd like you to submit it by November 23.

w: By next week? B-b-but . . . How come | need to turn it in
before everyone else?

M: Excuse me. Well, to be honest, Alice, your grade in this
class is rather low. So, um, I'd like to help you out a bit. If you
turn in the paper early, | will grade it immediately. | will return

it to you two days after | receive it. Then, you can make any
changes that | suggest and fix your paper. Once you do that,
you can resubmit the paper.

W: Oh, | see. That way, I'll have a chance to get a higher grade.
Okay, sure, that's a cool idea. | can go for that.

M: Wonderful. So get started on that paper right away, please.
If you do that, you should be able to get your grade up from a
C to a B. That would make both of us happy.

Translation
W Student: RIS, Nelson 4, L&sHA 2 R4-EHE B7] 28 o7 |0
sELd

M Professor: O S8 M D0IYR, Alice, EH0| 25 HIE 42 21 QX[ A2t
0[0F7|5 LIF7| el B H2H AZIE UE += VIS HiRle.

W: S20|0lR, R, 3AIREE ChS 2ol 71X| Yots =7HER. J2iM § Alzt
S0 istE

M: E ERiEe H ERioR,

W: J2{T, of, X2t 2lof| chsh olof7 (6t Heiize?

M: Shllo| Mot 2 EMof TeiAR, 232 Fof 0j2Q) HME HEcR|T Rl
Holle.

W: Of, 228 M= ZIS OFE AR 23H0R. X[S2 HH2 o2k, T2, 2,
ofote, & H MZioll= Ch2 F7Hls ARSI 28 2 Zota.

M: 2, HFCIH, Shdo| 15U He| 21ME Mg S sie. 18 2B3U7X|
HiEs T2 sHe.

W: ChS FUIRIRT Sh-51-3HRIEh- off M7t CHE AMRIEEC BIA MiZsho} siLte?



M: D[RS, 2, SX5i6] YslH, Alice, 01 S=ollM Sfdo] MH2 O W2
Holol2. J12HM, B, MPPFEolA| oztel =28 F1 HOR, HuME Ha|
MiEstH, M7t HIZ MEE o2 Hofle, E0ME 21 0|F 20l i 52 =8
AR, 124, S M7t M2 IR B TME TRM $EE B 4 U2 Ao
T &t Chgolhs, 2uME T AIEE &= a8,

W: 2, 2702, O oid, Ert &2 N8 UE & Us 7I2E W HHER
Z0i2, 20|02, HEl olo[clofze. 2FA 8 AR

M: B EiRi2Q. J24H XIF B2 BA ZES AEEIMR. 28 51, CollM B7X|
HHE 22 + W 2 Holle. 12iE 22| E RS0 B2 A 2R

:

Answers
1. (C) (Gist-Content Question)

2. Temperate Zone:[1],[3],[4] Tropical Zone:[2]
(Connecting Content Question)

3. (B (Understanding Organization Question)

4, (A (Detail Question)

Script %F{ﬁ“}

W Professor: |'d like to turn your attention to the various climate
zones on the planet. The Earth has three distinct climate
zones. They are the polar zones, the temperate zones, and the
tropical zone. Roughly speaking, the polar zones are located
north of sixty degrees latitude and south of sixty degrees
latitude. Uh, remember that there are polar zones in both the
Northern and Southern hemispheres. The same is true of the
temperate zones. They are located between twenty-three and
sixty degrees north and south latitude. There is just one tropical
zone. It's found between twenty-three degrees north latitude
and twenty-three degrees south latitude. Please understand
that these numbers are just rough guides. It's not like the
climate changes abruptly at a certain degree of latitude. Nature
simply doesn’t work like that.

Within each zone, there is a standard climate. For example,
the weather in the polar zones is mostly cold and icy except for
during the very short summers they experience. The temperate
zones, however, get a variety of temperatures and weather.
They experience rainy, dry, sunny, cloudy, hot, cold, and . . .
well, you get the point. The temperate zones get all kinds of
weather. Note that the temperate zones are warmer than the
polar zones yet cooler than the tropical zone. As for the tropical
zone, it's characterized by high temperatures, high humidity,
and plenty of rainfall.

There are, however, exceptions to these norms. For
example, there are deserts in both the temperate and tropical
zones that get very little water. Think about the Sahara Desert.
It's mostly situated in the northern temperate zone. Some of
the highest recorded temperatures on the planet have been
recorded there. Also, some high mountain ranges in both
the temperate and tropical zones have snow and freezing
temperatures. There's even a mountain range in tropical
Uganda that has snow on its highest peaks.

There are other factors that also affect the climate in these
zones. Let's see . .. The coastlines of continents and their
interiors often have very different climates. This is true even if
the regions are at the same degree of latitude. Ocean currents
can affect the climate as well. Think about the role that the Guilf

Stream plays. It keeps the weather in parts of Northern Europe
much warmer than it really should be.

Another factor is the tilt of the Earth’s axis. Because of
that, we have seasons. This causes the weather in each
climate zone to vary throughout the year. This variation is most
pronounced in the temperate zones. So they have four distinct
seasons. The polar zones and tropical zone experience smaller
changes though. The polar zones, for instance, heat up a bit in
summer. Some places even become green. But the ice caps
in the far north and south don't melt. As for the tropical zone, it
gets slightly cooler or hotter. But most people don't notice the
difference.

Translation
W Professor: X|7t 49| Cigist 7|22 #als S2l0 478 ZF0E M2
THEl= Ml 7H2] 7 IS0i7H EXEILICE Sl XEE 20 X8 J2(50 Hol x|
J70|E. tHefEo® UM calH, Sl X2 59| 60=2t He 60=0l 2ixsH
QUSLICE of, SEe} gl 250 S X0 EXiEicl= HE 7126 FMIL.
204 Xkl U0IME DREZIXIRILICE 0152 SS9 2 J9 23=21 605 Alo|o)|
Ux[eH USLICH B X2 T B 20)2t USLICE B9 232t H9 23 A0[oflAM
HAELCE 0[2f8 £XIE2 URERI 710|=2Y #0|2k= ZS 0f5tE] FAA2. B
=0l ZEAZR 7% WS ojlbs 22 ofgLICh XiSolME et 22 Uo|
YOILEX| 245LICH

Z1Z1o| X|gtoflM=, BEXRI 7|27t EXEILICE oIS ST, St X0 Sl
JR0M LIEILEE DR B2 6 7RIS MIlstH, tiEe Wilstn of? =2
HLch X2t 20 X|Lolk= Cldst 712 S DM EELICE 0R2oA= HI7E
D, Zizsln, sHEG, 7150| §o| 7l @1, £1, a2 2, R UK opd
ZgLct 2o Xigiolls 2E 52| JM7t EAEiLict 2o X2k Sl Xjgkec
O w2t o XEHECk= o MEsithe B2 F261 FMIS. Fol X|2hof chsh
YLS CAlM 0RE S VIR S22 85 J2lu W2 Ao URE 1 ERc=2
gLk

SIR[2E ol2fst 7|20 QloiA ol 27t EXHELICE oIS S5, 20 X|dkat Doy
Al 20l HI7F M2l Li2IX] g A0 EXRHEILICE Alstet ARloll CHaH A2l
HMR 0= F2 20 K] S0 xEH UsLICH XR0IM 7 S 712 &
FHE JR0IM 7 ISEIRSLICE £51 20 X120 Sl X2 250 U= 22 52
A= F0| Ui2in] e H2 228 2Uch Doijol s S2iTiolids M
=0 Q4= LHako] Exfslz|= Fch

O[2i8t X|H2| 7|0 FES D|R = £ OE QRIEE EXEILICE SAICH &5
CHE2 si2t7 19t O LIS M2 Di2 CHE 7|%7t LIEIGLICE a7 22 §i=
ol U= XHENME JELICE SiE E£5 7R HEE 0lE = sLIC QAR
0Lt 10 Sl el chsl M2k 2MIR. 0l S5 53 X|eio] QWE ni=E!
el ] = =

T O 2012 XIS 7127 |2LiCh o] ThE20, =0 LiekLch ol2M
2§210] 7|Fh= S CI2Ft SWE ZHA| SLict o2igh CikES 2o X[2tol|A
7Fer 2t LIEfELICE mebd o7 joiME M2 55330| 25 4719] APEOo|
EXHELICE SEXI2H BHH XLt Sl X2 BC) 52 HERks JgLICE S X2,
OIS S04, 050l U7t B ghgLc YR XGS2 AX|o] F2H| ELict SHXig
220t T SHAME =X ASLICH B X2l chell 2SR, 247t of F2L 27t
O G&LIC sixi2h R 20| A—EE 1 XI0|E YolR2IX| ZEILICH

am 02 o

Sample Gist-Purpose Question

Translation
W1 Student Housing Office Employee: UI? A7} =2} =8 2o|el= 2Lta?

W2 Student: JZH| siFH2H SR, 71sAL HE U7 o= AZIO| S
=Ua?
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W1 RO, 1S SXi= SI0I. HFE 4= Q= 7[5H LI S7ix|Z. SHXI9!,
22| 517] HshAts S5 AR} U0{oF 1R, of CIE o= ¥S §7|nkt
siie?

W2: H| 7lssALEI0| R ATMe. M 22, o, shis0| g 82 81 B
FHS FHOICIL|T, J2|0- § WS ADEA 2018,

Wi1: 2018, I OfC|2 We $7|TXt sHie?

W2: HHA LHol| Z25 7[&AP UCHD S2AUHR. APQITIR?

W1: 4|, 22§R. Deacon Hall0] 288t 7 [SANIS. IR0IM SHISES oL w2t
SUS E7L ATHE 4218 K| ZB1=F Bl UE

W2: @ S 29 | AE| 2XI7FA4717| Hojl JRez WE B gHH0FE
2 Z0k2. Deacon Halloll HOIE 3Hte] ¥l 80| QICkD s MO 618,

W1: E0I5 EH|R- 8, 20| B2AIER. 1 7|=Al0 012 4= 4= W0l A 247}
AR, M=sk= E0| ULIR?

W2 B HSE10 TR 52 £0/2I00 S, KIAUIM 72 OIS Qs 2ie
Z0[EHK] SHER. & Hi £8 F4 4 Ue?

Answers
1. CA) (Gist-Purpose Question)

2. (B (Detail Question)
3. (B) (Understanding Function Question)

4. (D) (Making Inferences Question)

‘v 1-05,
M student: Good afternoon. Would you happen to be Ms.
Samantha Whittaker?

W Bursar's Office Employee: That's right. I'm Samantha. And you
are?

M: My name is Eric Gilbert. | called you yesterday and made
an appointment with you for today. I'm here to speak with you
now.

w: Ah, right. | scheduled you for two thirty. | wasn't expecting
you to be here so early. Anyway, uh, please take a seat . . .
Now, why don't you tell me what you're here about?

M: Sure thing. Um, two weeks ago, | received this letter from
your office. Here it is . . . Basically, uh, the letter reads that |
haven't paid my tuition.

w: Okay. We send out a lot of these. So | don’t know the exact
reason we sent you a letter like this. Well, hold on. Of course |
know the reason: You haven't paid your tuition. That's why we
mailed you the letter. But I'd like to know your reason for not
paying it.

M: Ah, right. That's what | am here to discuss with you.

w: Sure. Go on.

M: | have a scholarship from a local charity. It pays half of my
tuition. And my family pays the other half. If you'll notice, my
family paid half of my tuition a while ago. However, the charity
hasn't paid the other half yet.

w: That’s not good. Is the charity going to send the money
sometime soon?

M: Yes, it is. | have another letter here . . . Take a look. The
charity had some problems, but now they’re solved. So the
money will be sent by this Friday. Is that acceptable?

W: It should be. Let me read this letter more closely. Hold on a

12

second.

Translation

M Student: 2H45IM|R. ZA| Samantha Whitiaker 44047127

W Bursar's Office Employee: 202, M7} Samanthatll2. J2{H SHAHSR7
M: & 0[E2 Eric Gilberttl2. HA| A7t TEIE SeiM 25 Milidnto| erts
TIRUE, MMient 2AE LIS7| fi6H Z12 020 2 Ziojne.

W: O, S0l shlint 24| 3020 BILZ |2 AlZtE HIE O[FH L= o7 (o
222i= tildE of| 2RI, s, of, Rede-- K|, £ E0| 40| o7 [0
SEX| M| L F=AZR?

M: 2 O, 8, 25 T, MY MFARLH 0| TS 22, o7l
QUNR- 7|2HS2 o EX|tl= MVt SR2E LA 2UCHT M0 CER.

W: 2R MEl= 0[2EH HEISS ol Y4l Qi J2iM o[t 22 HEIE
ShlolA] 29 EHESHO|FE B 2ENE. 3, HARR. 2L 0RE T
SHi0| SR3E AIS6HX| YUZE. 20| HIZ M7t HAIE LaEt 01R02.
SIXICt SR3E AISaIK| %2 shio| 01RE Y1 42K,

M: Of, 02, 11710| Hi2 M nt =0J517| $iel M7t 67 (0]l 2 olFolL,

W: 22 WS 2MIS.

M: M A AR 22 H FeiES B QIoie. siH|o] &Ekg tix, 12|10 |
7IEE0| LIHX| ZHIE tiFne S0EH BAIH, & 7ISE2 dot Hof s|2| &etg
KlZal F=0iK. stx(2t AR THAjollA OFE] LIMX| BR2 XIZsl FX| §ois.

W EX| UF2R. A S0l BE AR EHIE 2U F 6EITR?

M: Ul, J2H2. 47 (ol £ CHE TP} IR BMQ. XK Thjlol 252ke] 257}
QUSARISE OlH| SHAEZIACIR. TJ2iA 018 = 2RUNX| £30| 2 7o, WEETR?
W: 22 AR M7t o] EXIE Hoh Xbdls| SO EAlR. EAL 7 FMe.

Mini Test 2 8

Answers
1. (B) (Gist-Content Question)

2. (C (Gist-Purpose Question)
3. CA) (Detail Question)

4, CAD (Making Inferences Question)

script & dum

W Professor: In today's lecture, I'd like to discuss some aspects
of animal territorialism. This refers to the space that an animal
or, uh, a group of animals occupies. Basically, the animals mark
an area as their own. They do this for a few reasons. The main
one is that their food sources are in that territory. For instance,
um, predatory animals such as lions and wolves often mark
off a large area of land. That's where they get their food. As
for other animals, their territory might contain their breeding
grounds. In addition, newborn animals often hide in a group’s
territory. There, the parents and other adults can protect them
from various dangers.

M Student: How do animals know where another animal’s
territory begins? And how do they know how large the territory
is? Could you talk about that, please?

w: It would be my pleasure. Animals have three main ways
of indicating to other animals that they have, um, claimed a
certain area as their territory. The first way is by using noises.
Some birds, for instance, make sounds that tell other birds
that they shouldn’t enter a certain area. The second way that
animals mark their territory is simply through their physical
presence. Some animals patrol the edges of their territory.



If other animals try to enter it, they may act in an aggressive
manner. For instance, some animals rely on visual displays to
frighten off trespassers. The hippopotamus does this. If an
animal goes too near a riverbank that a hippo considers its
own, it will open its mouth wide and display its teeth. If the
animal moves closer, the hippo will respond physically. It will
charge and attack the invading animal. The third way that
many animals mark their territory is by using scents. They
might urinate on trees or bushes. Others have special glands
in their bodies. These glands secrete liquids that animals can
smell and identify as territory markers.

In many cases, when an animal comes too close or tries
to enter another’s territory, the animal claiming the area will
defend it. As | just mentioned, the hippo does that. Many
others behave the same way. Some make aggressive visual
displays. If the intruder leaves, they won't pursue it. However,
if an animal goes far into another's territory, the defending
animal will attack it. Wolves are known for doing this. So are
lions. They do this because a lot is at stake. The animals are
defending their food supply. By letting in other animals—even
members of their own species—they run the risk of having less
food to eat. The animals also need to protect their young. This
is especially true of birds. Some birds have to wait a long time
for their eggs to hatch. So they behave rather aggressively
when an animal invades their territory.

Now, let's check out some individual species and see how
they behave. We'll start with some well-known predators. First
up is the wolf . . .
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Answers
1. (C) (Gist-Content Question)

2. (B) (Detail Question)

3. (B) (Making Inferences Question)
4.[2], 4] (Detail Question)

Script ED

M Student: Good afternoon. | need to talk to someone here
about my bill.

W Student Housing Office Employee: A bill? I'm somy, but you've
got the wrong office. We don't handle bills here. You need to
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go to the Bursar's office. The people there handle all financial
matters at this school.

M: Uh . .. Actually, | was just at the Bursar's office a few
minutes ago. | spoke to a woman there, and. um, she told me
to come here. But you're telling me to go back there. I'm kind
of confused about this.

w: Hmm . . . Okay, she must have had a reason for sending
you here. Why don't you tell me what your problem is?

M: Okay, | can do that. Take a look at this bill, please . . .

W: Yeah . . . It's a bill for a single room. That'’s the rate you
should pay. It's the correct amount.

M: Yes, that's right. However, | currently live in a double room.
W: Aha . .. Okay, then we have a problem. And now | know
why the woman at the Bursar’s office sent you here. You're

probably listed on the computer system as having a single
room. May | see your ID card, please?

M: Of course. Here it is.

W: Thank you . . . Elliot Martin . . . You live in room 211 in
Robinson Hall?

M: No, ma'am. That’s the room next to mine. | live in room 210
... Ah, I getit. Room 211 is a single. That's what the problem
IS.

W: Yeah. I'm so sorry about that. Let me change your room
listing on the computer. Then, I'll print a form up for you. You
can take it back to the Bursar's office. The person there will
charge you the proper amount then. This will take just a couple
of minutes, so please be patient.

M: No problem, Thanks so much for helping me.
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Answers
1. (B (Making Inferences Question)

2. (C) (Understanding Organization Question)
3. () (Detail Question)

4. CA) (Understanding Attitude Question)

Script &

W Professor: After the Renaissance, the first major period of
music was the Baroque Period. Music historians date it from
around 1600 to 1750. The Barogue Period began in Northern
ltaly as well as in some of the northern German states at the
same time. Of course, the term Baroque wasn't used back
then. It was applied by later music historians. In fact, the
term was first used to refer to a style of architecture that was
popular in the 1600s and 1700s. The word “baroque” comes
from the ltalian word barocco. That word translates as both
“bizarre” and “exuberant.”

As for me, I'd say that exuberant is a more apt description.
The reason is that the music of this time was quite exuberant
or, uh, lively. This is especially true when comparing Barogue
music to music from earlier periods. We're going to listen to
some Barogue music in a bit. And | think you'll understand
exactly what I'm talking about once you hear it. *“Now, uh, the
Baroque Period was clearly the child of the Renaissance.
During the Renaissance, musicians began exploring more
secular forms of music. They moved away from the religious
music that had dominated previous eras. Baroque musicians
did the same thing. But that's not to say that Barogue
musicians abandoned religious music entirely. On the contrary,
Johann Sebastian Bach, one of the greatest of all Baroque
composers, wrote a great deal of church music. Yet he
also composed secular music, um, as did many others. For
instance, Bach's Brandenburg Concertos are some of the
greatest works from the entire period.

There's another reason that Barogue music was often
secular. Baroque composers frequently had patrons. A
patron was a rich person—usually a noble—who financially
supported the composer. In the past, many patrons had
connections to the Church. Yet, starting in the Renaissance,
secular patrons became more common. This trend continued
during the Barogue Period. These patrons greatly influenced
the composers they sponsored. After all, the patrons wanted
composers to write music that they enjoyed. This helped make
the music more secular in nature.

During the Barogue Period, there was a move toward
tonality. Additionally, chords, rather than individual notes, were
used. Many musicians began using a key, which was a central
tone for their music. Bach was instrumental at developing
the use of a central key for various compositions. Finally,
there was a slow move away from creating music that used
singers in a chorus along with an orchestra. Instead, Baroque
music usually focused only on the instrumental sounds of an
orchestra.

| should point out that singing roles were not abandoned
entirely though. Choral groups remained an essential part of
the religious compositions of Bach and many others. And the
rise of opera is an important theme in Baroque music. In fact,



many famous composers of the era wrote operas as well as
instrumental compositions. Antonio Vivaldi of Italy, for example,
composed more than ninety operas in his lifetime.
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Answers
1, (B) (Gist-Purpose Question)

2. (C) (Understanding Function Question)
3.Fact:[2][3] Nota Fact:[1] 4] (Detail Question)
4. CA) (Understanding Attitude Question)
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W Professor: Brad, you look like you've got something on your
mind. Is there anything you want to talk about?

M Student: Actually, yes, there is something, Professor
Goodman. I've got a minor dilemma now.

W: What is it?

M: I'm trying to make up my mind about something. Do you
mind if | tell you about it?

w: I'm all ears.

M: Thanks. Okay, | signed up for one more class than normal
this semester. It's a psychology class. The first class of the
semester meets this Wednesday afternoon.

W: |s there a problem with the class?

M: Not exactly. This is my problem: | got offered an internship at
a consuiting company yesterday. It's a pretty good opportunity.
Uh, no . .. It's actually an incredible opportunity. But I'm afraid
I might have to reject the offer.

w: Let me guess . . . The company wants you to do your
internship on Wednesday afternoon, right?

M: Precisely. If | do the internship, | have to go there every
Wednesday and Friday afternoon. My Friday afternoon
schedule is clear. So that's not a problem. But I've got the
psychology class on Wednesday. What do you think | should
do?

w: You're not a psychology major, so | assume the class is

an elective. Hmm . . . | would definitely rate the internship as
more important. | mean, you've told me before that you want
to work at a consulting company after you graduate. So here's
your chance. This internship will provide you with a great deal
of experience. It could be, uh, it could be invaluable for getting
a job later.

M: Even if it's not a paid internship? | won't make anything from
it. Does that matter?

W: Not really. Get experience now. You'll make money later. Do
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the internship. You won't regret that choice.

M: Okay, Professor. You've convinced me. Thanks for the
advice.
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3. (B2 (Understanding Organization Question)
4, (B) (Understanding Attitude Question)
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M Professor: We're studying Islamic architecture today. When |
use the term Islamic architecture, by the way, I'm referring to
the architecture of the Middle East. I'm not referring to places
such as Indonesia or Africa, which both have large Muslim
presences. Islamic architecture has a wide variety of styles. |
intend to show you several buildings in detail today. But let me
give you a brief overview of some common aspects of Islamic
architecture before doing so.

To begin with, there are several types of buildings common
in Islamic architecture. The mosque, of course, is by far the
most dominant. A mosque is a place of worship for Muslims.
As you can see here on the screen, mosques are built in many
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styles. Most are rectangular in shape . . . like this . . . and this
one, too ... They have a large central prayer hall . . . which

is usually domed. Please note that domes were not common
in early Islamic architecture. The oldest surviving mosques
instead have flat roofs with many columns . . . As for domes,
the Ottomnans started using them in the fifteenth century. See
this . .. and this . . . Some mosqgues even have more than
one dome . .. You can see the large central dome and several
smaller ones around it . . . A dome may be slight in size and
curvature . . . or large, prominent, and bulging . . .

Mosques have minarets. You've all seen them even if you
don’t know their names. They are large towers . . . Minarets
are almost always the highest points of the mosque . . . Most
mosgues have two minarets . . . or four . . . The number varies
depending on both the culture and the branch of Islam that the
people who built the mosque practice.

Another common aspect of Islamic architecture is the
central courtyard. This is found in mosques . . . and secular

buildings . . . The courtyard is an inner sanctum of sorts. It's a
peaceful place in which people can relax. It typically has many
plants . . . and may have a fountain as well . . . Courtyards are

common in private homes, too . . . They are one of the few
places where women who live in strict Islamic countries can
move about with their faces uncovered.

One more interesting aspect of Islamic architecture is the
patterns of the designs on the walls, columns, and ceilings.
They're often done in intricate patterns . . . and can be quite
colorful as well . . . We call this pattern arabesque. One
common theme in arabesque designs is floral patterns . . .
You can often see the leaves of plants or flowers entwined
around each other. An arabesque design may be drawn . . .
done in a mosaic with colored tiles . . . or carved directly into
the stone of a building . . .

Ah, before we look at any buildings in detail, let me mention
one important thing: There are no depictions of animals
or people in Islamic buildings. The use of such images is
forbidden in Islam. Now, that having been said, let’s look
at what | consider some of the finest examples of Islamic
architecture. | think you'll be impressed by what you see.
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Sample Understanding the Function of What Is
Said Question

Translation
W1 Student: McDaniel Iy, X2 APAINIM LIZ1A 247127

W2 Professor: Of, 4|, Patricia. 25 $%2 Ct 252, J2iM Zof 711 #4|
F0|Z. £ cish &2t 0l0F7 |Z slot siLIR?

Wi 4|, 222, ME Pl Yol 2 He ARIS Lo 34 £ qUR?

wz: S22 03 = U Fe Uie?

Wi e HUE 2 FEiE S0l siMR. M, o, Me 2eEmA XS st
FHME M FoH slie. BE0| Ci7t @1 Ql=d, SlAe] ZEAHR0] Hi7H S0
Hel FHME 711 2 S QFEIHES.

W2: 0fHH SEo| LIY2 ofLjZiE, JBi7ie?

Wi: 2 oo, R4y, O F S o,

wz: CHo |22, @5 2ol Mo} 2 A= RECtD M2IHES ST sleus
o2, JEA 2 4 Aol

W 2 ZIABR|CE H|A| of EickD LSk Z{ESHoe,

W2: Of, I3 22 g2 Ao, SIXIZH SHdo] A7l 2 =82 £ + 20K, APt
Shio] FHME £ of =301 2 Ao, AA o|HUE BUf F= 20| 0{EIR?
Oloiigdo, M7t F=HMoIM HZE17 12 ieke 2E 2E =0 FMR. J2iH J2fst
HES THAF D -l #AR.

Answers
1. (BD (Gist-Purpose Question)

2.[8],[ 4] (Detail Question)
3. (A) (Making Inferences Question)
4. (C) (Understanding Function Question)

Script & dmn
W1 Registrar’s Office Employee: Next? Number seventy-three?
Come to counter four, please.

w2z Student: Ah, hi. I've got number seventy-three. Here you are.

W1: Thank you. And good afternoon to you. How may | be of
assistance?

wz: I'm here to get some copies of my transcript. | already filled
out the form. So, uh, here it is.

w1: Thank you for doing that. Most students don't fill out the
form until they get up to the counter.

w2: Er, yeah, | didn’t do that the last time | was here. The

man who helped me out wasn't very happy though. So, uh, |
decided not to make the same mistake again.

W1: | hope he wasn't too hard on you. But, uh, anyway . .. Let
me take a look at the form, please. And may | see your student
ID as well?

wz: Yes, of course. Here it is. Um, | hate to ask, but is it
possible to get my transcripts by the end of the day?

W1i:Hmm . .. It's one thirty now . . . And we close at six o’clock
... Let me think for a second . . . “Yeah, | think they can be
ready by then. How many copies do you need?

wz: Ten, please.

wi: Ten? Why so many?

wz: Uh, I'm applying to a bunch of graduate schools this year.
| figure that, uh, by applying to so many, | have a good chance

of getting accepted to at least one. In this economy, | really
don't want to have to look for a job. You know what | mean?

w1: Totally. You're doing a smart thing. It's tough out there.
Anyway, it costs four dollars per transcript. Would you like to
pay now or when you pick them up?

w2: I'll pay now. I've got enough cash on me. Hold on a
moment while | get in my purse.

Translation

W1 Registrar's Office Employee: LIS 87 73H0|R7 44 71262 2} MK,
W2 Student: Of, QRI5HMIR. M7t 73HE BU0IR. 07| 2oia.

Wi1: T0R. J2|3 QHEsHiR. HEAH Eel=2nie?
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o7 ]ofl 2.

Wi1: J2H SiFAICH] DR, iR EC| SHESE 712E0 27| TIFEK| 2l
LIS 7|2sIX| HHESR.

W2: 0, 0, = X[ Hojl 047 (ol 2 ol 22 A SEK| YU R, ME =9 T
EX}H 20| 0K 7|2 E0t 20|X| MU= T, Of, 22 A3 CH SR 712
HalFoe.

W1: 20| sklolAl HF als| tisixl= M7 IS Hi2te. BHRIZE O, OfRiE- -
AS FH7L AR, J2| 0 SPio| SRS £ 4= USTIR?

W2: 4|, S20|0{R. 07| QIR. S, 6i¥ E7|= 4X[0t 25 Y AjZH0| 2 wi7X|
HEHES U 20| 7ISEnR?

Wi1: & XI20]1A| 3020]|1-- 2|= 6A| H2lol| 22 =l HA| H2is)
EAL- o, IEM= 2u7H E 5 US Hole. E Eo| HeEhie?

W2: 10E0]8.

Wi1: 1050|127 of 23| Uo| LesHE?

Wz: of, Sai of2| 2| CHErol X3S sk UK. HMe, of, IAE B2 20l
RIS sHok Mo B R0IM &St 51717t & 7Hs40| Ach= EE UL, X129
M| 20, HURE URRIE D HAls UMHER, F& LB2UX| ORAE?

W1: IS e #Esin e JIE2 50| SsE offfE 45E g
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Answers
1. (C) (Gist-Content Question)

2.[1],[3] (Detail Question)
3. (D) (Making Inferences Question)
4, CAD (Understanding Function Question)

Script &m

M Professor: The term megafauna refers to animals that are
larger than normal ones. Uh, please don't misunderstand
though. I'm not talking about large felines such as lions and
tigers or elephants and giraffes. ‘Instead, what I'm talking
about are huge species of animals. These are animals that,
um, that pretty much no longer exist. Hmm . . . Some of you
look confused. Let me give you some examples . .. About
400 years ago on Madagascar, there was a bird that was three
meters in height and laid enormous eggs. In North America,
there used to be massive lions, huge mammoths, big saber-
toothed tigers, giant sloths, large dire wolves, humungous
bears, and really big horses. Hmm . . . | think | used just about
every adjective for “large” that | know. Anyway, those animals
are all examples of megafauna. Interestingly, there were at least
135 species of megafauna in North America. However, they all
became extinct prior to the arrival of the Europeans in the late
1400s.

The question | want to answer now is this . . . Why did
they die out . . . 7 There are several theories. One is that an ice
age killed them. Scientists have found many fossilized remains
of megafauna dating back 15,000 years. That, by the way,
was during the time of the last ice age. This theory is a strong
possibility. However, remember that there have been many
ice ages in Earth’s history. And the earlier ice ages didn't kill
the megafauna. So, um, let’s think. What happened in North
America around 15,000 years ago ... 7 Anyone . . . 7

W student: | know. That's when humans crossed a land bridge
from Asia and arrived in North America.

M: Bingo. You got it, Sue. Nowadays, it's believed that most
megafauna in North American were killed off by these early
human settlers. No one knows for sure, but most people agree
that the first humans arrived in North America between 13,000
and 15,000 years ago. They arrived on a pristine continent
unspoiled by human activity. The megafauna had not had any
previous interactions with humans. Therefore, they didn't know
that they should fear humans. The humans were hungry and
often hunted these animals. In many cases, they hunted the
megafauna to extinction.

Of course, humans didn't hunt all of them to extinction.
However, they did something else that caused many
megafauna to become extinct: They intruded into the animals’
territories. As humans settled more land, this left the animals
with increasingly smaller territories. This caused their numbers
to decline. Over time—in some cases, in just a few centuries—
many of these megafauna became extinct.

18

W: Is it really possible for some animals to become extinct in a
few hundred years? That seems sort of extreme.

M: Yes, Sue, it is possible. Let me tell you about the moa. It
was a large flightless bird that lived in New Zealand. It went
extinct in just a hundred years. Here's what happened . . .

Translation
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Sample Understanding the Speaker’s Attitude
Question

Translation
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Answers
1. (A (Gist-Purpose Question)

2. (C) (Making Inferences Question)
3. (D) (Detail Question)
4. (D) (Understanding Attitude Question)

Script & yEm

M Professor: Kimberly, thanks for dropping by my office. You're,
uh, you're probably wondering why | didn't give you your test
back in class, right?

W Student: Yes, sir. | am kind of curious about that. Did | fail the
test or something?

M: You didn’t fail. But you got a C* on the exam.
W:Oh ... That's not good.

M: What happened, Kimberly? This is our third test of the
semester. You got a 95 on the first one. And you got a, uh, a
98 on the second | believe.

w: That's correct.

M: But you got a 78 on this one. Didn't you study for the test?
W: | studied for the test. But | guess | didn't study enough, sir.
I'm sorry about my grade. I'll make sure | do better on the last
test.

M: Is everything all right, Kimberly? I'm a little concerned.

“l mean, um, you were outstanding in the first half of the
semester. You were active in the class discussions. And your
two tests were very well done. But, um, since about three
weeks ago, the quality of your work has slipped. Do you
know what I'm saying?

W: Yes, sir. | understand. It's just . . .

M: Yes?

w: About three weeks ago, | had to start working a second job.

My father got fired from his job, so my parents can't afford to
pay my tuition anymore. If | want to stay here, | have to earn
more money. | guess I'm, uh, I'm just not used to working so
much.

M: | understand, Kimberly. You may not know this . . . but, um,
you can apply for a hardship scholarship. The school offers
them to students in situations like yours. Would you like some

more information on them?

w: I'd love that, sir. Getting any kind of help now would be
incredible.

Translation

M Professor: Kimberly, AF2AI0] 21 FA D0IYR. S, 0f, S ojol=
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Answers
1. (B) (Detail Question)

2. (B) (Understanding Attitude Question)

3. Generation Ship: 1), (4| Wormhole: 2], 3]
{Connecting Content Question)

4, (C) (Understanding Organization Question)

Script & yEn

M1 Professor: Since the space age began decades ago, humans
have traveled in space. Sadly, we haven't gone very far. Mostly,
we send people up into low-Earth orbit. Yes, we've sent a few
men to the moon. But that's the farthest anyone has been from
Earth. | consider that to be a real shame. Of course, we've sent
satellites vast distances. Many have visited both the inner and
outer planets, and, um, the Voyager satellites are at the edge
of the solar system as | speak. But humans haven’t ventured
far at all.

In space terms, however, even those satellites have traveled
short distances. Space is so vast that we use the term light
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year to express how much time it takes light to reach distant
objects, such as, uh, stars. Because of the enormity of space,
human travel even to the closest stars seems impossible.
Yet that hasn't stopped some people from thinking of how to
travel to the stars. Oh, we call that interstellar travel by the way.
Writers of science fiction have come up with numerous ideas
for interstellar travel. Can anyone give me an example? Brian

?
M2 Student: There's warp drive, like in Star Trek. And people use
hyperspace drives in Star Wars.

M1i: Ah, yes. Those are two examples from movies. Warp
drives and hyperspace drives are essentially the same. They
are engines that enable spacecraft to move faster than the
speed of light. These engines often have unique mechanisms.
Or they may rely on a special type of fuel to run. At the present
time, these engines are strictly science fiction. There are some
scientists and engineers trying to figure out how to make them.
But no one has succeeded yet.

There are some other ideas for interstellar travel though.
One is the generation ship. This is an enormous ship that
moves slower than the speed of light. It would have many
humans on board and would carry large stores of food, plants,
animals, oxygen, and water. Basically, people would live their
entire lives on the ship as it slowly moves through space.
These people would grow old and die. Then, their children
would take over. After centuries perhaps, the descendants of
the original colonists would reach their destination. I'm not so
sure that's an appealing idea though. No matter how big the
ship, imagine spending your entire life on it. | sure can’t picture
myself doing that.

Here's another potential method to achieve interstellar
travel: wormholes. These are places in space that allow ships
to, um, to jump far distances. A wormhole is sort of like a,
hmm . . . a tube or tunnel. A ship enters it and then exits a
wormhole elsewhere in the galaxy. Travel through a wormhole
would be instantaneous. Imagine being in our solar system one
moment and then suddenly appearing several hundred light
years away. Here's the interesting part: Some scientists believe
that wormholes exist. They have proven mathematically that
there are wormholes. Now, uh, all we have to do is find them.

Translation
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Mini Test 1 B

Answers

1. (AD (Gist-Purpose Question)

2.[8],[4] (Detail Question)



3. (CJ (Understanding Attitude Question)
4. (B (Understanding Function Question)

Script £ duzn)

M Computer Laboratory Employee: Good afternoon. Um, are
you here for a lab class? There aren't any more lab classes
scheduled for today.

W Student: Uh, no. I'm not here to attend a class. I'm looking for
Daniel Porter.

M: That's me. I'm Daniel. What can | do for you?

Ww: Oh, hi. My name is Clarice Weathers. | just got hired to
work in the lab as an assistant here. Uh, I've got a letter from
Professor Jackson in my purse. Hold on a second . . .

M: Sure.
W: Aha, I've got it. Here you go . . .

M: Hmm . . . Okay, it looks like you're my newest student
employee. It's a pleasure to get a chance to work with you.

w: Thanks for saying that. So, uh, what exactly do | need
to do? My first shift is tomorrow morning at nine o'clock.
However, if you want to show me a few things now . . . uh,
if you're not busy that is . . . that would be fine with me. My
schedule is free for the next two hours.

M: Okay, that sounds good. Let me show you around the
lab for about ten minutes. | can point out where we keep the
supplies and chemicals. And | can tell you about a few of the
duties you're going to have. How about that?

W: That's great. That way, | can be ready to start bright and
early tomorrow. Uh, | have a question though . . . I'm not
going to have to teach any lab classes or anything, am 17 |
mean, uh, I'm only a junior, so | don't think I'm gualified.

M: “Don’t worry about that. Only graduate students teach
lab classes. There will be a lab class during your shift
tomorrow, but I’ll be teaching it. All you will have to do is
help me in various ways.

W: Okay. That's good to know.
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Mini Test 2

Answers
1. (D) (Gist-Content Question)

2. CA) (Detail Question)
3. (DD (Understanding Organization Question)

4, (BD (Understanding Attitude Question)
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M Professor: Today, we're going to talk about animation. I'm
sure all of you have seen different types of animation, or
cartoons, as people sometimes call them. Nowadays, lots of
animation is done on computers. However, the first animated
shorts and feature films were all drawn by hand. So, uh, we're
going to discuss the early years of animation today. Animation
originated in early drawings and paintings. Sometimes these
were done in sequence. This enabled the pictures to tell
stories. Later, mechanical viewers were invented. These had
pictures drawn inside a cylinder. When the pictures were
rotated and viewed through a narrow slit, they created the
illusion of movement. Everyone knows what I'm talking about,
right . . . 7 Good.

So that was a primitive sort of animation. But, in the late
1800s, motion picture cameras and projectors were invented.
As aresult, it wasn't long before animation made it to film.
Most early versions of animated films were quite short. I'm
going to show you a few in a bit, so you'll see just how brief
they were. But let me get through my lecture first. Uh, anyway
... uh, as | was saying, most early animated films were short.
The reason was that the pictures were all hand drawn. That's
an incredibly labor-intensive process. Thus it makes sense that
the films were short if you think about it.

So, uh, each picture was photographed, and the film was
made one frame at a time. In the early days, each frame was
a separate drawing. Even the background had to be redrawn
for each frame. Can you imagine having to do that again
and again . . . 7 It must have been incredibly tiresome. Now,
around, um . . . 1914, the use of clear celluloid sheets became
the norm. These clear sheets allowed animators to use the
same background each time a frame was photographed.
They simply drew the characters and other elements on other
celluloid sheets and placed them on top of one another.
“Stacking celluloid sheets gave the illusion of depth to
animation. Oh, uh, the word for these celluloid sheets is cel.
That's C-E-L, not C-E-L-L.

By the 1920s, many small animation studios had sprung
up in the United States and other countries. They used an
assembly-line process to produce cheap animated shorts.
Some people wrote the stories . . . Others drew the cels
... Others colored them . . . And then the cels were
photographed. Once the sound era began, though, the
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process changed. In most animation that has sound, the
dialogue is recorded first. This is done so that the characters'
mouths can be drawn to match the words they're saying.

In case you're curious, Steamboat Willie, which starred
Mickey Mouse and was released in 1928, was one of the first
animated movies to use sound.

The first animated films were photographed in black and
white. Gradually, color photography became more accessible.
In 1931, Walt Disney made one of the first animated films in
color. He also released Snow White and the Seven Dwarves in
1937. It was the first successful feature-length animated film in
color. Now, um, about Walt Disney . . .
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Answers

1, (B) (Detail Question)

2. (BD (Making Inferences Question)
3. CAD (Connecting Content Question)

4. (C (Understanding Attitude Question)
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M1 Librarian: You look like you could use some assistance. Is
there something | can do for you, young man?

M2 Student: Yes, sir. I'm trying to find a couple of books for an
English literature paper I'm writing. But, uh, the library doesn't
seem to have them in its collection.

M1: | see. Do you have the titles?

M2: Yes, | do. Here . . . Let me type the title of the first one
onto the computer . . .

M1: Ah, okay. We don’t have that book. How about the other
one you're looking for . . . ?

M2: Sure. | can type itinas well . . . But, when | did thata
moment ago, | got the same result . . . See ... Nothing. |
really need those books to write my paper. | don’t know what
I'm going to do without them.

m1: Well, you shouldn't get discouraged. Have you considered
going to the interlibrary loan desk?

M2:Um. ..
M1: Okay. | see you don't know what I'm talking about. Let me

explain. Using interlibrary loan allows you to check out books
from other colleges and universities. All you need to do is visit



the desk over there . . . Seeit...?
M2: Yes, | do.

Mm1: Great. Go there and fill out a request-book form. Then, the
person will get the book from another library for you.

M2: That's great. But, um, how long does it take?

M1: It depends. If the book comes from a local library, it might
just take one or two days. If it comes from a library in another
state, it could take up to a week. Oh, just so you know . . .
You can use interlibrary loan to get copies of articles from
journals as well.

M2: Cool. That was my next question. You've been a big help,
sir. Thanks so much for telling me what to do.
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Answers
1. (B) (Gist-Content Question)

2. (A (Making Inferences Question)
3. (©) (Connecting Content Question)
4. (B) (Detail Question)
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M Professor: Early humans were hunter-gatherers. So they spent
a large amount of their time searching for food. They either
killed animals for their meat or collected various types of fruits,
vegetables, and nuts. Some of this food lasted a long time
without spoiling. For instance, various fruits, vegetables, and
grains could last for several days, uh, or even weeks, without
going bad. But meat and fish spoiled quickly. Early humans
moved around a lot, so they were accustomed to finding new

sources of food. However, once humans began farming the
land and living in villages, towns, and cities, preserving food
became vital. Why's that . . . 7 Well, the people needed to
preserve the crops they had harvested. These crops gave
them a food supply during winter and times when there were
crop failures or famines.

As you can imagine, the earliest methods of food storage
were quite, uh, primitive. For instance, people often dug pits in
the ground. They buried the food in the pits and then covered
them with dirt. Other people put food in caves. Both the pits
and caves were cool and usually dry. They also kept the food
out of the sun. Of course, humans had to prevent animals from
eating the food. This was a particular problem for food stored
in caves.

Later, the invention of pottery proved to be extremely
useful for food preservation. Large amounts of food could be
stored in clay pots. Grain, as well as liquids such as wine and
beer, was frequently stored in these containers. Another early
method was fermentation. Grapes fermented and became
wine while hops and other grains fermented and turned into
beer. Thus wine and beer were two staple drinks for humans
up until modern times.

As civilization became more advanced, better food
preservation methods were developed. One was the silo. This
is a large, dry, and dark building that grain is stored in. Silos
keep grain from getting wet, which makes it rot. They also
prevent rats and other vermin from eating the grain. Silos are
important since many types of grains won't spoil for years
if they're stored properly. Both the ancient Egyptians and
Romans made great use of grain silos. People also learned to
dry food. Thousands of years ago, humans realized that dried
fruits and vegetables lasted much longer than fresh ones. So
they often put their food out in the sun to dry it. Thus they
could eat the dried food at a later time.

The methods I've given you have all been for fruits and
vegetables. But, um, what about meat and fish preservation
methods? Sure, um, some people dried them. But there were
other ways to preserve them. In cold climates, people simply
left meat and fish outside, where they would freeze. Others
relied upon smoking or pickling them. But the main type of
preservation for meat and fish was salting. The reason was
that salted meat could last a long time without spoiling.
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Mini Test 1 HO

Answers
1. (B (Gist-Purpose Question)

2. (D) (Detail Question)
3. (C) (Making Inferences Question)

4, (B) (Understanding Function Question)
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day, isn't it?

wz Professor: Oh, hi, Alexandra. Are you here to turn in your
paper? You're a couple of days early you know. It's not due
until Friday.

wi: Ah, actually, no, I'm not here to do that.
wz: Really? Then what brings you here so early in the morning?

wi:Uh . .. | hate to say this, but | am going to have to drop
your class.

wz: You are?

wi1: Yes, ma’am. I'd love to keep taking it, but I'm totally
overwhelmed with all of my other classes this semester. You
see, uh, I'm taking twenty-four hours this semester.

w2: Twenty-four? That's a lot.

wi1: ‘It is. | thought | could handle it, but . . . um, | can’t. I'm
simply exhausted trying to go to all of my classes. And I'm
starting to fall behind in my class work, too.

wz: Why not stop taking another class?

wi: I'd love to, but all of the other classes I'm taking are
requirements. This is my only elective. You see, uh, I'm trying
to graduate a semester early. If | drop a required class, | won't
be able to do that. I'm so sorry. | love your class, but | simply
can’t stay in it.

wz: That's fine. | understand. So, um, did you bring the form
for me to sign?

Wi: Yes, | did. I've got it right here. If you don't mind signing it

wz: Not at all. All right . . . Well, Alexandra, | enjoyed having
you in my class. You're always welcome to sit in on it anytime.
Not for credit of course. But come to one of my lectures if you
have the time.

Translation
W1 Student: SHESHHIR, Martin Y, SW7HEYR, J%x| thte?
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Answers
1. CA) (Gist-Content Question)

2. Second Voyage: [1],[4]| Third Voyage: 2], (3]
(Connecting Content Question)

3. (D) (Detail Question)

4., (C (Understanding Organization Question)

Script %ﬁa

M Professor: Once Christopher Columbus returned to Spain
from his first voyage to the New World, he began making plans
for a second trip. It didn’t take him long to arrange everything.
On September 24, 1493, he set sail with seventeen ships and
about 1,200 men. In early November, the expedition reached
the Caribbean Sea. Columbus and his men visited many
islands that he hadn’t seen on his first voyage. They spent
time exploring Cuba, Hispaniola, and Jamaica. Columbus

still, however, erroneously believed that those islands were
somewhere off the coast of China. On that voyage, Columbus
found a small amount of gold. To help pay for the expedition,
Columbus tried bringing hundreds of captured natives back to
Spain. He intended to sell them as slaves. Many of them died
on the voyage home though. After establishing a few small
settlements on Hispaniola, Columbus set sail for home. He
returned to Spain in the fall of 1494,

So Columbus had completed two trips to the New World.
But his investors hadn't seen very much in terms of profit.
All he brought back was a bit of gold and a few slaves. Oh,
he also brought some samples of tobacco and other plants
that were unknown in Europe. But that didn't satisfy anyone.
Nevertheless, Columbus started planning a third trip. This time,
though, he could only get six ships. And it took him a while to
find backers. His tiny fleet left Spain on May 30, 1498. There
were two objectives: to resupply some Spanish settlements
and to look for the mainland of what he, um, he still thought
was Asia. On the trip, Columbus sent three ships to Hispaniola.
He sailed south with the other three. In July, he found the
island of Trinidad. In August, he discovered the South
American mainland. Columbus then turned north to the colony
on Hispaniola. When he arrived, he encountered trouble. The
governor of Hispaniola had Columbus arrested. Columbus's
two brothers, who had gone on the trip, were arrested as well.
Then, they were sent to Spain as prisoners.

Columbus was arrested mainly because the colonists on
Hispaniola were upset with him. They thought Columbus
had lied to them. They hadn't found any of the riches that
he had promised. So they accused Columbus of committing
various atrocities. There, um, may have been some truth to
the accusations. After all, Columbus could be a cruel man at
times. Anyway, Columbus and his brothers appealed to the
Spanish king, who released them.

Columbus then began planning a fourth trip. He raised
enough funds for four ships. They set sail on May 12, 1503.
This time, Columbus had both good and bad luck. He made
some discoveries along the coast of Central America. However,
he also got shipwrecked on Jamaica. He and his men were

stranded there for a year. They were rescued and returned to
Spain in November of 1504, Columbus died in 1506, so he
was never able to make another voyage to the Americas.

Translation
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Sample Making Inferences Question

Translation

W Student: 2RISR, KT =2 T4 4= QU2UCH SR, HiH| LS| 2HPt
UHER.

M Registrar’s Office Employee: 242 CH EEAQ ofE Hzie| EXRI7I27?
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Mini Test 1

Answers
1. CAD (Making Inferences Question)

2. (DD (Detail Question)
3. (B) (Understanding Attitude Question)
4,1

(B> (Understanding Function Question)

Script & )

W1 Professor: So that's how you should write your final report.
Do you understand everything clearly now, Claire?

W2 Student: Yes, ma'am, | do. Thank you so much for the
explanation. Oh, uh, the due date is next week, right?

W1: That’s correct. You need to submit your report before five
in the evening next Thursday.

wz: That won't be a problem. Now that | know what to do, |
can write six pages quickly.
wi1: That's good to hear. I'm looking forward to reading it.

wa: I'll do my best . . . Uh, before | leave, | have one more
thing to talk about. That is, uh, if you don't mind.

wi: | don't mind at all, Claire. What else do you want to ask
me?

w2: “It's about the final exam. | know we won't take the exam
until two weeks from now. But, uh, to be honest, I'm not
pleased with my grade. | want to make sure | do well on the
test. That way, uh, I'll hopefully get a better grade.

w1: That’s the right attitude. So, um, what about the test do
you want to know?

wz: Basically, is it going to be the same type of test as the
midterm?

w1: Not exactly. There were lots of short answer questions on
the midterm. There were also some multiple choice questions.
But the bulk of the final exam will be essay questions. You see,
uh, | want you to think about everything we've studied this
semester. So the essay questions will ask about broad topics.
You'll be expected to write on several subjects.

w2: Oh, | see. It's a good thing | asked. | wasn't planning on
studying any material we learned before the midterm.

wi1: You'd better study that information. For the final, | expect
you to know everything we've covered since the first day of
class.

Translation
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Answers
1. (D) (Making Inferences Question)

2.[1],[4] (Detail Question)

3. (B) (Understanding Organization Question)

4, CAD (Understanding Function Question)

Script § du=n)
W Professor: Okay, has everyone handed in their homework

.. 7 Great. Settle down, please, everyone. We have a lot of
material to cover in today's class . . . Earth's atmosphere is
seventy-eight percent nitrogen, roughly twenty-one percent
oxygen, and tiny percentages of carbon dioxide and other
gases. Interestingly, these numbers have not always been the
same. In fact, the composition of the atmosphere changed
several times in Earth's early years.

At first, the atmosphere was mostly comprised of methane
and hydrogen along with some carbon. But solar winds
stripped the planet of its first atmosphere. Later, as the planet
cooled, there was a great deal of volcanic activity. This vented
many of the gases that were inside the Earth. These gases
were primarily carbon dioxide, sodium dioxide, and hydrogen
sulfide. Oh, and in addition to those gases, there was a great
deal of water vapor. So there was oxygen in the atmosphere,
but it wasn't free standing. It was bound to other elements in
the guise of various gases.

Then, around 3.7 billion years ago, the level of free oxygen
began to increase. This was caused by algae in the oceans.
Around that time, a type of blue-green algae, called, uh,
cyanobacteria, became more common in the oceans. The



algae utilized photosynthesis to make energy. So they took
carbon dioxide and used the sun’s heat to make energy. One
byproduct of photosynthesis is that free oxygen atoms . . .
uh, you know, those not bound to other elements . . . were
created. Slowly, the oxygen level in the atmosphere started
rising. Much of this oxygen was absorbed by rocks in the
planet. But the rocks reached their saturation point about
2.4 billion years ago. Then, the atmosphere we have today
gradually formed. Please note, though, that the oxygen level
has varied over time. Sometimes it has been higher. Other
times, um, it has been lower. But free oxygen has always been
present. And its presence enabled oxygen-breathing life forms
to evolve. Do you have a guestion for me? You in the back row
?
M Student: Yes, ma’am. I'm curious . . . How do we know all
of this? | mean, uh, you're talking about events that happened
billions of years in the past.

W: That's a good question. Let me answer it for you. We mostly
know this because of the Earth's rocks. We can date rocks
back billions of years. Certain sedimentary rocks contain layers
of red rocks. These red rocks are iron oxide. We call rocks with
these layers, um, banded iron formations. If you don’t know,
iron oxide is a compound formed by iron and oxygen atoms.
So the presence of iron oxide indicates high levels of free
oxygen in the atmosphere. The oxygen levels were so high that
the element combined with the iron to form iron oxide. | hope
that answers your question.

Translation
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The Best Trip You Have Ever Taken

Wl Brainstorming
Idea Web

The Best Trip | Have Ever Taken: Rome, Italy

Reason 1: enjoy history

Detail: many museums and historical sites; visited them; took pictures; saw
impressive artifacts

Reason 2: studied the Italian language

Detail: tried speaking Italian; fun communicating in foreign language

=l Organizing

The Best Trip | Have Ever Taken: Eome, Italy
First Reason: enjoy history

Details: many museums and historical sites; visited them and took
pictures

Second Reason: studied Italian in school

Details: tried speaking |talian in Eome; was fun trying to communicate in
foreign language

Speaking

Guided & Sample Response %}{qy

The best trip | have ever taken was my trip to Rome, Italy, last
year. My family and | went there for a week. To begin with, |
enjoy history. There are many museums and historical sites in
Rome. My family and | spent several days visiting them. We
took lots of pictures and saw many impressive artifacts. In
addition, | studied a little ltalian when | was in school. So | tried
to speak Italian while | was in Rome. It was so much fun trying
to communicate with people in a foreign language.

Translation
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No Extracurricular Activities for
University Freshmen

=l Brainstorming
Idea Web

Should Not Do Any Extracurricular Activities // Should Be Able to Do
Extracurricular Activities

Reason 1: get used to university life // not all freshmen are the same

Detail: living away from home for first. time; shouldn't do too much // some
can handle extra work: got all As and wrote for student paper

Reason 2: university is harder than high school // should treat all students
the same

Detail: rio time to study if do other things; school is more important than
clubs // no special rules for freshmen; let freshmen decide for themselves

1wl Organizing

My Choice: Should Not Do Any Extracurricular Activities // Should Be Able
to Do Extracurricular Activities

First Reason: get used to university life // not all freshmen are the same

Details: living away from home for first time; shouldn't do too much //
some can handle school and extracurricular activities; got all As and
wrote for student paper

Second Reason: university is harder than high school // should treat all
students the same

Details: no time to study if do extracurricular activities; school more
important than clubs // no special rules for freshmen; not fair; let
freshmen decide for themselves

Wl Speaking

Guided & Sample Response 1: Should Not Do Any
Extracurricular Activities %ﬁy

| agree that university freshmen shouldn't do any extracurricular
activities. The first reason | support the statement is that
freshmen need to get used to university life. Many of them are
living away from home for the first time. So they shouldn’t try
to do too much until they're used to school life. Another reason
is that university is harder academically than high school.
Freshmen who do extracurricular activities might not have
enough time to study. And their schoolwork is definitely more
important than club memberships. So they shouldn’t do any
activities other than studying.

Translation

L= chst LMs0| ojst ale| #55 siM= o Elcks Holl SalEich, L7 128t
&S X|xlah= 3 ¢ 0|R= AYMS0| S M =SsHof 51| mh20|ct,
AN = Cips XSO EoiM 2l Hoix] QA Eict w2t Shn Mgl H3517|
HIIR|, HR U2 BES s ¢t ECL E OfE ol DE&tnEc} tisto] &t
ol Of 21S7| IH20|Ct 12| ZEE Sh= MUMES 2 ARZI0| SE5X| Us
& QIck D210 sile 2E S0 218 UHC o ZQsiCt M2k S5 0]2l9]
CiE #ES sliM= ot Eict

Guided & Sample Response 2: Should Be Able to Do
Extracurricular Activities g&ﬁ)

| disagree with the statement. | support allowing freshmen
to do extracurricular activities. Firstly, not all freshmen are
the same. Some can handle extracurricular activities while
keeping their grades up. As a freshman, | got all A's and
wrote for the student newspaper. It was no problem for me.
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Next, universities should treat all of their students the same.
Freshmen shouldn’t have to live by special rules that seniors
don't have to follow. In my opinion, that’s not fair. So schools
should let freshmen decide for themselves whether or not they
want to do any extracurricular activities.

Translation

Li= J2{8t Tisol| S2J5kA| Si=rh Lis AkdolA ole] #52 sP7i6ks 22
X|X|Sict ¢, 2E MUME0| S22 22 olLICH Y= HHE [XIEEM 112
EHEs s U 7 0k LM of, L= FaiSofld AS Wokm sk AR
2 4t Uil F5 2x7t EiX| 2 CiSe = sl 2E SMES £20|
CHPaHof SiC 43HaMS0| majo} & 2a0t Sls 9t s gdolzin
Z43H0 2 2R ol U dizioz 712 FEsx] it maty stus 11|
E=2 sluxt siex| £22 TJ3X| Y20 e MM AASTL ZBHES Li2|ER
af{of Sict

All Ads to Be Removed from Academic
Buildings

=l Reading

Translation
Lhs! S0l o ol HnE EoiME ot Euct

0| St7jofl, AFRE0| S} 742 Holl HRL B2 208 20|17 USLICH 024§t
YDEE 7iE0| LS sHEICE mhakM, het S0 LS BAeh= A2 o ol
SIZEIX| SiLIC) 2l MEES st 21S0M Slotd 4 Ql= DE BDES
HHEI=E XAE LUSLICE 2E 7imAL S 3l J2|1 HmA L) 71EH S2IE
EHAOME HDES FAE 4 USLICH o W2 HEE 2V| SEiME H2lR2
H2l FHAL.

Listening

Notes
The woman (agrees / disagrees) with the announcement.

Reason: aren't too many ads; ban isn't needed: reads the ads a lot; news
about events on campus; found job from ad

Key Words and Details: aren’t that many ads in most of the buildings;
administration is overreacting; no need for the ban; always read them;
learned about a lot of various everits on campus; found my part-time job
from one of those ads

Script & dun
W Student: I'm not very happy about the new ban on
advertisements.

M student: Are you talking about the school’s decision to ban
ads in academic buildings?

W: That's right. | think the school is making a bad decision.

M: | disagree with you. All of those ads make the buildings look
ugly.

W: | don't think so. There actually aren't that many ads in most
of the buildings. | think that someone in the administration is

overreacting. There's no need for the ban. At least, um, that’s
what | believe.

M: Okay, but tell me something . . . Have you ever read any of
those ads?

W: Sure, | have. Haven't you?

M: No, I've never done that before. | can't say that | have ever
read a single ad on campus. | just don't see the point.

W: You might not have done that. But | always read them. |



have learned about a lot of various events on campus from
them. And | found my part-time job from one of those ads as
well.

M: Hmm . . . Maybe | should try reading them sometimes.

Translation

W Student: Z10j| et M22 2| EXI= OCHK| HEAZZ|7} o0f

M Student: g} 480 BE 2XIAF K= Sk S0 ZH0| chel sk L2
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M: B LIE 7HBE 2jo] Hopia.

ml Speaking

Guided & Sample Response g@

The speakers are having a conversation about the decision
o remove all advertisements from academic buildings on
campus. The school administration believes that the ads are
making the buildings look bad. The woman disagrees with
the school administration. She gives two reasons for this
belief. First, she says that there are not too many ads on the
buildings. She feels that the ban is an overreaction by the
school. Second, the woman claims that the ads are useful.
She has found out about events on campus from the ads. And
she got her job by reading an ad as well.

Translation

S22 uU s 220N 25 208 MHsRIChks 230 2l tEiS L=
QICk & A 22 YNS0| HES XK=t 20|=2 SleCkn M2sic)
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Jld= 2R ZRP} et G| niel Bigo(2kn M2istch £, oxls 2ot
FEaictn FESICEL = YD RE muie| #AS ths 2 4= ieick J2|n
DS S UR 2= SRt

Marketing: Customer Lock-In

Reading

Translation
78 pE

7|HSE T2 AgHS ARhle] 14E SReID HSIX| Selh DS
SR U2 4= Q= B 7K B2 T2 A2 0|25l 20ICt Ol DE=R
sl Bt 71l 7la 22 HES U2 7YY HIZ0ME AM2E + BleS Dics
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M=ol Hofgr 8 0l 255 S7IA7 =0 =20] |ich 2|0 Z73 2o
o2t % 0|28 A FleH= =20| #ct

W=l Listening
Notes
Topic: customer lock-in
Detail 1: bought camera lens from other company
couldn’t use lens; could only use lens by company that made camera
Detail 2: wanted to buy new laptop battery
lasts very long; can't use on current laptop; can only use batteries by laptop
maker

Key Words: broke a camera lens; decided to buy a lens made by a different.
company; couldn't attach it to the camera; only lenses it made could be
attached; new laptop battery: lasts for a really long time; can't use it;
designed my laptop only to take the batteries that it makes; purchasing
choices are restricted

Script

W Professor: Manufacturers are very competitive. They often
do their best to prevent other companies from gaining access
to their customers. They can do this by using customer lock-
in. Let me tell you about it by relating two of my personal
experiences.

Photography is one of my hobbies. | love taking pictures.
A couple of months ago, | broke a camera lens. | liked the
original lens for my camera. But | decided to buy a lens made
by a different company. So | bought the lens, but | couldn't
attach it to the camera. You see, uh, the camera company
had designed the camera so that only lenses it made could be
attached to it. | had to return the other lens and buy one from
the company that had made my camera.

Here's something else that happened to me. There's a new
laptop battery that just got released on the market. It lasts for
a really long time. Uh, it lasts much longer than other batteries.
Unfortunately, | can't use it on my current laptop. Why not?
Well, the computer maker designed my laptop only to take the
batteries that it makes. Once again, because of customer lock-
in, my purchasing choices are restricted.

Translation
W Professor: HIZHHIES iR ZEHILICE &5 2|42 Chll CE 7|HE0|
Xprie] D20 MAGHs 248 oD siE. D2 DAE 0125t 23| & 47}
SlELICE M| JH2IEe| = Rielje] s gdican o el YE=2=8
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=00 720 FACES 7[NS AARNE ZHAULICE M= HEE gEAZD H|
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HAH QiiE = 2 U2 Uz c=2|F ot FHojl AR SAE, LB L ESE
HHE{2|7F QigLich B2 @8iE0t x40 ELch of, CF2 tiEfal=rt #% o
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=l Speaking

Guided & Sample Response mﬁ

The professor relates two of her personal experiences while
shopping. First, she mentions that she broke a camera lens.
She purchased a new one, but it wouldn't fit on her camera.
The reason was that her camera could only use lenses that
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were made by the company that made her camera. The same
thing happened to her with a laptop battery. She couldn't use a
different company’s battery on her laptop. The reason for both
of these incidents was customer lock-in. This happens when
companies make sure that the products of other companies
cannot be used on their own products.

Translation

BE AEES SIHM J2IECR 2T F xR2)l2) ZE cial olofz |5k it
HH, Q= X2 7jet =7 DE| Gk HFSict M22 dIxE FRIFKE,
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7182 HES KiLl2| HZ| ABE 4 Y= CHEDAL & of WiEC]

Taking a History Class

ml Listening

Notes

The Problem: the man could not register for a class, so he needs to take it
later

Solution 1: take the class during summer school

Solution 2: take the same class but with a different professor

Script {&m
w Student: Dave, did you manage to sign up for that ancient
history class? Uh, you know, the one with Professor Gilder?

M Student: No, | didn't. It was full by the time | tried to register.
| am so upset about that. | was looking forward to taking his
class.

w: I'm sorry to hear that. What are you going to do? You've
been talking about taking his class for weeks.

m: Well, Professor Gilder is going to teach the same class this
summer. It's an intensive class in summer school. | suppose |
could sign up for that.

w: Cool. Go for it.

M: But there's a problem. Summer school costs $1,000, and |
don't have that kind of money. It's already difficult for me to pay
my tuition. Paying even more money would be hard for me to
do.

W: Then why don't you take the ancient history class with
Professor Reed? He's teaching the same class, isn't it?

M: Heis. But. ..
w: But what?

M: Even though | love the material, | don’t like Professor Reed.
He's such a boring lecturer. If | take his class, | might be bored
all semester long.

Translation
W Student: Dave, TIEHAL $-20)| T 2H MES L7 of, YZXITE Gilder 1
+US7

M Student: Of, 23101, U7t SEsi2{1 g Fi0k= 2130] O ARIE. 0
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wml Speaking

Guided & Sample Response 1: First Solution m&)

The man has a problem concerning a class he wants to take.
He tried to register for it, but he couldn't. The students propose
two solutions to the man’s problem. First, he could take the
course with the professor during summer school. Second, he
could take the same course but with a different professor. |
think that the first choice is the better one. One reason is that
the man wants to take the course with Professor Gilder. So he
can do that during summer school. The second reason is that
the man can work during summer vacation. That way, he can
make money. Then, he can afford the summer school tuition.

Translation

A XMI0| +ZEI0R She ol HRE SXE 71xD ot JE T 2
S52 sRT MR 2 571 BI%iC HAtel Exol el SHSS F 71| sE
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R iy woto| of 2 Mozt W2isich 8t 7K 0lFE EAPI Gider 42|
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Guided & Sample Response 2: Second Solution gm
The man has a problem concerning a class he wants to take.
He tried to register for it, but he couldn't. The students propose
two solutions to the man’s problem. First, he could take the
course with the professor during summer school. Second, he
could take the same course but with a different professor. |
think that the second choice is the better one. To begin with,
the material, not the professor, is more important. So the man
can learn a lot by taking the class. Secondly, he can't afford to
take summer school because tuition is too expensive. So he
should take the class during the regular semester.

Translation

EHx k= A0 | =ZstiAt she S-go 22E 2MIE 71D ot O 1 5o
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Art History: Photography

Wl Listening

Notes
Topic: art history; how photography influenced artists in the past
Detail 1: artists tried to imitate details of pictures
photos show great detail; tried to imitate; Realist Movement started;
Gustave Courbet
Detail 2: artists began making abstract art
couldn't compete on detalls with cameras; began making abstract art; is
unrealistic
Key Words: photographs capture a single moment. in time; tried to imitate;
Realist Movement was born; tried to paint their pictures to look just like

snapshots; drove some artists away from realist art; try a different form
of art; abstract art; images don't resemble physical things

Script & ym

W Professor: Photography was invented in 1835. Early
photographs were fairly crude. But the technology rapidly
improved. And here's something interesting about cameras:
They greatly influenced the world of art. Allow me to give you a
couple of examples.

First of all, photographs capture a single moment in time.
They also show a great amount of detail. Well, um, early
artists noticed this. And they tried to imitate it. Thus the
Realist Movement was born. In France, one of the leaders
was Gustave Courbet. He usually painted pictures of everyday
scenes from regular people's lives. Photography greatly
influenced Courbet and other European Realists. They tried
to paint their pictures to look just like snapshots. Take a look
at this painting . . . and this photograph . . . Do you see how
similar they are?

Interestingly, the camera also drove some artists away from
realist art. You see, uh, many artists recognized that a picture
taken with a camera was always going to look more realistic
than a painting made by an artist. This caused some artists
to try a different form of art. I'm talking about abstract art. For
centuries, artists made realistic-looking paintings. But, in the
early 1900s, some artists began making abstract art. Abstract
art is not painted realistically. The images don't resemble actual
physical things. Pablo Picasso and Georges Brague did work
in Cubism. Other abstract artists soon followed. And many of
them painted that way because of the camera.

Translation
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=l Speaking

Guided & Sample Response M‘@

In her lecture, the professor describes the effects of
photography on artists. She goes into detail about two
effects. The first is that photography helped create the Realist
Movement. Many artists, such as Gustave Courbet, tried to
make paintings that looked like pictures. They focused on the
extreme details that pictures provided. However, other artists
moved away from realist art. They saw how detailed pictures
taken by cameras were. And they didn’t want to compete with
cameras. They knew that they couldn't make more realistic
pictures. So they created abstract art. This is art that doesn't
look like anything real. Pablo Picasso and many others were
abstract artists.

Translation
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The Advantages of the Internet

pi2e

Brainstorming
Idea Web

Advantages of the Internet: Communication and Education
Advantage 1: communication

Detail: send email; have telephone and video conversations
Advantage 2: education

Detail: get university degrees online; listen to online lectures

wml Organizing

Advantages of the Internet: communication and education
First Advantage: communication

Details: talk to others around the world; send email; have telephone and
video conversations

Second Advantage: education

Details: many opportunities; get university degrees online; listen to online
lectures; getting popular; people becoming more education
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wml Speaking

Guided & Sample Response {ﬁg})

The Internet has several advantages. But | think the two most
important ones are communication and education. People all
around the world communicate with others on the Internet.
They send email messages to each other. And they have
telephone and video conversations as well. People also benefit
from the Internet because of the educational opportunities

it provides. For instance, people can get university degrees
online. There are also numerous online lectures that people can
listen to. Many of these lectures are getting extremely popular.
So the Internet is helping people around the world become
more educated.

Translation

QIELIol= 2 7HA| Z0| QICt BHXISH Li= 7FE EQE 5 JHel HE0| alAEnt
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IEEX¥A Friendly Professors or Distant Professors

ml Brainstorming
Idea Web

Friendly Professor // Distant Professor
Reason 1: easy to talk to // students and profs. aren't equals

Detail: asked friendly economics pref. questions; didn't ask mean physics
prof. questions // shouldn't be friends; student confused by friendly profs.

Reason 2: have better classes // only care about teaching

Detail: comfortable lectures; students eager to learn // not interested in
being liked; distant teacher taught very well

ml Organizing

My Choice: Friendly Frofessor // Distant Professor
First Reason: easy to talk to // students and profs. aren't equals

Details: asked friendly economics prof. question; didn't ask mean physics
prof. questions // shouldn't be friends; students can be confused by
friendly profs.

Second Reason: have better classes // only care about teaching

Details: lectures are comfortable; students eager to learn; learned the
most from friendly profs.: learned the least from mean profs. /f rot
interested in being liked; distant teacher taught very well

ml Speaking

Guided & Sample Response 1: Friendly Professor g&m
It's definitely better for a professor to be friendly with his or her
students. For one thing, it's easy to talk to a friendly professor.
My economics professor was easy to talk to, so | always asked
him guestions. My physics professor was mean, so | never
asked him any questions. For another thing, friendly professors
have better classes. Their lectures and discussions are always
comfortable. Most students are eager to learn from these
teachers. | always learned the most in classes that had friendly
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teachers. | learned the least in classes that had mean teachers.

Translation
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Guided & Sample Response 2: Distant Professor g&m@
Professors should always be distant from their students. That
is a better policy than being too friendly with the students. One
reason is that professors and students aren’t equals, so they
shouldn't be friends. Students can get confused about their
relationships with professors who are too friendly. They won't
have this problem with distant teachers. Next, distant teachers
often only care about teaching the material. They aren't
interested in being liked by the students. The best teacher |
ever had was distant. She wasn't friendly, but she taught the
course material really well.

Translation
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Weekly Meetings in Dormitories

Wl Reading

Translation
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FE = Ue 7|8E A # AYLCL E8L S22 22 S0l U= CE
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Wl Listening
Notes
The man (agrees / disagrees) with the announcement.
Reason: meetings on Sunday nights; likes to return to school on Monday

morming; can't do that now; dogsn't want to meet some neighbors; dislikes
some students in dorm

Key Words and Details: like to visit my parents’ on the weekend; usually come
back to school on Monday morming; have to be at school for meetings; not
fair; don't want to meet everyone in the dorm; don't like some of the other
students; don't want to hang out with them

Script & ¥mm

W Student: Are you going to the dorm meeting on Sunday at
eight?

M Student: | don't have a choice, do 1?7 Of course I'm going to
go.



Ww: | get the feeling that you aren’t happy about it.

M: You're right about that. To be honest, I'm quite upset about
these meetings. For one thing, we have these meetings on
Sunday night.

W: That's not too bad.

M: Maybe not for you. But | like to visit my parents’ home

on the weekend. | usually come back to school on Monday
morning. But now | have to be at school on Sunday for these
meetings. That's not fair.

w: Okay, but don’t you want to meet your neighbors? That's
one of the points of these meetings.

M: There are other ways to meet our neighbors. We don't need
the school to help us out.

W: Uh-huh.

M: Besides, | don’'t want to meet everyone in the dorm. | don’t
like some of the other students. So | don't want to hang out
with them. But the school is forcing us to do that. That's just
not right.

Translation

W Student: 222 8A|9| 7|&AL 22U 2t HLI?

M Student: MEFHO| SIEOL O3 7 S2 71 =X
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w: IEE
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ml Speaking

Guided & Sample Response 6@

The man and the woman are chatting about the announcement
by the student housing office. There will be weekly meetings

in the school's dormitories. The man opposes these meetings.
The first reason he is against them is that the meetings are on_
Sunday night. He likes to go home on the weekend. Then, he
returns to school on Monday. But he can't do that anymore
because of the meetings. He also has no interest in meeting
some of the students living in his dorm. He says that he
doesn't like them, so he doesn’t want to socialize with them.

Translation

eIt Ofxbs &M = ARAle] ZX| ALl Chsf 0l S L= ik &fme)
7IsAtolA o= 2200] HalA| E Aok YRk ol2feh 2o SIS 37t
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g Soleict 12|10 HRYU stne S020), tAI2t 2 MEN J=of ol
JA 2 27t it O E5 ARG ZisA0IM A0 U= BE SHISE O B
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Zoology: Communal Nutrition

ml Reading

Translation
ooy

HE SSS0| A0S YaiM HOIE 0t CHAC sHXIR 22| HHE Sial
oIS 30t CH = S855 QUrh ZT gdnt #AlE 252 S /i 238
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Wl Listening
Notes
Topic: communal nutrition
Detail 1: not all ants forage
queen, males, and soldiers don't forage: workers gather food; share with
others
Detail 2: ants nutritional needs differ
adults and babies need different food; ants gather; food is divided

Key Words: not all ants forage for food; queen ant doesn't forage; nor do
the males; worker ants have the task of gathering food; share this food;
different ants need different types of nutrition; search for different types
of food: take the food back; divided according to what each ant needs

Script § dn)

M Professor: When you watch ants forage, you'll notice that
they take all kinds of food to their colonies. They bring back
leaves, fruit, vegetables, and even the bodies of other animals.
Individual ants don't always eat the food that they find. Instead,
they, uh, they gather it to serve their entire community. This is
known as communal nutrition.

Ants behave this way for a couple of reasons. The first is
that not all ants forage for food. For instance, the queen ant
doesn't forage. Nor do the males. Their duty instead is to
reproduce. Likewise, certain ants, uh, the soldiers, defend the
colony. Therefore worker ants have the task of gathering food.
They then share this food with all of the other ants.

In addition, different ants need different types of nutrition.
For example, adult ants need food that has a high sugar
content. Baby ants require food with lots of protein in it. The
ants that forage thus search for different types of foods. When
they take the food back to the colony, it is divided according to
what each ant needs. As a result, all of the ants are able to eat
thanks to the actions of a few.

Translation
M Professor: 7§0|7} 0|2 &0} S0[CHL|E D& X|FEH, 1S0| 22t Z20|
HO|E FHOIEISE 7K1 7 k= 20l F==aH| SLich LIRY, o, &4 J2|m
HZIolE Oi2 589 A= 71X 715, 7H702] ZHolS0| XHhlo| Y7As HOS 4
B= 2 okdLIct thdl 282 of, 2E2 ET Aol SioIE SZ617| el HolE
2ELCE

= 71%| 0|22 2lsl 7HO|S0| 0213 Whlo= SES ShCt A Hil= 2E
7HojS0| HoE Fo} Solctl= 242 olL7| H2gLIC) oS S04, ¢ig ZHol=
Ho|E Foe| Solchx] gaLch 47HnlSE oEIX|nR. tiil 0lSe] YR =
HAS Sl= AQULICH DED IR, S8 7H0lE, of, B8 7i0l= 7H0lEE BofEilict
mi2kd L7i0iS0] HolE 2= Us HEsh Ut 0152 01F 128 HolE
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Speaking

Guided & Sample Response {@1}

The professor tells the students about how ants forage. He
states that ants don't always eat the food they gather. The first
reason is that only a few ants collect food. Many ants, such
as the queen, males, and soldiers, don't. So other ants must
gather food for them. In addition, ants’ nutritional needs differ.
Baby ants need protein while adults need sugar. So some
ants collect food they don't need. This food goes to other
ants. These actions relate to communal nutrition. In communal
nutrition, animals forage for an entire group. This helps the
members of the group live long lives.

Translation

=== SIS0 ZH0IS0] EA HolE ot Sokciu=xlol chisll 0jop7 Bk
Jid= 7H0iS0| Eet XI0] 22 HOE 2= A2 ofL2tn YT 3 Bl 018
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EEXEH Taking Care of a Bird during Vacation

=l Listening
Notes

The Problem: the womarn is going on vacation and needs sormeone to take
care of her bird

Solution 1: ask her friend Janet to watch her bird
Solution 2: take her bird to a pet hotel

. 2:20

W Student: | can't wait for spring break to arrive. I'm going to
visit Costa Rica for an entire week.

M Student: That sounds like fun. But, uh, what are you going to
do about your bird? Is someone going to take care of it?

w: Hmm . .. I'm not sure yet. | was thinking of asking Janet to
take care of Polly for me. She has done that for me in the past.

M: Yeah, | remember that. But Janet is pretty busy trying to
finish her senior thesis. She might not have time to watch Polly
during spring break.

w: Oh ... | didn't know that about Janet.

M: Why don't you drop Polly off at a pet hotel? | believe that
there's one near the school. My dog stayed there once, and
the people there took great care of him. He loved it there.

w: | might do that. But there’s just one problem with a pet
hotel.

M: What's that?

w: Even though the service is great, the price is expensive. |
don’t know if | can afford to pay for an entire week.

34

M: Hmm . . . You're correct. It is rather costly.

Translation

W Student: 2| 2 Hsl0] 210 20], L= 25 &0t AAERIFI| 7t US
ok

M Student: XH0IRLE 21 ZFLL SIXIZE Of, L2] Aol ChsiAde HEA| 8 2LI?
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=l Speaking

Guided & Sample Response 1: First Solution gm

The woman tells the man about her problem. She is taking a
trip to Costa Rica, but she needs someone to watch her pet
bird. They think of two solutions to her problem. The first is to
ask her friend Janet to watch the bird for a week. The second
is to take the bird to a pet hotel. | feel that the first option is
better. Janet has taken care of the bird in the past. So she will
know what to do. Also, even though Janet is busy, taking care
of a bird is simple. All Janet has to do is feed the bird and give_
it water every day.

Translation

Xt EXtolA| xptle] 2xof el 2stn QUck D= IAERIIE Mg L
Z0|X|ZH XHLlo] O ME SH0L S S7E 2o it Jue| 2xjol chsl
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Guided & Sample Response 2: Second Solution g@
The woman tells the man about her problem. She is taking a
trip to Costa Rica, but she needs someone to watch her pet
bird. They think of two solutions to her problem. The first is to
ask her friend Janet to watch the bird for a week. The second
is to take the bird to a pet hotel. | feel that the second option
is better. The people at the pet hotel will take good care of
the bird. That will keep the woman from worrying. In addition,
Janet is busy and can't watch the bird. So the woman
shouldn't ask her for a big favor. That's not fair to Janet.

Translation

OfZh= HXIol|AH| Xpee] 2xjofl chall 25in 2ick JEE FAERFIZ oS 2
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Environmental Studies: Carbon Dioxide
Emissions

=l Listening

Notes
Topic: environmental studies; two ways to reduce carbon dioxide emissions
Detail 1: filters
capture carbon dioxide; turn it into water and a gas; charcoal filters absorb
it
Detail 2: planting trees
trees need carbon dioxide; use for photosynthesis, create oxygen; animals
can breathe

Key Words: capture carbon dioxide; create a chemical reaction; breaks down
the carbon dioxide; charcoal; absorbs the carbon dioxide; planting many
trees around factories; trees take carbon dioxide from the atmosphere;
free oxygen; reduce carbon dioxide and pravide us with oxygen to breathe

Script § ¥

M Professor: Nowadays, many people are concerned about
reducing various emissions into the atmosphere. This includes
pollutants. It also includes carbon dioxide. Some people are
convinced that carbon dioxide is contributing to the heating
of the Earth’s atmosphere. So scientists are devising ways to
reduce the amount of carbon dioxide emissions. Here are two
methods.

Lots of factories release carbon dioxide into the
atmosphere. Carbon dioxide is frequently created as a
byproduct of certain manufacturing processes. However,
scientists have managed to make carbon dioxide filters. Some
filters capture carbon dioxide. Then, they create a chemical
reaction. This reaction breaks down the carbon dioxide. As a
result, water and a harmless gas are created. Uh, thus carbon
dioxide emissions are reduced. That's how some popular
types of fitters work. Additionally, other filters use charcoal. The
charcoal absorbs the carbon dioxide. This keeps it from being,
um, being released into the atmosphere. As you can likely tell,
there are numerous ways to filter carbon dioxide.

Here's another interesting method. Lately, people
have begun planting many trees around factories. As you
know, trees need carbon dioxide to use photosynthesis. In
using photosynthesis, trees take carbon dioxide from the
atmosphere. Then, they create energy for themselves as well
as free oxygen. All animals on the planet—including humans —
need oxygen to survive. So trees can reduce carbon dioxide
and provide us with oxygen to breathe. When they're near
factories, they have easy access to carbon dioxide.

Translation
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W=l Speaking

Guided & Sample Response %&;}

The professor lectures about carbon dioxide emissions. He
states that many people are trying to reduce carbon dioxide
emissions in the atmosphere. He gives the students two ways
people are trying to do this. The first is by using filters. Filters
remove carbon dioxide from the atmosphere. Some break

it down into water and another gas. And other filters use
charcoal to capture carbon dioxide. In addition, people plant
trees near factories that emit carbon dioxide. The trees take
the carbon dioxide and use it for photosynthesis. This gives
the trees energy and provides oxygen for animals to breathe.
So both trees and animals gain in this way.

Translation
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a 03

Your Country’s Strong Points

p128

Brainstorming

Idea Web
My Country’s Strong Foints: Education and Hardworking People
Eeason 1: emphasize education
Detail: students and adults constantly learn; improves knowledge

Reason 2: many hardworking people
Detail: country was once poor: is rich country now

ANSWER KEY - 35



#ml Organizing

My Country's Strong Points: education and hardworking people
First Reason: emphasize education

Details: students and adults constantly learm: improves knowledge:
better employees

Second Reason: mariy hardworking people

Details: country was once poor; citizens worked hard; improved country: is
rich country now

wml Speaking

Guided & Sample Response {@3

In my opinion, my country has two major strong points. They
are education and hardworking people. First of all, in my
country, we emphasize education. So not only students but
also adults are constantly learning. This improves people's
knowledge and makes them better employees. In addition,
there are many hardworking people in my country. A few
decades ago, my country was very poor. But the citizens of
my country all worked hard. They improved my country a lot.
Today, my country is one of the richer countries in the world
thanks to its hardworking people.

Translation

U oloR 22| Li2k= F7ile Feh ARE 7K1 Qio), J212 ngat 2Hst
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IEZXEM Better Lives Now or 100 Years Ago

=l Brainstorming
Idea Web

Better Now // Better 100 Years Ago
Reason 1: all kinds of jobs // lived in countryside

Detail: like jobs have today; disliked farming in the past // was clean and not
polluted; cities today are dirty and overcrowded

Reason 2: healthier today // slow pace of life

Detail: better medicine and health care; live longer // people were relaxed;
people always in a hurry today

=l Organizing

My Choice: Better Now // Better 100 Years Ago
First Reason: all kinds of jobs // lived in countryside

Details: people today have many jobs; enjoy them; people in past were
farmers; disliked farming // country was clean; not polluted; people now
live in cities; are dirty, polluted, and overcrowded

Second Reason: healthier today // slow pace of life

Details: better medicine and health care; live longer // people were very
relaxed: people always in a hurry today. rush around; no improvement

36

=l Speaking

Guided & Sample Response 1: Better Now m

| agree with the statement. It's true that people in the present
day have better lives than people who lived 100 years ago. The
first reason has to do with jobs. Nowadays, people have all
kinds of jobs. These are jobs they often enjoy. 100 years ago,
most people were farmers. Farming was very hard work that
most people disliked. Second, people living in modern times
are healthier than people who lived 100 years ago. We have
access to better medicine and health care, and we live much
longer. So our lives are better than they used to be.

Translation

Li= J2i5t Tiao| S5t Sxiel ARIS0| 1004 Hol| AU AR O L2
HE A1 ]lTt A HHl 0lF= Rt 20| Uck 25, MHEE 24 559
EAUS 7iX| D QUc}, ARS0| 20l6hs EYS0| £ Ut 1004 Fols, tie2e]
AEE0| SEIUCL SAks R Re| ARIS0| Z0l6HA] S= b= EE Lo|Uct S,
SrHol| At= ARISS 1009 FHoj| AUS AR Of ZiZsi0) 22l Bt L2
ol5ta} 712} HHS 0|88 4~ 2lon|, B o 2f 7 rt mRiA 22i2| 40|
O} of W,

Guided & Sample Response 2: Better 100 Years Ago

| disagree with the statement. It's my belief that people lived
better lives 100 years ago. Back then, most people lived in the
country. Today, most people live in cities. The countryside was
clean and not polluted. But modern cities are dirty, polluted,
and overcrowded. So modern-day people don't live in better
places than people used to. Also, 100 years ago, the pace of
life was slow. Therefore people were very relaxed. Nowadays,
everyone is always in a hurry. People rush from one place to
another. | don't think that's an improvement on life in the past.

Translation
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The School Directory

Reading
Translation
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=l Listening

Notes
The woman (supports / does not support) the new student directory.

Reason: pictures useful; won't contact wrong students anymore; easy to
access online; can use smartphone to get information

Key Words and Details: contacted the wrong students; directory will have
pictures of students; won't make that mistake anymore; directory will

be online; simple to access; can just use my smartphone to look up the
information

Script & ¥z

M Student: | am pretty upset about what the school is doing
with the directory this year.

W Student: What are you so mad about? The new directory is
going to be wonderful.

M: | disagree. | don't want all of my personal information
published online.

W: But | think the school is doing a good thing. You know,

a few times in the past, | contacted the wrong students.
However, now that the directory will have pictures of students,
| won't make that mistake anymore.

M: But what about the email addresses?

W: | think having them will be great. Now, it will be easier than
ever to contact other students.

M: It seems like a violation of my privacy.

w: | disagree. Oh, and there's one more thing that | like about
the new directory.

M: What's that?

W: Since the directory will be online, it will be simple to access.
I won't have to go back to my dorm room to get information

on other students. Now, | can just use my smartphone to look
up the information whenever | need it. | think that's great.

Translation
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=l Speaking
Guided & Sample Response m
The man and the woman are talking about the new student

directory. It will be released on the Internet, so it will contain
more information than before. The woman likes that there will
be more information in it. The first thing she mentions is that
there will be pictures of students in the directory. She says that
she has called students by mistake before. But since there will
be pictures of students, she won't make that mistake again.
She also states that the online directory will be convenient.
She will be able to look up information anytime with her

smartphone.

Translation

X2 oA t= M22 SHUE Qi HXI0| el 0jop [61 QICk RIEHIS= E2k0|
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Biology: Odor Defenses

Reading
Translation
HALE 0}2sh= Wo H
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FAXIS e B2 BAXISE xfF J2f6t SESS 712H6| LIS0{0} Bicls EE
2UAH| Ect,

Listening

Notes
Topic: odor defenses
Detail 1: stinkbug
when threatened, secretes a liquid; smells bad, animals dislike
Detail 2: skunk
when threatened, sprays a liquid at animals; smells horrible; animals flee
Key Words: threatened, secretes a liquid; smells awful; ran away: won't eat
it: spit out a stinkbug as soon as they put it in their mouths; effective
defense; shoots a foul-smelling spray at the attacker; smells horrible; hard
to remove; animals hate; flee

Script
W Professor: One unigue way some animals defend themselves
is by creating bad smells. Both the stinkbug and the skunk do

this.

There are countless species of stinkbugs. They all defend
themselves similarly. When a stinkbug is threatened, it secretes
a liquid. This liquid smells awful. Anything the liquid touches
smells bad as well. I'm sure some of you are familiar with this
smell. What did you do when you smelled it . . . ? You ran
away from the stinkbug, right? Well, that's what many animals
do. Many won't eat it either. Most birds, for instance, spit out a
stinkbug as soon as they put it in their mouths. That's quite an
effective defense.
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Skunks also use odor to defend themselves. When a skunk
is threatened, it turns away from its enemy. It puts its body in
a position where its head is lowered but its back and tail are
raised. Then, it shoots a foul-smelling spray at the attacker.
Skunks can shoot this spray at least two meters. It smells
horrible. It's hard to remove as well. Animals hate it. Most
animals flee merely at the sight of a skunk. They have no desire
to get sprayed.

Translation
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=l Speaking

Guided & Sample Response 5@

During her lecture, the professor tells the class about the
stinkbug and skunk. Both use odor defenses. Odor defenses
utilize scents that smell terrible. Animals release these

scents when they're threatened in some way. For instance,

the stinkbug releases a liquid that smells bad anytime it's
threatened. And animals like birds don’t eat stinkbugs because
of their bad smell. The professor also talks about the skunk.
When a skunk sees an enemy, it sprays some liquid at the
other animal. This liquid has a bad smell animals hate. It smells
so bad that animals run away whenever they see a skunk.

Translation

220N, = Bl AZT0) chal SHESI olop2 [sl Ut & 25 =
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Driving a Friend Home

Listening
Notes

The Problem: the man's friend wants a ride home, but the man has a meeting
500N

Solution 1: tell the friend to find his own way home
Solution 2: take the friend home and be late for the mesting

38

Script & ¥=m)

W Student: Stuart, | think that Andrew is waiting outside for you.
He told me that you're going to give him a ride home in a few
minutes.

M Student: Whoops. That totally slipped my mind.

W: What? Is there some kind of a problem? Don't you and
Andrew live on the same street?

M: Yeah, he's my next-door neighbor. The problem is that I've
got a meeting with my advisor in half an hour. The meeting is
going to last at least an hour. We're supposed to talk about a
big project I'm going to do this summer.

w: What are you going to do about Andrew?

M: Hmm . . . | might just apologize and tell him to find another
way home.

w: But you guys live twenty minutes away from school. Walking
home might be tough on Andrew.

M: True. | guess that | could give him a ride home. But then I'd
be at least ten minutes late for the meeting with my advisor.

W: That doesn’t sound too bad.

m: Actually, my advisor gets really upset when people are just
one minute late. He's quite strict about that. He'd be pretty
angry with me.

Translation
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W=l Speaking

Guided & Sample Response 1: First Solution 5&.{5}
The man’s problem is that he's supposed to give his friend
Andrew a ride home. However, he has a meeting with his
advisor in thirty minutes. The man and woman discuss two
solutions to the man’s problem. The first is for the man to tell
Andrew to find another way home. The second is for the man
to give Andrew a ride home and to go to his meeting late. |
like the first solution. The man’s meeting is important, so he
shouldn’t be late for it. Also, it shouldn't be a problem for
Andrew to find another way home. He probably knows other
students with cars. Or he can walk home.

Translation
HRe| 2= 271 27121 AndrewS E7ER| EfY 7|2 $ick= Ho|ct SRRt
= 302 FO0ll X|= w04 CHZ |2 f&2 Fi0L JX12| 20l chal HAiet txl=
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Guided & Sample Response 2: Second Solution mn
The man's problem is that he's supposed to give his friend
Andrew a ride home. However, he has a meeting with his
advisor in thirty minutes. The man and woman discuss two
solutions to the man’s problem. The first is for the man to tell
Andrew to find another way home. The second is for the man
to give Andrew a ride home and to go to his mesting late. | like
the second solution. The man promised Andrew a ride home,
s0 he should keep his promise. He can also call his advisor
ahead of time. He can explain the situation and say that he'll
be a few minutes late.

Translation
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Biology: Collective Behavior

Wl Listening

Nores
Topic: biology: collective behavior in animals
Detail 1: elephants
live in herds; take care of babies; watch for predators; protect while foraging
Detail 2: fish
swordfish hunt other fish together; prey fish avoid predators together
Key Words: very social animals; look after baby animals and the younger
members of the herd; provides protection; help each other when foraging
for food; while some forage, others watch out for danger; swordfish pursue

large schools of fish; kill them:; return together to eat; prey fish; move in
unison in different directions; hard for predators to kill them

Script & ¥

W Professor: You might believe that elephants and fish have
nothing in common. But you'd be wrong about that. Both
elephants and many kinds of fish engage in collective behavior.
This refers to actions that animals do together in groups.

Let me tell you about elephants first. Elephants are very
social animals. They live in groups called herds. When a herd is
together, the elephants take care of one another. For instance,
adult elephants look after baby elephants and the younger
members of the herd. The herd also provides protection
against predators. Of course, not many animals hunt
elephants. But it sometimes happens. Elephants even help
each other when foraging for food. While some forage, others
watch out for danger. Then, when the elephants are finished
eating, they stand guard as the others eat.

As for fish, well, they also exhibit collective behavior. Groups
of swordfish often hunt other types of fish. The swordfish

pursue large schools of fish and kill them with their long bills.
Then, after they are done hunting, they return together to eat
the fish they killed. Many schools of prey fish act collectively
as well. Oh, uh, when | say prey fish, | am referring to fish such
as herring, shad, and smelt. Anyway, um, when predators

are pursuing them, they seem to move in unison in different
directions. This makes it hard for predators to kill them. In this
way, collective behavior keeps many fish alive.

Translation
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Speaking

Guided & Sample Response é&b

In her lecture, the professor tells the students about collective
behavior by animals. She states that both elephants and

fish act collectively. First, she discusses elephants. She says
that they live in groups known as herds. Elephants do many
activities together. They take care of their young, watch out
for predators, and stand guard while other elephants eat.
These collective actions benefit the entire herd. The professor
mentions two types of fish behavior. Swordfish collectively
hunt large schools of fish and kill them. And schools of prey
fish such as herring move as one to avoid getting killed by
predators. Both swordfish and herring therefore use collective
behavior.

Translation
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Your Favorite Teacher

p.135

Brainstorming
Idea Web

Your Favorite Teacher: Mr. Patterson

Reason 1: makes class fun

Detail: tells interesting stories // has made me consider majoring in history
Reason 2: lets students contribute to class

Detail: have class discussion every week // students can give their opinions

=l Organizing

Your Faverite Teacher: Mr. Fatterson

First Reason: makes class fun

Details: tells stories that make history interesting: never enjoyed history
before; thinking of majoring In it now

Second Reason: lsts students contribute to class

Details: have class discussion every week: asks for our opinions; students
can speak about past; entertaining and educational

=l Speaking

Guided & Sample Response M

My favorite teacher is Mr. Patterson. He teaches history at
my school. He's my favorite teacher for two reasons, Firstly,
he always makes class fun. He tells stories that make history
seem interesting. | never enjoyed history until | took his class.
Now, I'm considering majoring in it at college. Secondly, he
lets students contribute to class. Every week, we have a big
discussion in one of our classes. Mr. Patterson asks us for our
opinions. We get to speak about the past and what we think
happened. Doing that is both entertaining and educational.

Translation

L7} 715 Z0tls A4E2 Patterson MAEOICE J= oM SHAMS 712EICL £
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Students Should Take a Cooking Class at
University

Wl Brainstorming
Idea Web
Should Be Required // Should Not Be Required

Reason 1: is important skill // only teach academic courses

Detail: couldn't cook well when lived alone; wish had taken cooking class //
is nothing academic about cooking; can attend academy or take cooking
lessons

40

Reason 2: need skills to cook // not necessary skill anymore

Detail: math and reading comprehension: can apply skills learned at school //
many instant foods available; can cook them in microwave

W=l Organizing

My Choice: Should Be Eequired // Should Not Be Eequired
First Reason: is important skill // only teach academic courses

Details: lived alone for two years; couldn't cook well; wish had taken
cooking class // is nothing academic about cooking; can attend academy
ortake cooking lessons

Second Reason: need skills to cook /f not necessary skill anymore
Details: math and reading comprehension skills; apply skills learned at

school when cooking // many instant foods available; can cook them in
microwave

Wl Speaking

Guided & Sample Response 1: Should Be Required &5@
| think it's a great idea to require students to take a cooking
class at university. For one, cooking is an important skill
everyone should know. | lived alone for two years after |
graduated, but | couldn't cook well. | wish | had taken a
cooking class. Also, a lot of cooking requires a person to

be exact and to follow directions. So people need math and
reading comprehension skills to cook. This makes cooking

relevant as a college course. Students can apply the skills they
learn at school to the kitchen while learning how to cook.

Translation
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Guided & Sample Response 2: Should Not Be Required
§dom

| don't think students should be required to take a cooking
class at university. To begin with, | believe that colleges should
only teach academic courses. There’s nothing academic about
cooking. If students want to learn to cook, they can attend a_
private academy or take cooking lessons. Another thing is that
cooking skills aren't necessary anymore. There are so many_
instant foods available these days. To cook them, just put them
in the microwave for a minute or two. That's how | eat most of
my meals. | can't cook, but that hasn't hurt me.

Translation

Ltz thEloll M SRSl 22 218 +2SI=E aH0f SICHD MZI5HK| Sert 24,
Li= tiglo] EiEa gHEE =SS 7IEM0) ST J215iC) 220k HmEt 521
2 QiCh SMES0| R2IE iR TAL ST, Ak Shao| ChuL 22 Q2| ZEE
251 Eol. & COE 0|17 = 22| 52i0] o 0|4 2R6IA| §47| HE0|Ct 25
OI2E = QU= QIABE AMZE0| LU YLt 01 K251 | $ieiMs, THA| Yol 22t
0|52 HXREIRIX|0] ‘20 =3 2} L7 CHEHES| AMARS sliZshs Wo|CE L=
225 ZeIX(2 O2 2lsl L7t IS 2 H2 gich



Premed Internships

ml Reading

Translation
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=l Listening

Notes
The woman (supports / does not support) the decision.

Reason: did one-year internship; had hard year; physically tired; got low
grades

Key Words and Details: did a twelve-month internship last year; was the
hardest year I've ever gone through; physically wore me down; got worn out;
first time that | didn't get all As; didn't have enough time to study: didn't
study at all

Script & ¥

M Student: This is totally annoying. | just got accepted by a
company to do a six-month internship. But since I'm a premed
student, | can’t do it now.

W sStudent: That’s too bad. But | think that the school is making
the right decision.

M: How come?

w: | did a twelve-month internship last year. My junior year was
the hardest year I've ever gone through.

M: What was so hard about it?

W: It physically wore me down. | was constantly going to my
internship. And | worked really hard at the hospital. | simply got
worn out.

M: Hmm . . . How about your grades?

W: Last year, my grades went down. It was the first time that |
didn't get all A's. | didn't have enough time to study.

M: Because of your internship?

W: Pretty much. Many times after | got home from my
internship, | went to bed immediately. | didn't study at all. But,
uh, this year, I'm not doing an internship. | have more time to
study. So my grades have gone back up again.

Translation
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=l Speaking

Guided & Sample Response g@

The speakers are talking about the announcement made by the
dean of students. Premed students may only have internships
that last for three months. They cannot do internships longer
than that. The woman agrees with the decision by the dean.
She first states that her one-year internship was physically
difficult for her. She claims that she was always tired while she
was doing it. She also mentions that her grades went down
while she had the internship. She didn’t get all A's like she
normally did. She blames her internship on the low grades that
she received.

Translation
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Education: Behavior Contracting

ml Reading

Translation
s Aot
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Wl Listening

Notes
Topic: behavior contracting
Detail 1: student named Tina never raised hand
yelled questions and answers; couldn't get her to stop
Detail 2: use behavior contracting on Tina
aot gold star for raising hand; lost. gold star for not raising hand; worked
well

Key Words: bad habit; never raised her hand; said whatever she was thinking;
tried many ways to get her to stop; nothing worked; agreement; raised

her hand before speaking, | would give her a gold star; if she spoke without
raising her hand, | would take one gold star away; changed; would constantly
raise her hand, definitely worked for her

Seript & dpm

W Professor: We often have to get creative when dealing with
problem students. There are many methods you can use to
improve their behavior. | recommend behavior contracting.

ANSWER KEY - 41



When | taught at an elementary school, | used behavior
contracting. It was effective in many cases. | had a student
named Tina. Tina had one bad habit. She never raised her
hand during class. Instead, she just said whatever she was
thinking. She yelled out questions as well as answers. It was
s0 annoying. | tried many ways to get her to stop. But nothing
worked.

Then, | came to an agreement with her. Anytime that she
raised her hand before speaking, | would give her a gold star.
But, if she spoke without raising her hand, | would take one
gold star away from her. We agreed to do this for one week.
The way she changed was amazing. She really wanted those
gold stars. So she would constantly raise her hand. Of course,
she forgot to do that sometimes. But she ended the first week
with twelve gold stars. Then, we made a new contract for
two weeks. She didn't lose a single gold star during that time.
Behavior contracting definitely worked for her.

Translation
W Professor: 24| SHES CIE Oi= £ HQ/X0(0jof EiLICE O289| #ES
FHMAIZ |7 2ot MEEE 4= Sl B2 WHS0| AaLich Me #E Aloks S

ZESm0|M RHS FUS 1, M= BS AUS 0|2 HaLICE Y2 A0
FAPHOIUE. Tina2ts 0152 SH0| UAUSLICE Tinas LEE KR SILIE 71A|n
QUASLICE 2 =0l 22 £2 SX| UUSLICE il 370| RHOIE, XR0|
MWZI5l= HIE e 20IUSLICE 4212 X2HM 22 Yln 2ES aLT o2
=x| 02 LoAgUHCE M= 2GS MXBE| fell B2 WiE A=sl EstIch
SHX|2H O = ot QiSiE

2|7 LM, M= J4et SIS WSLICHL LS 517| To| JE7E &2 B0,
M= HAl2te oA 22 282 FASLICEL SHX2L &2 EX| ¢ S sl
d=20k=, 24N SE s #iSiRigUM F2l= 131 S0 28 sk 2o
SUSiELICE J47 HEHE WAIR =212 H0[gLCE Jus E22 125t S
HEgLCE 2N By &5 ST SigUch S8 W2 23 sl A8 Y=
SE SIXITHE F7| B5E o, JHE 1209 2EE 71X UMSLICE 32|71 LM,
2= 25710 M2 Aok WELICH Jal= 3o SEE UA| EUELICH
29 2l A20| JUuA =32t UAUT Z0(AUS.

Wl Speaking

Guided & Sample Response 6&1@

The professor tells the class about when she was an
elementary school teacher. She had a student who never
raised her hand. Instead, the student just yelled out questions
and answers. The professor used behavior contracting to
solve the problem. Behavior contracting involves two people
making a contract. One person will change his or her behavior.
The other will reward that person for changing. This contract
is for a short amount of time. The professor agreed to give the
student gold stars for good behavior. She took them away for
bad behavior. Thanks to behavior contracting, the student's
behavior improved.

Translation

W= SIS AH0| =ES wAIE ool chahA olofIet ict JEMAl=
ZT &5 SX| YU St 30| QUSICE T, O S A2iS K28 HEES Sl
IEE 3iCh e 25 2M1S sl | 6 8E AIS o123ich 3E A2
HotS = 5 ol Alzhah 20| Ik 8t AIME KHho| =g HELAIY Ho|ck,
CHE A2 ol Chall T AloiA 242 siE Zioic) o215t A2 T7ZiS
et Zi0|ct = HIEEIE HE0| sl shdolA 212 2EE 712 S9gict L
=0l chshi= D2S siStoic s At S20), 3| AE2 TR
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Showing a Cousin around Campus

Listening
Yores

The Problem: the woman's cousin is visiting campus, but she has to lead a
film discussion

Solution 1: have a friend show the cousin around campus

Solution 2: cancel the film discussion

Script & ¥

M student: Mary, are you ready for the film discussion today?

W student: Oh my goodness. | totally forgot about the
discussion.

M: That shouldn't be a problem. You've seen that film a lot of
times. | know you can talk about it without preparing anything.

W: It's not that. It's just that my cousin is coming to campus
today. She's going to be here for two hours to look around the
school. She's coming at four and leaving at six.

M: Uh, but the discussion starts at four, too. Hmm . . . Why
don't you have one of your friends show her around campus?

w: I'd like to do that. But she's extremely shy. She might not
talk to my friend at all.

M: That’s not good. In that case, | guess you'd better cancel
the film discussion for today. That way, you can show your
cousin around campus.

W: | guess so. But that doesn't seem fair to all the students
who will attend today’s discussion. They're expecting me to
give them an analysis of the film.

M: That's true. You'd better decide on something. It's already
twelve o'clock.

W: Let me think about it.

Translation

M Student: Mary, 25 Bt E20I| Cigh ZHIE L7

W Student: 021 Mol E20] CHailA] 24F5] 2UD S0,

M: EM7} ElXl= 2 70k U= o] xR O Q& 2EoL 01F8 ZHIE siA|
P40t U|7+ 201 CHEE OJ0F7 1 & 4= QIS 28 2oL

W: 322 20| OfL|ok, 25 L AREO0| ZmA0] 27|12 siM J12i, StmE 7517 | HisH
2A1ZH S0 013201 RUS 0lFZOIX]. aAlo 24 BAJ0Y W Hok

M: 01, 32 EEE 4A0f AEBHER & T B 8 ’IS AlZ{AM J40iA
HHAZ WSS SIEH O1EDI?

W: 28 512 201, BHAI2E Jl= i 5501 Bl W El0llA Te 22 x|
%S = 2ol

M: EX| ei, I3 22, Pt 25 st EEE FAsh= 20| LS A 2o
A ot 7t AEHA BHAS FHAR E - U0l

W: 32 & QBIA| SHAIZE J2iH 25 +Hol Eisls 2 SHIEA SFSIAI
S % LOL OS2 U ARSI SEl cift 243 SIS 7Iiskn UHE.
M: 274 ARH0[X]. 22171 2HEE U2l= 20| 25 A 22 M 2Al0k

W: 2t =41

Speaking

Guided & Sample Response 1: First Solution 5&&
The woman has a problem. She is supposed to lead a
film discussion, but her cousin is coming to schoal at the
same time. The man and woman suggest two solutions to



her problem. The first is for her to ask a friend to show her
cousin around campus. The second is for her to cancel the
film discussion. In my opinion, the first choice is better. By
having a friend guide her cousin, the woman can lead the film
discussion. So she won't let down all of those students. Also,
meeting a new person will be good for the woman'’s cousin.
Maybe she can help overcome her shyness that way.

Translation

GEARE 271 sit QIct JuE FEt EEE Flish? |2 00| =i Qs
12| AREO| 22 AlZiol| St & Zo|ch HARt oiXk= ofxtel Xl thsl =
7Ex| st QioHE HAISD QICt & Ml 147 200H RERS s AREo|A
HmAE AJHsH 2l sl Zi0ICh F Bimls 47} He E2E FHAske 2ol
L dizto2= A win 2oH0| o Wk EI1E 51013 AREA SHIE REiEe=M,
Oixl= Qs EES FAE = Qloh, w2t 2RE SHEES HEAIZIX] 242 o|ch
E5L 2R AREE D= 232 oixte] A £8 Zolck O3 §iH olls
7 $EEE 386kt =50 2 4 8 Zolck

Guided & Sample Response 2: Second Solution g@)
The woman has a problem. She is supposed to lead a fim
discussion, but her cousin is coming to school at the same
time. The man and woman suggest two solutions to her
problem. The first is for her to ask a friend to show her cousin
around campus. The second is for her to cancel the film
discussion. In my opinion, the second choice is better. Family
is important, so the woman should show her cousin around
campus. In addition, since her cousin is so shy, it wouldn't be
nice for the woman to ask a friend to speak with her cousin.
That is something the woman should do herself.

Translation

GEAE 2x:17} it It D= FEl £E22 FAish |2 ofE0| 2l =,
JL2) AREO| 22 AlZiol| Stmol| 2 Z{0|ct EXIRt OiXl= oixtel 2xiol il =
7Ex| s YotE MIAISID Qict & Bl 1147 EI00H| 2ERS s AREA
HHAZ A5 Z2tn ke 20|t & s 147 et E2E F4sk= Z0|ch W
Moz = I Wi2h| O ok 7150] £2517| M2, tiAks AENH BHAS
A7H3H Fo{of Sict E£5t Jle| AES +E5SS Ho| B | Hi20), AL U
LFES oA BEE sl 22 2X| Faict T2 ofxt xRblo| sHok aHs ol

Zoology: Ant Foraging

=l Listening

Notes
Topic: zoology: ant foraging methods
Detail 1: movement
thove in same direction; can't find food: move in another direction; no longer
maove in original direction
Detail 2: carrying food
find big piece of food; don't break it apart; carry it together; fewer ants
needed to carry the food

Key Words: very efficient in the paths they take; fail to find food; head in a
different direction; no more ants will move south; work together to carry
large pieces of food; quite strong; could break fruit up; work together; by
combining their strength, fewer ants are needed

Script § ¥

W Professor: | find that ants are some of nature's most unigue
creatures. |'ve studied them for a couple of decades. And

the more | study them, the more, uh, impressed with ants |
become. When ants forage for food, they have some effective

methods. Basically, uh, they are able to obtain the greatest
amount of food for the smallest amount of effort.

If you watch ants for long enough, you'll notice something
about them. They are very efficient in the paths they take when
foraging. By that, | mean that some ants might start heading
toward the south while looking for food. However, if they fail to
find any food, all of the ants will head in a different direction.
They might turn, uh, westward. And here's the interesting part:
No more ants will move south. Somehow, they realize that
there's no food in that direction. So they stop moving that way.

Here's something else they do . . . Ants often work together
to carry large pieces of food. Ants, by the way, are guite strong
for their size and body weight. Let’s say that some ants find a
piece of fruit. Now, uh, the ants could break the fruit up. But
then it would take fifty ants to carry the pieces back to the
anthill. However, if they work together, ten ants can carry the
entire piece of fruit. By combining their strength, fewer ants are
needed.

Translation
W Professor: M= JH0IS0] XI0lM 712 EE5H M2 = iLI2N= B2
UORSELICE 208 S 2S0) thE B7E of QU 2|0 0 chsh o 2ol
U=, O B0l o, 7HOIS0| cish of 2 ZBS wELIC JH0IS0] 2HoE 78t
SO0ICHE M, 0|52 2 71X| ZapEl BiE AIEEILICE 7I2X50R O 0|82
A|4510| LHOR FCHEHo| HOIE HE 4= USLICE

£E85| 2aF0 0|1SE XFEH, J0] 2t FHIIS Loid 5= QUgLic
HOIE 0t S0ICH = £, 0150 Hsh= 2= 01 FaPEYUCE M 2o 2jofk=,
UL JHOlE0| HOIE = S0 HEOR T6l | ARE £ QISLICE SEXIS 0lE0]
SHO|E =0l AufsiH, 2E JH0IE2 CIE Weo: 7| 2 gl 382, o,
M=oz Yislg 53 4= YgLCt 12|10 £0|28 Ho| Yatch 0SS of ofdt
HEOZ 056K fEUCh o Fx, 0152 T2t WE| Ho|7t gichs B2
TED Usich w2l 225 Ao 2 0lFshe 28 SHELICL

JE0| 8l E CHE 20| USLICH- 7H0IS2 5 ME "M 7o 2olE
CHELICE 374 O30, 7i01S2 S 2 S0l vl MEs| 2o| Lot 48
7HolS0| 2 =212 F0pdCkn 71EsH SAICE X o, 7H0IS2 UUS B &
SAgLICE SIS J2{H O 2158 ZH0IES2 7IX|1 7h=t| 500i2|2] 2{o}=S0]
LISt 212Ut Sfxiot B=2 SiCkH 10012|2] 20|72 =2 MHIE 4 5
QUELICE B2 EEoEM, EeFt Ji0lS0] Hoxl= 2Lt

=l Speaking

Guided & Sample Response m

The professor lectures about the foraging habits of ants.

She mentions that ants have effective means of foraging.

She describes two of them. The first concerns the direction
ants move when looking for food. Ants will walk in a certain
direction to find food. But, if there is no food, they will all move
in a different direction. And no ants will continue moving in the_
original direction. Also, ants often work together to carry back
large pieces of food. Ants don't break up the food into small
pieces. Instead, a small number of ants pick up a large piece
of food and carry it back to their colony together.

Translation

= HOIE e 7012 el thish Z2IF st U0k 2= 7H0[S0] HoIiS
et 20 +HE 71| Sk Hgsit), JEe= OF F 710l chal AEEict
Z Hull= 20|12 3o} i o FH0IS0| 0lE3h= ekt 20| Qi) JHolEE siolE
37| 2ls S5t dieto 2 Lok Zio|c), SEXIRE 207} gleH, 257t CHE dieteg
OlSE ¥ Zio[ck 22| oftH 7i0|= HzHe| YEio= Hi% 0lSsiXls & Zioich
31 JH0|S2 £Z S oM FCi2t Ho|S 7HR(D Zick Zi0IS2 HolE EE
Z2I52 FoliohR] Y=t til, M2 22| 7iniS0| FCi2t HolE 50| S214 T
JHolEe2 JEx|n Zick
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p.142

A Facility You Want Your School to
Construct

Brainstorming
Idea Web

A Facility You Want Your School to Construct: Gym
Reason 1: rains a lot in city

Detail: cancel FE. when rains; can't go outside in rain
Reason 2: play indoor sports

Detail: nio basketball and volleyball; could play them in gym

Organizing

A Facility You Want Your School to Construct: gym

First Reason: rains a lot in city

Details: cancel FE. when it rains; can't go outside; can play indoors if have
gym

Second Reason: play indoor sports

Details: no basketball and volleyball; can't play at school; could play them
in gym

' Speaking

Guided & Sample Response {&5;—;}

| would really like for my school to construct a gym. There are
two reasons that | want a gym. The first is that it rains a lot in
my city. When it rains, we have to cancel P.E. class since we
can't go outside. But if we have a gym, we can play indoors on
rainy days. The second reason is that having a gym will let us
play indoor sports such as basketball and volleyball. We can't
play either sport at my school now. However, we could play
them if we had a gym.

Translation

Li= sinE0| HSHS 37|15 HUZ vi2ich U7} HISEE Hets Auls 71
057t ich A M= 22| Ao %2 |7} Li2ICk= Hock 8|7t 23, Yo L
=7t 87| 20| 2= Mg £YS FAsio iCk SHXITH HIS20] UCHH, 17t 2=
ol ALt 252 & 47 QUCk F ¢l 0lF= MISH0| e 51t Hiet
2 Z7IE Aol Z 4 47| thE0|ct S 22| stnod= OF of Z27|= 2
=7} gick, stXI2t AIS2o| QICHH, J2i5h H71E E 4 QU2 Zoich

IEZEN The Same Activities or Different Ones

Wl Brainstorming
Idea Web

Do the Same Activities // Do Different Activities
Reason 1: can become very skilled // doing the same thing is boring

Detail: play basketball every day; am good basketball player // try tovary
routing; do different activities

Reason 2: makes people feel comfortable // can learn new skills

Detail: friend watches movies every weekend; feels comfortable at theater//
best friend does something different dally; is incredibly skilled

44

=l Organizing

My Choice: Do the Same Activities // Do Different Activities

First Reason: can become very skilled // doing the same thing is boring
Details: play basketball every day; am good basketball player // try to vary
routine; meet friends one day; exercise or stay home other days

Second Reason: make people feel comfortable // can learn new skills

Details: friend watches movies every weekend; feels comfortable at movie
theater // best friend does different activity every day; studies Enalish;
learns computer programming: takes swimming lessons is Incredibly
skilled

Wl Speaking

Guided & Sample Response 1: Same Activities 5&%}3

In my opinion, it's better for people to do the same activities
every day. The first reason is that this will let people become
very good at these activities. For instance, | play basketball
with my friends every day. Since | play it so often, | have
become quite a good basketball player. The second reason
is that familiar activities make people feel comfortable. One of
my friends watches movies every weekend. | asked her why
she does this. She responded that she feels comfortable at
the movie theater. So she does an activity that makes her feel

good.

Translation

U ojzicz oid 22 #=S Sl 20| o Bt A Wil olfs, J2A 513 2248t
S0 0P S=EiX 7| H2olch oIF 20, Lie W 7St Y 575 §ich
02 X1 67| HE0], L 5715 01 25 ZI%ic & Wil 015, lsst 2=
5 motst 7|20| £7| Hh20[ch W £ & § HE oiF FU 0l E815 2ot Lis
Jl47t ef JFA XIS 20 290t Jids AR0| HeltiolA] BMokElS w7ictn
ChEsich et JEs x| 7I2S 27 BHEX FE= 852 6o /= 2ot

Guided & Sample Response 2: Different Activities g&_g_b
| strongly believe that people should do different activities every
day. One reason | feel this way is that always doing the same
thing is boring. | try to vary my routine. Some days, | mest my
friends. Other days, | exercise or stay home and read. Another
reason | feel this way is that doing different activities can teach
you new skills. My best friend does something different each
day of the week. For example, he studies English on Mondays.
He learns computer programming on Tuesdays. And he takes
swimming lessons on Wednesdays. He's an incredibly skilled
person.

Translation

Li= i CHUSH 253 SOk STt 2A] 20k W7t 22H M2ishk= 8t 71
OlRe, S 22 U 5lH X|R6iX|7| th20(C Lz W 2ol HaiE a1
2B o Yo, 2SS D) CIE Jolls, 252 5t7LE Tl HETM M2
SI=Ct U7 22H M2l & O 018, Tt 252 610 M22 7|22 HiE
27t 47| tHE0|ch Wi 7FE Ti5t El= £Z ofolc) M2 Cl2 Y8 Bict ol &0
HoUdls oS SESIC) e Utls HFE T2 I2iUS Hh2ct 33|17 e
Olch S 8 E=CL O W1 MR LS AlRoIch

Free E-Readers for Students

Reading
Translation
DE SS0| 23 HAE BE7|E A 8 AYuct



Hxpao| 01717t B7i6tn Qlenz SwER ChE 87|15 AlXlez B
ShESOA R2 X H=E71E M2 & oFYULIC 0|2 SHME2 Mot %
7|E} &1 MESO| FXIE HiE S8 o= UELch B8 HRE TE7|2 oEY
ME U J[ELCIS 7S ES 0188 4 USLICH SHUES 37| M2 CHE TR
T=7| Z0IM BILIE MEisHA| 2 AULICH Stu=E M| JHe| TR =7 | D50]
ChEt MeES SHIS0A OjHiYZ =L 2 Z4eLict T3 SHES x| fEls
TR M= (S stmso] 2 F 4 QU8 AL CH

ml Listening

Notes
The woman (agrees / disagrees) with the decision.
Reason: art. history books expensive; e-book versions are cheaper; can save
money; won't have to carry heavy books

Key Words and Details: going to save money with this e-reader; books are
incredibly expensive; more than two hundred dollars; electronic versions of
the books are much cheaper; going to save a ton of money, art bocks are
heavy; hate having to carry around a backpack full of them; won't have to do
that anymore

Script & ¥
W Student: This is such great news. |'ve been happy all day
long.

M Student: What? What happened?

W: The school is going fo provide us with free e-readers. What
a great decision.

M: | can't say | agree with you. It seems like a huge waste of
money.

Ww: On the contrary, I'm going to save money with this e-reader.
I'm an art history major you know. Most of our books are
incredibly expensive. In fact, some cost, uh, more than two
hundred dollars.

M: Really? You can't be serious.

w: | am. They have lots of color photographs. So that makes
them expensive. But the electronic versions of the books are
much cheaper. So I'm going to save a ton of money.

M: Oh, | see. I'm an English major, so this won't affect me too
much.

W: There's another way I'm going to benefit. Many art books
are heavy. | hate having to carry around a backpack full of
them. | won’t have to do that anymore.

M: That's cool. | suppose lots of art history students must be
as happy as you are.

Translation

W Student: 2 HE A40[0} 317 £ 7|20| U,

M Student: 7 F& 0| Ug=H?

W: St 2|ofA & TR =2 |S MSE oEolok FUZ HE B,
M: Li= 4| 2ol Salictn 2+ 815 2 232 Ydish = JH7} 2 Ziez B,

W 2 HHHE L= 08 MK HE7|2 HIZE Eefei & 7ok LR L=
IS TTSIT Q0] 22| 2 iR ER TU2 20| vl AN2, 2% 2 of,
200€2] 0fxo] HiZ0| S0,

M: FHEo|L? ZIFY 2|7 2o

W: ZIE0[O. B2 el ARIS0| E0{ QE. TJ2iM 20| HIWXIX] SIRIZH TR
BT B 20| M. M H2 =5 HelsiAl 8 Hok

M: 2, 270}, L= Foi7h Eigol2l T2 ofH 20| Lol 23 2 g8ks
OlxIxk= B2 ok

W: L7 sfiE0| £h=  OHE EHO0| 2101, B2 ol MHE2 F49. L= 22 ME0|

715 S04 = 78S ol Ci= 210] 404, Ol o 0k 23A| SHX| Yok= 8 ok
M: & ERiFILL B2 0lSA B3 SUS0] SERI0| LS 7|3 2102t Mz isH.

=l Speaking

Guided & Sample Response .53

The speakers are discussing the fact that the school will give
free e-readers to students next semester. This will let them
purchase electronic books. The woman supports this decision
by the school. She tells the man two reasons that she is in
favor of the school's decision. First, she states that the art
books she must buy are very expensive. However, the e-book
versions are much less expensive. So she will save money.
She also notes that art books weigh a lot. Since she will have
e-books in the future, she won't have to carry around any
heavy books.

Translation

SHIS2 CFS &7|ofl Ss0| SHS0H f2 HAR BE7 |5 Midsl & Zolzls
Abelof| cil =2lstm QIck o|2M SHESE MRS 718 4= Al § Zoict ofxls
simEo| of2f3t ZEE XX|SIT s HXlolH AH0| sfme] HEE Masli= &
71X o0l Zeich Fm, JE= AHo| TIEH0F Bh= Dl MEEO| O HiMiCiD
FABICE SIRISE A TS B o 20| Mict IRt JHEs E2 Bk 2
Z0|ck, JEE= E5 0 MES0| FAH7H 0| LGk HFSic) Heg JuE=
HXIHE 2 € 20|52, FH2 M58 7D chd Tert gl Jolck

Psychology: Short-Term Memory

=l Reading

Translation
7| 71y
MEEE E7| 7242t £7| 712 REE 71K|T UCk ARIS0IA| oM 27
71942 44 & S0 XSE = QU ©7| 7|22 0 B ARFEICE E7] 7|22 R
2 ELE SR ASE 25 QUrh 22 F ARZ0IL HE S0 XSS o= QUr)
20| H2, J2(5t 7|20l ER40| 17| M0 B7| 7|22 ARKEICH o 0k
Q51X BA B W7 71ME FXIEICL O S0l H2E 328 712E A =ich

=l Listening

Notes
Topic: short-term memory
Detail 1: decay
memory fades when don't use; happens with phone numbers
Detail 2: interruption
interrupted in middle of conversation; forget what were talking about

Key Words: decay: memory fading from your mind; phone numbers; remember
it; don't call her for three days; can't recall her number; didn't use it, so it
disappeared; interruption; talking to a friend; received a text message;
restart the conversation; had forgotten what | was talking about

something someone told you almost immediately after hearing
it. For instance, maybe someone told you a person’s name. A
few seconds later, you forgot it. Why did that happen . .. 7 It
happened because of how short-term memory operates.

One reason you forget things quickly has to do with decay.
This refers to a memory fading from your mind. This often
happens with phone numbers. Say that your friend tells you
her phone number. You don't write it down. Instead, you
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remember it. You call her a couple of times. So it's easy to

remember her number. But, um, you don’t call her for three
days. Suddenly, you can't recall her number. The reason is
that this particular memory decayed. You didn't use it, so it
disappeared.

Interruption also happens with short-term memory. This
happens to me frequently. Yesterday, | was talking to a friend
about a family matter. Suddenly, | received a text message on
my cell phone. | stopped talking and read the text message.
Then, | tried to restart the conversation. However, | had
forgotten what | was talking about. Because of interruption, my
short-term memory of that conversation had disappeared.

Translation

M Professor: Ol0l= 52717} Gi2{2S7 0(07 |8 & 04220| H2| EX0KRt
SRl 7|Ho| o4l ZLICE olF S0, ofo =27t of2i20H O AR
OIS Yol F2ig = UsLcE B £ £ o2{E2E2 1 0185 Yo HRiSUCh of
O3 20| UOREINR--7 B7| 71H0| HEst= #2] H20] 32 2o| oigd
ZigdLict,

SIS Wa| 9 El= B 71| O1RE 719 A&} 2RH0| SlgLCE Of=
HEIE0|A 7]290] MME| ARl 2iE 2iolEiich HaiSof QlofM ol2{3t Lo|
E5 Lolguch 71 o242 T o220l ARl Hat HEE Uell FUCHD
7rdsl EAICE EE OIS Blol Hx| giaLIch il 322 718l SLich
HHEEE FU AR 1H0iiA FEkE FLIch J2H HSE 2ifE= 20| SsLich
SIAI2E &, 2i2E0] 3Y E2 JH0liA| HEIE HA| EQkSLICE LR |, t2ES
Dol HSS M2k5H Wl =71 glELict 1 01RE 0j2{8t £ 7(2jo| AE5h|
WEULICE AIZSK] 2247| tHE0), AR 82! Z{0|UE.

TH7| 7|0l Hieh ot LoILICE ol2fEt US HMA| giHs] Loigiich
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Speaking

Guided & Sample Response {@

The professor tells the students about how short-term
memory can disappear. Short-term memories are different
from long-term memories. They only last for a few seconds,
minutes, hours, or days. Then, they disappear. One reason
they disappear is decay. When you don't use a memory, it
decays. The professor says that memories of phone numbers
may decay. If you don't call a person for a while, you might
forget that person’s phone number. Interruption makes short-
term memories disappear, too. During a conversation, the
professor received a text message. He read the message.
However, because of the interruption, he forgot what he'd

been discussing.

Translation

o= SHSAH T] 7120] ARl 2Alol cis ojolz |5t Qick B 71E
7| 7datclan) 2 X 22 2 AR E2 oiE SO0 XS E #olot, Jalm L,
AR H2ICk 7| 71240] AR 8t 71X 01F= 72 AlE] IHS0|Ch AESIX]
flom, 7|2 AREY HRICH ma-= HEEHS 0] thEt 7(240| Mg 4 QIckn LSt
SIS0 =70l HEIE ZX| e, 1 ARZe| Haish= o] Hz2lH| # o= Uk
gial HA| 7| 712S MREXA| ZHECE THRLE BIE =5, s 24 HAXIE
it 3= HIMXIE 210 2uct SERIRE el 20y, ARho| =2lslein AH 22
o] mRict
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Making Plans for a Party

Listening
Notes
The Problem: the woman's heater broke, so her house will be too cold for a
party
Solution 1: have the party at a restaurant

Solution 2: have everyone wear heavy clothes at her house

Script

M Student: Sarah, is everything ready for the big party at your
place? | can't wait to go over to your house tonight.

W Student: Well, I'm having the party, but | don't know if it'll be
fun.

M: How come?

W: The heater at my house just broke. And since it's winter, my
house is going to be freezing cold. I'm trying to figure out what
to do.

M: Hmm . . . Just have the party at a nearby restaurant. Aren't
there lots of restaurants near your house?

W: There are, but | can't afford to take everyone out to dinner.
There are nineteen people coming to the party. | don't have
enough money in my budget to cover everyone's meal.

M: Oh, that could be a problem.

w: Do you have any suggestions?

M: Well . . . Have the party at your house, but contact your
guests before they come. Tell them about the heater. So make
sure that they wear some heavy clothes. You know, they can
bring a sweater or two.

w: That might work. But it would be pretty inconvenient to have
to wear so many heavy clothes indoors. Some of my guests
might not enjoy that.

Translation

M Student: Sarah, 13| ZojlA Zal= Moi$t Oie|of it 2 ZH|7F 857
2= HE| Hoj HE= 7IET A

W Student: S, TIEIE 57 = & 240, 5IX[2t AO|USK| & 22301,
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W= Speaking
Guided & Sample Response 1: First Solution mﬁg

The woman’s problem is that she's having a party at her house,
but her heater broke. Since it's winter, her house is going to




be cold. The man and woman come up with two solutions to
her problem. The first is for the woman to have the party ata
restaurant near her house. The second is for the woman to tell
her guests to wear heavy clothes to her house. | support the
first solution because having the party at a restaurant will be
comfortable for the guests. Secondly, the guests can help pay
for their dinners. If they do that, then the woman won't have to
spend too much money.

Translation

Oix12] Exl= 27 EHollM DIELS 8 2210, kX2 HE2 171 DE0| Hithe

Fo(ct, 742017| M2, 22 ES 2 2ot 2142 2xl0l thal HX it tixk=
5 71X 8 HotE Mzl LD QICt A Himi= oA} E 2| Mgl TElE
U= Z0ICt & Hili= oAt 2HSH F72 22 20 Tl 2210 YE diFes
Zo|ct AlgoilM TE|E sl= 20| &HE0HH T Z40|7| M2, Li= A v 2ioks
KRB SME, £ €52 AAHHIES Xigch=dl UM =28 & == 9Ict 230|
O3 SHECHH, KRl LS B2 =2 XIEsHX| fok= # Zolck

Guided & Sample Response 2: Second Solution {@;@
The woman's problem is that she's having a party at her house,
but her heater broke. Since it's winter, her house is going to

be cold. The man and woman come up with two solutions to
her problem. The first is for the woman to have the party ata
restaurant near her house. The second is for the woman to tell
her guests to wear heavy clothes to her house. | support the
second solution because it will help save the woman money.
She can't afford to go to a restaurant. Additionally, a party at a
person’s house is always fun. Even if it's cold, her guests will

have a great time.

Translation

oixte] Exl= JE7t EollM THEIE & Zi20h|, SEAIZH 7 (7 TR0 Hicks Holch
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Psychology: Peer Reinforcement

W=l Listening

Notes
Topic: psychology; peer reinforcement
Detail 1: how todoit
don't punish bad students; ignore; praise good students; bad students
want praise; will improve behavior
Detail 2: personal example
Danielle never picked up blocks; Greg did; praised Greg; Danielle started
picking up blocks; praised her; no more bad behavior
Key Words: don't punish bad students; ignore them; praise the students
who act properly; bad students notice; want to get praised; start toact
like the students you're praising; Danielle; never cleaning up; Greg; always
put his blocks away: praised him; Danielle started picking up her blocks;
tade sure to praise her; kept putting her blocks away

Script & ¥
W Professor: Many of you are planning to be teachers in the
future. How are you going to control unruly students? You can't

use corporal punishment on them . . . Well, one way is to use

peer reinforcement. | find that it's very effective, especially for
elementary school students.

We often punish bad students. Or we at least chastise them
for misbehaving. But this doesn't always get them to change
their behavior. With peer reinforcement, you don't punish bad
students. Instead, you ignore them no matter what they do.
However . . . you make sure to praise the students who act
properly. The bad students always notice this. And, most of the
time, they want to get praised as well. So they, uh, they start to
act like the students you're praising. If you do it properly, you
can get the entire class acting well.

Here's an example . . . | taught at an elementary school a
few years ago. | had a student named Danielle. She had this
bad habit of never cleaning up. For example, after playtime
ended, she always left her wood blocks on the floor. Greg, on
the other hand, was a great student. He always put his blocks
away. So | praised him for doing that. After a few days, Danielle
started picking up her blocks. Of course, | made sure to praise
her. She liked that. So she kept putting her blocks away.

Translation
W Professor: Oi2{& & Cle= 2R AP E AIZIE MISD AlUCE CfR7| 8ls
shiES ofEH ExlsH 717127 JS0H HHES 712 = gsLIctH- 8, 8t 71A|
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O SEoj2k= HE goldaLict

22l £Z dilo| LI oo S0 HE SUCL =2 Hoj= 2R #E
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e EE] UoiME, gao| LI SPUSA| UE FX] pisLICh i, 0lS0|
2S5l RAE FLIC) SiX|TH-- ZES HES 5 SHISHAHE BieA ZES
SHELICH S4410] LHY SPME2 SHL 015 FREILICE 2|0, theEe] 42 IhisE
RIS HECH TRl OS2, 0, t2iiR0] FEshs SHSME 85|
AEELICE ZEs| AlZSIictH, of2iRER &5 A7t SHIE 4SS =2 e
UsLict

O[E Sl 0 =% XM 2 A Hof| =SShnolM nTE TsLIct
Danielle0|2H= 052 3H40| AUELICEL Ol AT HaIS 5HA| Y= &30)
URAGLICEL GIE S0, S0| ARI0| B Soils, AL LIS 823 Hi=
LFELICE B, Greg {5 SIMO(QIELICE S XMMe| 228 XIRELICt
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53 X7 AEBISLICE B2 M= 9X| g0 Ji48 EFE FUne JHE
FORUSLICE T2HM A ZMMIS] EEES X|RSLCH

=l Speaking

Guided & Sample Response g@)

In her lecture, the professor talks about peer reinforcement.
She states that it’s a good way to make some students
behave. First, she explains how to do peer reinforcement. She
tells the students not to punish or say anything negative to
bad students. Instead, they should praise students who act
properly. The bad students want to get praised. So they will
begin behaving. The professor talks about her own personal
experience. One girl never put her blocks away, but a boy did.
She praised the boy and ignored the girl. Soon, the girl began
to put her blocks away. So the professor praised her. The girl
behaved well after that.

Translation

ZIOJ0 M, 4= Rl T ChaH 0107 [Bha QICH Jl4= 3210] YL ShAS sl
SHIZ HEE 8 = USE Clos Z22 Wofzin Lelch £M, s o %A E2i
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Writing

ao 01
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IEEXEHE Sociology: The Shortage of Primary Care
Doctors

=l Reading

Translation
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ml Listening
Script & ¥z=m

W Professor: Did you read the article | assigned? I'm talking
about the one that mentioned the shortage of primary care
doctors. Now, uh, it's true there are fewer primary care doctors
these days. But | disagree with the writer's reasoning. Here's
why . ..

First of all, there are ways to avoid paying the high costs of
medical school. Yes, medical schools are expensive. However,
most students never pay full price. For example, most medical
schools offer scholarships. By receiving a scholarship, a
student can reduce his or her debt load considerably. There
are organizations that offer scholarships as well. Some groups
and hospitals will pay for a person’s schooling. In return, the
doctor must work for them for a few years after graduating. By
doing that, a person can have zero debt after graduating.

While it's true that hospitals and health clinics have more
paperwork than ever, doctors don't do most of it. Instead,
nurses and administrators do a lot of the paperwork. Doctors
only have to do a small amount. And nurses are being trained
better every year. So now they can complete many of the

48

forms. In addition, administrative employees are responsible for
doing insurance paperwork. So, uh, these aren't the reasons
there are fewer primary care doctors.

Translation
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BE NS Cigsks 7IMS LECal= AYLCE XL of, 252 11 EIE 9JAS0|

SOPBCHS T2 ARIRILICE BHRIEt R 3

o J2IXIS e =2|F--

P, ofichElo] 2 SiHIS XIEsHA

o[l Ci k=

0l2] 20| tishM= S2JaHx] st

S = U= WYo| AUsLCE

Zoli= %2 HI20| SUCL sHXI2L, P2 SHUSS E3F HMS

XIS5HE| pfaUc oI E01, 222 onitistEe &5 FEiEE Xgaich
eSS Y22 SE ARtie| (=SS JEsl ZaAE o st E8
eSS M F= 7 [HERE AUsUCh B HHED WHEO| i0le| nsHIE
XiEal & HYUCk Jof thet 2Eeo=2, siE o= Y 2 Y 32 a5 el
US sfiof BiLICE OEA o2, Y Sof Yo| iR = AUsUCh

B 3 TSA0 ol mEC B2 MEF ERI0| U= 242 AFHOIXIZE 2JMEO|
OS2 LS sh= 242 OFgLICE. i, ZhsAlet 37 ZIRE0| B2 AT EIYE
EUch eSS O3 H2 S2UE sl guUch 32| 7isAKE0| ofid efEe|
HEE U0 USUCE Wb S5 e BASS M2I8) 47 UsUck =8t
AHS0| 23 B3E MR HEUSE HURID AUFUCE T2, of, Ol 1RH =

oS0l F2 9l 01R7} 1K) iU

#ml Tandem Note-Taking

Reading

Main ldea: The United States

is suffering from a shortage of
primary care doctors.

First Supporting Argument: One
reason for this shortage concerns
the great expense of medical
school.

Supporting Details: more than

$ 50,000 a year; other charges as
well; take out loans; huge debt to
repay; make less money than other
doctors

Second Supperting Argument:
Another problem primary care
doctors have Is the large amount
of paperwork they must do.

Supporting Details: work long hours
because of paperwork; can't make
money when doing paperwork

'l Writing

Sample Response

Listening

Main ldea: It's true there are fewer
primary care doctors these days.
But | disagree with the writer's
reasoning.

First Supporting Argument: There
are ways to avoid paying the high
costs of medical school.
Supporting Details: most
students never pay full price; get
scholarships; get. free schooling
from organizations or hospitals
Second Supporting Argument:
Murses and administrators do a
lotof the paperwork.

Supporting Details: doctors do

little paperwork; nurses and other
administrators do it

The reading passage explains why there are not enough
primary care doctors in the United States. The professor,
however, casts doubt on the points made by the author of the

reading passage.

To begin with, the professor peints out that many students
get scholarships to medical school. She says there are many
ways for students to graduate with no debt to repay. This
goes against the argument in the reading passage. The author
states that medical school is very expensive. Plus, students
have to spend money on other costs while in school. As a
result, many of them finish school with huge amounts of debt.

The professor also mentions that doctors do not do very



much paperwork. This refutes the author of the reading
passage, who believes that primary care doctors spend a lot
of time doing paperwork. The professor claims that nurses and
other employees actually fill out most of the forms.

Translation
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Following Directions or Finding New

Ways
Planning
@

Following Directions

Thesis Statement: | would prefer
to have employees who are good at
following directions.

First Supporting ldea: You always
know what to expect from an
employee who follows directions.

Supporting Examples: worker will
follow boss's instructions; will not
do anything different; follow boss's
instructions at part-time job;
boss likes me; coworker doesn't
follow instructions; may get fired

Second Supporting ldea: Employees
that follow directions rarely make
mistakes,

Supporting Examples: cook

at restaurant; follow cooking
directions; no customer
complaints; valuable employee

Conelusion: | think it is much better
for employees to follow directions.

=l Writing

Finding New Ways

Thesis Statement: | believe that
more employees should try

to discover new and different
methods of doing their jobs,

First Supporting ldea: Employees
can use their creativity to come up
with new and different ways to do
their jobs.

Supporting Examples: inventors
use creativity; find newer, better,
and more efficient ways; advance
because of creative spirit

Second Supporting ldea:
Sometimes the methods people
are using cause them to make
mary mistakes.

Supporting Examples: sister is
computer programmer; found
mistakes in programming method;
fixed problem; no more mistakes

Conclusion: By finding new and
different ways of doing their
Jobs, employees can make various
improvements.

Sample Response 1: Following Directions
Some bosses like for their employees to be creative. But |

disagree with them. | would prefer to have employees who are

good at following directions.

First, you always know what to expect from an employee
who follows directions. Thus a boss can tell a worker what to

do, and the worker will do that. The worker will not do anything

the boss did not tell him or her to do. | have a part-time job. |
always follow my boss's instructions. My boss likes me a lot.

However, one of my coworkers likes to do things his own way.

He insists that he knows how to do his job better than my
boss does. My boss dislikes him very much because he does
not follow directions. | think my coworker might get fired soon.

Second, employees that follow directions rarely make
mistakes. Again, at my part-time job, | have never made any
mistakes. | work at a fast-food restaurant. | am a cook there. |
always follow the directions concerning how long to cook the
food and at what temperature. The customers never complain
about the food | make. They do not complain because | follow
directions, so | do not make mistakes. That makes me a
valuable employee at my restaurant.

Creativity can be a positive feature at some jobs. But | think
it is much better for employees to follow directions.

Translation
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Sample Response 2: Finding New Ways

Many workers follow their boss's directions. However, |
believe that more employees should try to discover new and
different methods of doing their jobs.

The first reason | feel this way is that employees can use
their creativity to come up with new and different ways to do
their jobs. We progress because people get tired of doing
activities in the same way. Inventors, for example, try to use
their creativity to find newer, better, and more efficient ways to
do work. Without this creative spirit, our technology would be
much less advanced than it is today. We need people to act
differently than others. That is how we progress.

The second reason | feel this way is that sometimes the
methods people use cause them to make many mistakes.
Therefore, people who look for new and different methods of
doing something can keep from making these mistakes. For
example, my sister works as a computer programmer. One
time, her boss told her to use a certain programming method.
But that method caused her to make many mistakes. She
came up with a solution to that. Now, she does not make any
mistakes at all. By being creative, she solved a problem.

By finding new and different ways of doing their jobs,
employees can make various improvements. And that provides
benefits for everyone. | wish more employees did that instead
of just following directions.

ANSWER KEY - 49



Translation
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Zoology: The American Burying Beetle

Reading
Translation
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Wl Listening
Script & ¥z

W Professor: Look at the picture on page . . . page 104 in your
textbooks. It's the American burying beetle. | doubt any of

you have ever seen one in person. The reason is, um, that the
beetle population has declined recently. The beetles used to
live almost everywhere. Now, they're found only in a handful of
states. Nobody knows why they're disappearing. Some people
have made various suggestions. But each theory has holes in
it.

The theory that humans are reducing the size of the beetle’s
habitat is appealing, but | can tell you that it simply is not true.
First, as more people move to cities, lots of land is reverting to
the wild. And remember that farmers are producing more food
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on less land these days. So the beetles should have more land

to live on nowadays.

It's also impossible that chemicals used by farmers
are interfering with the beetle’s senses. You see, um, the
beetle population started declining twenty years prior to the

widespread use of these chemicals. In addition, remember that

the beetles are not extinct. They're merely endangered. If the
chemicals were harmful, the beetles would already be dead.

After all, farmers have been using them for several decades.

So | don't believe the chemicals are harming the beetles.

Translation
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ml Tandem Note-Taking

Reading

Main ldea: In the past century, the
beetle population in the United
States has declined dramatically.

First Supporting Argument:
Scientists suspect that the
American burying beetle population
has declined because humans have
encroached on its territory.
Supporting Details: hurmans cut
down forests and clear fields; less
land to live on; fewer animals to
feed on

Second Supporting Argument: |t is
also possible that the beetles are
being affected by chemicals used
by farmers.

Supporting Details: acute sense of
smell; use to find food; chemicals
interfere with smell; can't find food;
starve to death

Writing

Sample Response

Listening

Main ldea: Nobody knows why
they're disappearing.

First Supporting Argument: The
theory that humans are reducing
the size of the beetle's habitat is
appealing, but. | can tell you that it
simply is not true.

Supporting Details: people move
to cities: farmers use less land: is
more land for beetles to live on

Second Supporting Argument: [t's
also impossible that chemicals
used by farmers are interfering
with the beetle's senses.

pporting Details: beetles began
disappearing 20 years before
chemical used; chemicals can't
be harmful; if harmful, would have
killed beetles already

The professor discusses the decline of the American
burying beetle. In her lecture, she refutes the two points made

in the reading passage.

First, the professor talks about the decline in the beetle’s
habitat. According to the reading, humans have reduced the



amount of land that the beetles can live on. But the professor
stresses that there is more land available for beetles to live on
today. She says that farmers are using less land and that more
people are living in cities. So there is plenty of land for the
beetles.

Second, the professor mentions the chemicals that farmers
use. She does not believe that they are interfering with the
beetle's senses. This is what the reading passage claims. But
the professor says that the chemical are not harmful. She
believes that, if they were harmful, the beetles would be extinct
by now. Since they are still alive, then the chemicals are not
harming them.

Translation
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Helping Others
Planning
L @
Agree Disagree
Thesis Statement: | strongly Thesis Statement: The young
believe that the younger generation does not provide that
generation today helps people much help these days.

more than previous generations
did.

First Supporting ldea: So many
young people volunteer nowadays.

Supporting Examples: volunteer
at many places; young generation
eager to help: volunteer at
hospital; friends volunteer, too

Second Supporting ldea: Arother
way the young generation helps
others is through the Intermest.
Supporting Examples: friend runs
website; helps people in Africa;
donates money; visits Africa; isa
teenager

Conclusion: Young people today
help much more than people in past
generations did.

=l Writing

Sample Response 1: Agree

First Supporting ldea: The young
generation today is extremely self-
centered.

Supporting Examples: teens look
out. for selves; play video games;
hang out; help less than parents
and grandparents did

Second Supporting ldea: In the
past, groups that helped others
had many members, but that is
not the case today.

Supporting Examples: Boy
Scouts and Girl Scouts had
many members in past; have few
members today

Conclusion: Young people provide
assistance for others much less
than people in previous generations
did.

| strongly believe that the younger generation today helps
people more than previous generations did. | think this for a

couple of reasons.

One is that so many young people volunteer nowadays. You
can often see young people volunteering at hospitals, libraries,
homeless shelters, and other places. These places are full of
young people lending a hand. In the past, you rarely ever saw
people doing that. But today's generation of young people truly
wants to help people out. In fact, they are eager to provide
assistance. | volunteer at a hospital twice a week. Most of my
friends also volunteer their time. We do not want any money.
We just want to improve people’s lives.

Another way the young generation helps others is through
the Internet. Thanks to the Internet, it is possible to help people
all around the world. One of my friends runs a website to help
starving children in Africa. He accepts donations and then
sends the money to charity groups in Africa. He also organizes
volunteers to visit Africa. He has been there twice himself.

And he is still a teenager. There are many young people who
use the Internet to help others. This was not possible for past
generations to do.

It is easy to see how the young generation helps many
people in need. Young people today do that much more than
people in past generations did.

Translation
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Sample Response 2: Disagree

| have heard some people argue that the young generation
helps others more than previous generations. | could not
disagree more with this statement. The young generation does
not provide that much help these days.

To begin with, the young generation today is extremely self-
centered. They have no interest in helping other people.
Today's young people only look out for themselves. | do not
know of any teenagers who volunteer. Instead, they stay at
home playing video games, or else they just hang out with their
friends. Those actions do not help others. Those teenagers’
parents’ and grandparents’ generations helped others much
more than they do.

In the past, groups that helped others had many members,
but that is not the case today. For example, the Boy Scouts
and Girl Scouts were quite popular in the past. These groups
do many activities. And one of them is volunteer work. In the
past, the Boy Scouts and Girl Scouts had large memberships.

ANSWER KEY - 51



But they are shrinking in size today. In fact, many schools have
no students in the Boy Scouts or Girl Scouts. One reason is
that young people have no interest in helping others. So they
do not want to join these groups or others like them.

| wish that the young generation wanted to help others,
but that is not the case. Young people provide assistance for
others much less than people in previous generations did.

Translation
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Astronomy: The Ashen Light of Venus

=l Reading

Translation
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Listening
Script & ¥

M Professor: Ever since Galileo first looked at the heavens with
his telescope, people have scoured the night skies. During
this process, they've learned a lot about the solar system. Yet
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there's one mystery we haven't solved. I'm referring to the
Ashen Light of Venus. Some people believe they know what
causes it, but | think they're wrong. Every theory has problems.

A few scientists claim that lightning causes it, but | happen
to disagree with them. First of all, while there is lots of
lightning on Venus, it's not that bright. There's no way that any
telescope could see lightning on Veenus from Earth. Remember
that people have observed the Ashen Light since the 1600s.
And their telescopes weren't any good. They couldn't possibly
have seen weather conditions on another planet.

The suggestion that Earth's atmosphere creates the illusion
of the Ashen Light is wrong as well. Think about it . . . People
have observed the light from everywhere on the planet. They've
seen it in all kinds of weather conditions. It's just not possible
that all weather conditions on Earth create the illusion of Ashen
Light on Venus. | don't believe it's possible. There has to be an
explanation for the light. But neither of those two is correct.

Translation
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#ml Tandem Note-Taking
@ @
Reading Listening

Main ldea: No one is sure what
causes the Ashen Light of Venus

Main ldea: Every theory about
the Ashen Light of Venus has

to oceur. problems.
First Supporting Argument: First Supporting Argument: A few
Lightning causes it. sclentists claim that lightning

causes it, but | happen to disagree

Supporting Details: are storms
with them,

on Venus; is known to be much
lightning on Venus; maybe more
than on Earth

Supporting Details: lightning isn't
that bright; people saw Ashen
Light with poor telescopes;
couldn't have seen weather from
Earth

Second Supporting Argument:

The suggestion that Earth's
atmosphere creates the illusion of
the Ashen Light is wrong as well.

Second Supporting Argument:
The Ashen Light is not 2 product
of Venus but comes from Earth
instead.

Supporting Details: Earth's
atmosphere distorts images;
certain weather conditions;
creates illusion of light Supporting Details: have observed
light from everywhere on Earth;
different weather conditions; can't

all ereate illusion



=l Writing

Sample Response

The lecturer challenges two arguments that the reading
passage makes about the Ashen Light of Venus. In doing this,
the lecturer argues that no one knows what causes the light to
occur.

The lecturer first talks about lightning causing the Ashen
Light. The lecturer states that lightning cannot be so bright that
people on Earth can see it. He notes that people observed it
centuries ago. But their telescopes were of poor quality. They
could not have identified weather conditions on Venus. So the
lecturer challenges the claim made in the reading that lightning
causes the Ashen Light.

The lecturer further refutes the notion that Earth's
atmosphere causes an illusion that creates the Ashen Light.
The writer claims that humidity, rain, and snow can cause the
ilusion of Ashen Light. But the professor says that people have
observed the Ashen Light in all kinds of weather conditions.
They have also seen the light from many different places on the
planet.

Translation
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Sharing Scientific Discoveries

=l Planning

Agree
Thesis Statement: | prefer that

sclentists share the news of their
discoveries with others.

First Supporting ldea: They ought
to let others, such as scientists,
know about the discovery because
they can help advance human
knowledge.

Supporting Examples: can benefit
millions; if one person knows,
others don't benefit; should share
knowledge: can advance society

Second Supporting ldea: This
knowledge can sometimes help
ather people make even more
advances.

Disagree
Thesis Statement: | disagrse with
the statement that scientists
should share news about their
discoveries with other people.

First Supporting ldea: Scientists
have no obligation to share their
knowledge with others.

Supporting Examples: fund own
research; don't have to share: no
obligation to others

Second Suppoerting ldea: Some
knowledge is too dangerous to
share.

Supporting Examples: found
genetic makeup of deadly flu;
others could use for bioterrorism;
could kill milliens; keep chemical and
nuclear weapon info secret, too

Conclusion: Scientists should not
have to share their discoveries
with others if they do not want to.

Supporting Examples: doctors
working on cure for disease; other
team finds vital info; if share,
doctors can find cure for disease;
if don't share, can't find cure

Conclusion: Feople should announce
all of their scientific discoveries to
the world.

=l Writing

Sample Response 1: Agree

When scientists make a new discovery, they have a choice:
They can announce the discovery. Or they can keep it secret.
| prefer that scientists share the news of their discoveries with
others.

They ought to let others, such as scientists, know about the
discovery because they can help advance human knowledge.
There are many scientific discoveries that can benefit millions
of people around the world. However, if only one person
knows about it, then no one gains from that knowledge. And
if something happens to that person, the knowledge could be
lost forever. Knowledge should be shared with others. This will
improve the overall amount of knowledge humans have. And
that will let us advance society further.

In addition, this knowledge can sometimes help other
people make even more advances. For example, perhaps a
team of doctors is working on a cure for a disease such as
cancer. The team might lack some important information. If
another group discovers that information and announces it
to the world, then the other team of doctors can use it. They
might be able to cure the disease they are studying. But, if the
group keeps its discovery a secret, then the doctors might not
find a cure for the disease.

Obviously, people should announce all of their scientific
discoveries to the world. It will help people out considerably.
And it could save a lot of lives.

Translation
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Sample Response 2: Disagree

| disagree with the statement that scientists should share
news about their discoveries with other people. | do not believe
that scientists have to do that at all.

Many scientists do research to satisfy their own personal
curiosity. So they have no obligation to share their knowledge
with others. After all, these scientists use their own money to
fund their research. No one else is paying for it. So they can do
whatever they want with their research. If they want to share it,
that is fine. If they do not want to share it, that is fing, too. We
might wish that they would share important discoveries. But
they do not have to.

Furthermore, some knowledge is too dangerous to share.
| recently read about some scientists that had determined the
genetic makeup for a deadly strain of the flu. If they released
that information, other people could use that to create a
very harmful virus. Those people could use the virus for
bioterrorism. That could kill millicns of people. Additionally,
| think that discoveries about chemical or nuclear weapons
should remain secret as well. In my opinion, it is sometimes
better not to reveal certain knowledge to others.

Scientists should not have to share their discoveries with
others if they do not want to. In some cases, it is actually
desirable that they not share their knowledge. The results
could be disastrous.

Translation
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Zoology: The Ivory-Billed Woodpecker
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Reading
Translation
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Wl Listening
Script & ¥z

M Professor: For many years, people believed that the ivory-
billed woodpecker had gone extinct. However, in 2004, a team
of scientists from a university went to a swamp in Arkansas.
They claimed they found evidence the woodpecker was still
alive. Some people don't believe them though.

Then, a little later, a person produced a picture. According
to him, the bird in the picture was an ivory-billed woodpecker.
The quality of the picture was low. So some people doubt that
it's actually an ivory-billed woodpecker. |, however, disagree.
First, the person saw the bird. He knows a lot about birds. And
he claimed it was an ivory-billed woodpecker. So, uh, even
though the picture isn't good . . . we have an eyewitness. He
got an up-close look at the bird. And | believe him.

Sometime later, some scientists started actively looking for
ivory-billed woodpecker nests. They didn't find any. That, they
said, proved that the birds were extinct. Well, um, let me tell
you about their nesting habits. These birds don’t build nests
close to one another. In fact, you might only find a single nest
in an area covering several square kilometers. In other words,
| wouldn't expect the scientists to find any nests. They're just
too hard to find in general.
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=l Tandem Note-Taking

Reading Listening

Main Idea: The ivory-billed
woodpecker is considered extinct
today.

Main Idea: It is possible that the
birds are still alive today.

First Supporting Argument: The
person who took the picture
believes the bird is an ivory-billed
woodpecker.

First Supporting Argument: The
plcture does not really show an
ivory-billed woodpecker.
Supporting Details: picture is
low quality: can't get details; no
distinct markings in picture

Supporting Details: person saw
the bird; knows a lot about birds;
professor believes him

Second Supporting Ar it S
In the past few years, some
researchers began looking for
ivory-billed woodpecker nests yet
found nothing.

d Supporting Argument:
Finding ivory-billed woodpecker
nests is very difficult.
Supporting Details: don't build
nests close to one another; only
one in several square kilometers;
too hard to find nests

Supporting Details: explored
swampland, didn't find woodpecker
riests; no evidence are still alive

=l Writing

Sample Response

The professor believes that there is evidence showing
that the ivory-billed woodpecker is still alive. The professor's
arguments challenge those made by the writer of the reading
passage.

The professor states that there is a recent picture showing
an ivory-billed woodpecker. While the picture is not clear, the
professor says that the person who took the picture knows
about birds. The photographer believes the picture shows an
ivory-billed woodpecker. So the professor believes him. This
counters the argument made in the reading passage. The
writer claims that the picture does not show the distinctive
colors of the ivory-billed woodpecker.

The professor further claims that he expected the
researchers looking for ivory-billed woodpecker nests to fail.
He mentions that the birds build their nests very far apart. As a
result, finding their nests in swampland would be impossible.
This refutes the writer of the reading passage. The writer
believes that the scientists should have found some nests in
the swamp.

Translation
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Setting Aside Land to Protect Animals

and Plants

W=l Planning

®
Agree
Thesis Statement: | consider it
impartant for the government
to set aside land to protect wild
animals and plants for future
generations.

First Supporting ldea: We must
have a diversity of species on the
planet.

Supporting Examples: many
species extinct or endangered;
dying because of humans; cut
down rainforests; pollution; should
protect

Second Supporting ldea: Flants
angd animals provide many benefits
to humans.

Supporting Examples: medicines
come from plants and plant.
products; undiscovered species;
could cure illn ordi

Disagree

Thesis Statement: | do not like the
idea of the government setting
aside land to protect wild animals
and plants.

First Supporting ldea: | do not
believe that there are many
animals or plants in danger of
going extinct.

Supporting Examples: most people
live in cities: cover small area; other
areas unpopulated; lots of room
for plants and animals

Second Supporting ldea: The
government should not be involved
in something like this.

Supporting Examples: government
is inefficient; let private groups
preserve land; will do better job
than government

Conclusion: Humans are rapidly
destroying the habitats of animals
and plants, so the government
should set aside land to preserve
them,

ml Writing

Sample Response 1: Agree

Concl The government has
no business getting involved in
creating preserves for animals and
plants.

| agree with the statement. | consider it important for the
government to set aside land to protect wild animals and

plants for future generations.

To start, we must have a diversity of species on the planet.
Nowadays, many animal and plant species have gone extinct
or are endangered. Human actions are often the reasons
that these animals and plants are dying. For instance, when
humans cut down rainforests, they destroy the habitats of
many animals and plants. In addition, pollution created by
humans kills many other species. It is therefore important to
set aside land for animals and plants to make sure we have a
wide variety of species on the planet. We ought to protect all

of these species.

Also, plants and animals provide many benefits to humans.
For instance, there are a lot of medicines that come from plants
and plant products. There are also many species of plants
that humans have not discovered yet. Many of these plants
are in the Earth’s rainforests. It is possible that some of these
plants could be the key to curing illnesses or diseases such
as cancer. Because of that, we should make sure to preserve
the lands that these plants grow on. Saving these plants could

help humanity in the future.

Humans are rapidly destroying the habitats of animals and
plants, so the government should set aside land to preserve
them. Doing that will greatly help future generations.
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Sample Response 2: Disagree

| do not like the idea of the government setting aside land
to protect wild animals and plants. There are two reasons that |
feel this way.

First of all, | do not believe that there are many animals or
plants in danger of going extinct. There are huge areas around
my country that have no people in them. In fact, almost the
entire population of my country lives in large cities. These cities
take up very little space in the country. The rest of the country
is mostly unpopulated. So there is plenty of space for animals
to live and plants to grow. Therefore they already have enough
room. We do not need to set aside more land for them.

Another reason is that the government should not be
involved in something like this. Governments do not do
anything efficiently. If the government sets aside land, then
there will likely be many problems. On the other hand, if
private groups want to purchase land to preserve it, then |
support their decision. People who genuinely care for nature
are members of these private groups. If they create nature
preserves, then they will probably be very effective. As a resuilt,
plants and animals will be preserved without any government
involvement.

The government has no business getting involved in
creating preserves for animals and plants. So | disagree with
the statement.
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Marine Biology: Turtle Exclusion Devices

p.166

=l Reading

Translation

MRPEOISE - MRE e HRSE - S5 oliKX| 2= 358 Tk 0f2i8t
J80= MR 02| Btk 22 SESE TEIch T2k, MRE0IS2 victHs
0= HIX| ZHITED)7t = 22 MEEILL TEDE HSE0| 220i|M Lzt
QTS SHECE M2tM &2 Ye 7SE0] E1 oIt SIXI2H 2 TEDS0| MU=
EE5HK| oo U}, mREA MSECIES| 222 QlEl offs| B2 HEE0| 51 Uk

0[2fEt EXIS SHZSl7| sl HH ARIS0| CiS WHES Migkstn 2ick shte)
oloiciols 2E MSE0IS0| 0HE Olct 288 EHOZ Ho g2l= Aolch HES2
SEUM =52 T 4 gl T2 27| £0] LAE =86 | fish BHoR Z2il0t
SiCh B2 HSE0| 220 2 Q)2 o 20| WA S=0t. X2 MRT0IE0|
O5S U £ Zulz B2 2o 22|, AMsls M52 = F0is Zolct

T CHE M2t TEDS Of 34| 2i=s Zo|ch 22 BictHEES Hgs| 2 37|12
Xi2ich oS S0, 3% F24ICHSS2 Zol7t 25018 ojdo| # = Utk Rl
1302203 Olyo= LIz 4= Qlrt 0|xfE 7{Ci2t H2EE TEDUIM MALIE +
SiCt et IS 2o} 34| B2, HES2 ML £ A 2 Zoldt,
02|10 MPEOIEE IS St Yol MPE TG 4= 9ls Aot

&l Listening
Script & ¥z

W Professor: TEDs are a great idea. They've saved the lives of
many turtles. Yet sea turtles are endangered. We should do
everything possible to save them. Some people have made a
few suggestions. Yet | don't think they're satisfactory.

One suggestion is to instruct shrimpers to bring their nets
to the surface every few minutes. That's a great idea, but it's
impractical. Firstly, shrimpers insist that their nets need to be
underwater for a long period of time. Otherwise, they won't
catch enough shrimp. Also, even if this suggestion becomes a
law, it would be impossible to enforce. After all, you can’t put
government agents on every boat. | just don't see how this
suggestion would work.

Some also claim that TEDs should be made larger, but |
don't think that's practical either. There are two reasons why
... One, the shrimpers say that, uh, increasing the size of
TEDs might cause them to catch fewer shrimp. Two, the
shrimpers already paid a large amount of money to purchase
TEDs for their nets. If we make them buy larger ones, they'll
have to spend even more money. Shrimpers don't make that
much money to begin with. Adding extra costs might cause
some to go bankrupt.
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=l Tandem Note-Taking

Reading

Main ldea: TEDs should save sea
turtles, but they do not always
work properly.

First Supporting Argument: One
idea is to make sure that all
shrimpers bring their nets to the
surface every few minutes.

Supporting Details: turtles can't
breathe underwater: need air; bring
nets up to surface quickly; turtles
don't drown

5 -3

pporting Ar
Feople should make TEDs larger.

Supporting Details: some turtles
very large; if TEDs larger, then big
turtles can escape

=l Writing

Sample Response

Listening
Main ldea: The suggestions made
to save sea turtles are not.
effective.
First Supporting Argument: Having
shrimpers bring their nets to
the surface every few minutes is
impractical.
Supporting Details: shrimpers say
nets should be underwater long
time; impossible to enforce
Second Supporting Argument:
Some also claim that TEDs should
be made larger, but | don’t think
that's practical either.

Supporting Details: larger TEDs
means will catch fewer shrimp;
TEDS are expensive; might make
shrimpers go bankrupt

The lecturer claims that two of the solutions to the killing of
sea turtles by shrimpers would not be effective. She challenges
the claims made in the reading passage. The writer of the
reading passage believes both solutions will work.

The first point the lecturer challenges concerns making
shrimpers raise their nets every few minutes. According to
the reading, this will let sea turtles caught in the nets breathe.
Thus the turtles will not drown. The lecturer thinks this will not
work for two reasons. First, the shrimpers will not agree to it.
Second, no one can make sure the shrimpers will obey the

law.

The second point the lecturer challenges concerns the
size of turtle exclusion devices (TED). The lecturer says that
shrimpers will not want to buy more TEDs. Also, larger TEDs
will make shrimpers catch fewer shrimp. The writer of the
reading passage thinks that increasing the size of TEDs will let
large turtles escape. The lecturer disagrees though.
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A Good Location or a Good Friend

Planning
o
4 Good Location

Thesis Statement: When | travel,

| think that the location is more
important.

First Supporting ldea: When | travel,
love to visit new places.
Supporting Examples: took trip to
Europe, visited several cities; saw
many sights; had greatest trip of
life

Second Supporting ldea: The
location can turn a good tripinto a
great one.

Supporting Examples: cousin took
trip to Hawail; argued a lot; should
have had bad trip; but were in
Hawall, so enjoyed their vacation

Conclusion: It is clear to me that
the location is the most important
thing when going on a trip.

Writing

@
A Good Friend
Thesis Statement: A good friend

is much more important when
traveling than going to a good
location.

First Supporting ldea: There are
very few people who enjoy traveling
alone or with people they dislike.
Supporting Examples: friend
provides companionship; enjoy
experiences more when with friend
Second Supperting ldea: A good
friend can also help make a bad trip
agood one.

Supporting Examples: went to
U.S. with friend: car breke down;
expensive to fix; lost time; friend
was positive; both had fun

Conclusion: | always make sure to
travel with a good friend. That way,
I know that | will enjoy my trip.

Sample Response 1: A Good Location

Some people prefer to go on trips with a good friend.
However, when | travel, | think that the location is more

important.

When | travel, | love to visit new places. As a result, the
location is of great importance to me. Last year, | went to
several cities in Europe. | visited Rome, Venice, Athens, and
Prague. | saw all kinds of amazing sights in those cities. |
got to visit several museums and art galleries, too. It was the
greatest trip of my life. For me, the location of my trip was
crucial. | could not have had the same experience by traveling

to a place near my home.

Additionally, the location can turn a good trip into a great
one. For example, my cousin and his family traveled to Hawaii
last year. On the trip, everyone in his family argued all the
time. They got into several fights. Normally, that would make
a vacation be terrible. However, they were on vacation in a
tropical paradise for two weeks. So, even though they fought a
lot, all of them still had a great trip. And the reason for this was

the location of their trip.

It is clear to me that the location is the most important
thing when going on a trip. | recommend that everyone think
carefully about where they are going on their next vacation.
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Sample Response 2: A Good Friend

A good friend is much more important when traveling than
going to a good location. Let me explain why | feel that way.

There are very few people who enjoy traveling alone or
with people they dislike. Traveling alone can be a very lonely
experience. And traveling with people you dislike is never fun
either. That is why you need a good friend to go on a trip with.
A good friend will provide you with companionship. You will not
only have great experiences on your trip, but you will also enjoy
them more because of the person you are with. You should
always take a good friend with you when you travel.

A good friend can also help make a bad trip a good one.
Two years ago, my friend and | went on a trip to the United
States. We rented a car on that trip. But our car developed
an engine problem while we were driving across the country.
Because of the engine problem, we had to pay several
hundred dollars for repairs. And we lost a couple of days on
our trip as well. We could have been miserable. But my friend
stayed positive. She made sure that we both had fun. Thanks
to her, our trip was not ruined.

I always make sure to travel with a good friend. That way, |
know that | will enjoy my trip.
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Actual Test

{ Actual Test 1 }

Answers
1. CA) (Vocabulary Question)

2. (C) (Sentence Simplification Question)
3. (B> (Negative Factual Question)

4, (C) (Rhetorical Purpose Question)

b

. (B (Factual Question)
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W1 Professor: Jenny, welcome back from Spain. It's great to see
you again.

W2 student: Thanks, Professor Dillard. It's good to be back
home as well.

wi1: So, tell me . . . How was your semester abroad in Spain?
Did you enjoy your time there?

w2: “It was the most amazing three months of my life. | had
such an incredible semester in Spain, | got to do so many
things . . . see so many places . . . learn so many things. It's
quite a shame that | had to come back when | did. But |
have to get a job for the summer, so here | am.

wi: Well, it sounds like you had a great experience. | know it
would be nice to get to spend more time there. Um, but at
least you got to go in the first place.

wz: That'’s true.

Wi: So, uh, what brings you to my office?

wz: Next year's classes.

W1: Oh, that's right. You haven't registered yet, have you?
W2: That's correct. | have the list of classes | want to take right
here. Take a look . . . | shouldn’t have any problems getting
into any of them.

Wi:Hmm ... Yes, | don't imagine any of these classes will
be full. That's a good thing since most students have already

registered. Oh, | need to ask . . . Which requirements do these
classes fill?

w2: Two of them are for my major . .. One is my last

science requirement. And the other two are electives. In the
spring semester next year, I'll only have to take two more
requirements in order to graduate.

wi: Excellent. You're really on the ball. Okay, let me sign this
form, and then you can take it to the Registrar's Office.

w2: Thanks so much, Professor Dillard.
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W Professor: Another animal that lives around the Galapagos
Islands is the giant tortoise. Please note that the giant tortoise
is not exclusive to that area. It lives around the Seychelles
Islands and the Mascarene Islands in the Indian Ocean,

too. Many years ago, it lived along the coasts of both South
America and Madagascar. It became extinct in those places
though.

Compared to other torioise species, the giant tortoise is, uh,
as its name suggests, very large. It can grow to be nearly two
meters in length. And it can weigh as much as 300 kilograms.
Direct your attention to the screen, please. Here is a picture of
a zookeeper feeding a giant tortoise . . . Look at how big it is
in comparison to the man. Here's another shot for you . . .

The giant tortoise is among the longest-lived creatures on
Earth. It can live for more than a century. One tortoise that was
kept in captivity in an Australian zoo was 170 years old when it
died. Incredible, isn't it . . . 7 As you might expect, because the
giant tortoise lives so long, it develops slowly. It doesn't reach
its mating age until it is between twenty and twenty-five years
old. The males are bigger than the females. Additionally, it's the
males that initiate mating. Sometimes males act aggressively

toward other males when they're competing for mates. They
stretch their necks very high and bite each other. Here's a
picture of that for youto see . . .

After mating, a female lays her eggs in sandy soil and then
buries them. Most tortoises lay between six and sixteen eggs.
The number mainly depends on the subspecies of tortoise.
The eggs themselves are round and about the size of, oh, a
tennis ball or a billiard ball. When the eggs hatch, the baby
tortoises are quite small. They're about eight centimeters long.
Since they hatch underground, the first thing the babies must
do is dig their way out of the sand.

M Student: Don't the parents watch over their eggs until they
hatch?

w: No, they don't. That's behavior more common in birds than
in reptiles. The parents actually play no role after laying the
eggs. As a result, the life of a baby giant tortoise is filled with
danger. Many fall victim to predators. Birds in particular feed
upon them. Dogs, cats, and rats have been known to attack
and eat them as well. So, uh, many babies fail to survive to
adulthood. However, those that survive long enough for their
shells to become fully grown are extremely hard to kill. While
their necks and tails are vulnerable, the tortoises can quickly
pull them into their protective shells.

Interestingly, the giant tortoise lacks teeth. Instead, it has
sharp, bony ridges on its mouth that help it crush food. It
mainly eats plants. It drinks water but can survive for a long
amount of time without it. The reason is that the tortoise gets a
lot of the moisture it requires from the food it eats.
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M Professor: Economists often mention the term complimentary
goods. This refers to two or more products that go well with
one another. Here are some examples . . . Uh, hotdogs and
hotdog buns are complimentary goods. So are shoes and
shoelaces. And, uh, cars, of course, require gasoline to run.
That makes cars and gasoline complimentary goods as well.

Why do we use this particular term? Well, let me tell you . . .
In many cases, when customers buy one of these goods,
they tend to purchase the other as well. These complimentary
goods may be absolute necessities . . . Uh, a car won't run
without gas, for instance . . . Or they may simply be good
options to buy. For example, you don’t need hotdog buns
when you buy hotdogs. But hotdogs taste better when you eat
them on buns, don't they?

People typically associate complimentary goods with one
another. As a result, businesses group them together to make
shopping more convenient for their customers. That's why
| know | can always find a pair of shoelaces at a shoe store.
Likewise, | will always be able to buy hotdogs, hotdog buns,
and, um, condiments such as ketchup and mustard at a
supermarket. This is the reason there are so many specialty
stores. Think of that party shop near campus. You can get
everything you need for a party at that store. It specializes in
complimentary goods.

Some complimentary goods go together most of the time.
Again, let me mention shoes and shoelaces. Most shoes
require shoelaces. Without them, the shoes are pretty much
worthless. They won't fit properly as they will slide off your feet.
Other complimentary goods go well with one another but don't
need to be together all the time. Let’s talk about hotdogs and
hotdog buns again. Many people eat hotdogs on buns. But
not all of them do. Some people eat hotdogs plain or put them
in soups or pasta dishes. So it's not always necessary to have
hotdog buns to eat hotdogs. The same is true of condiments.
Ketchup and mustard are complimentary goods for hotdogs,
but they're not always necessary. For instance, | never eat
mustard. So mustard and hotdogs aren't complimentary
goods for me. But they are for other people.

Finally, there are products that won't work without a
complimentary good. Motor vehicles and gasoline are the best
example. A motor vehicle . . . uh, acar. . . needs fuel to move.
Without it, it's useless. A long time ago, oil companies realized
the profits to be made by selling gas. They set up their own
distribution centers: gas stations. These gas stations became
centers for other complimentary goods besides fuel. Think
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about what many gas stations sell . . . They sell oil, tires, and
other spare parts for cars. These are all complimentary goods
that cars must have in order to run.
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W Student: Jeremy, do you mind if | come in for a moment? |
need to speak with you about something important.

M Resident Assistant: Sure, Sarah. Come on in and have a seat
in that chair. Uh, you don't look very happy. What's the matter?
W: My next-door neighbors are driving me crazy. | don't think |
can stand listening to their music any longer.



M: Uh, are you referring to Lewis and Walt?

W: Yes, those two. They play their music way too loudly. And
they do that day and night. | can never concentrate on my
studies when they're playing their music.

M: Have you tried asking them to turn their music down?

w: Of course | have. |'ve asked them a bunch of times. So has
my roommate. And so have Jason and Todd. Uh, you know
... They're in the room directly across the hall from Lewis and
Walt.

M: And what was their reaction when you asked them to be
quiet?

W: They said no. Then, they slammed the door in my face and
turned their music up even louder. They do that to everyone.
They're so rude. Surely you must have heard their music. |
mean, uh, you live here in the dorm, too.

M: Yeah, but I'm not around that much, so | wasn't aware of
the problem until now. | guess they're bothering lots of people
... Okay, uh, I'm going to have a chat with them.

W: Thanks. | appreciate it.

M: Those two need to learn to be good neighbors. I'll make
sure they turn their music down. And, if they behave improperly
again in the future, let me know immediately. I'll put a halt to
that. | don't want there to be any problems like that in this
dorm.
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17. (C) (Gist-Content Question)

18. (D (Detail Question)

19. Diamond:[1],[3], Ruby: [2]

(Connecting Content Question)

20. (B) (Understanding Attitude Question)
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M Professor: There are dozens of gemstones. They include
diamonds, rubies, sapphires, and emeralds. Most gemstones
are forms of various minerals. However, each has undergone
some type of change from its original mineral. As you surely
know, people have considered gemstones valuable ever since
ancient times. There are two reasons for that. First, they are
both beautiful and lustrous. Second, most gemstones are rare.
So their scarcity makes them increase in value.

One thing you ought to know about gemstones is that they
look much different when people dig them out of the ground.
Uh, | mean, they aren't shiny at all. In fact, their appearance
is quite rough. They're often embedded in rocks and dirt.

The gemstones therefore need to be cleaned first. Then, they
are polished to make them shine more brightly. Sometimes,
jewelers cut them down to certain sizes so that they can be
used to make jewelry such as necklaces, pendants, and rings.
Additionally, some gemstones have facets. These are small, flat
sections. Jewelers cut them in symmetrical patterns on gems.
Gemstones with facets reflect light much better than ones
without facets. Diamonds are almost always cut with facets.

Now, uh, what about the uses of gemstones? Okay,
obviously, we use them for jewelry. But there are a number of
other uses for some gemstones. Most of them are industrial
in nature. Think about diamonds for instance. They are the
hardest substance known to man, so they make excellent
cutting tools. Many types of industrial saws have diamond-
edged blades. Oh, but most of the diamonds used by
industries are artificial, not natural. Real diamonds are almost
always used to make jewelry. But here's another example.
Rubies were used in some of the first lasers that were made
decades ago. And many advanced lasers utilize artificial rubies
these days.

There are also some who believe that gemstones have
special healing properties. This is a belief that dates back
thousands of years. For instance, the ancient Egyptians
thought that lapis lazuli . . . uh, that's a kind of gemstone . . .
they thought that lapis lazuli could cure a headache if it was
placed on a person’s head. It's also supposed to help ease
high blood pressure in people. Some people claim that
moonstones, quartz, and agates can balance people’s
emotions if they are worn as jewelry. In addition, jade, opal,
amethyst, and turquoise are said to be able to heal people.

Now, um, many people are skeptical about what | just
said. This is actually a somewhat controversial topic. But large
numbers of people swear that they feel better when they have
certain gems on their bodies. How does this work? Well, one
theory is that the sun's light waves enter the body differently
when they pass through a gemstone. This causes the light
waves to have a different effect on the body. | have no idea
if that’s true or not. However, there is some evidence that
supports this claim.
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W Professor: Australia has been inhabited for more than 40,000
years. The people who first settled it were the Aborigines.

The descendants of these people siill live there today. While
Australia was settled long ago, it was unknown to the rest of
the world for centuries. It wasn’t until the Age of Exploration
that it was rediscovered. And it wasn't settled by any
Europeans until the 1700s.

Australia was one of the last places the, um, the Europeans
discovered. There were, however, rumors about its existence
for a long time. Some sailors may have seen it, but they never
landed there. The first actual landing on Australia by Europeans
happened in 1606. It was a ship from the Netherlands . . . uh,
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a Dutch ship, that is, that first visited the continent. Later, both
Dutch and Spanish ships sighted Australia and sometimes
made landfall during the 1600s. But nobody founded a
permanent settlement. The Dutch managed to chart most of
Australia’s coasts though. And Dutch explorers also discovered
New Zealand, Tasmania, and Fiji during that time.

M Student: Why didn’t the Dutch settle there?

W: The Dutch basically saw the land as having no value. You
see, um, Australia has a harsh climate in many places. In
addition, the Aborigines led a very primitive lifestyle. They didn't
trade in gold, silk, or spices. So the Dutch realized there were
no immediate profits to make. Oh, and Australia is rather far
from Europe, so any colony would have needed to be mostly
self-sufficient. A few people proposed colonizing the land, but
nothing ever came of their ideas.

In 1770, though, Captain James Cook, the famous British
explorer and navigator, charted the east coast of Australia. He
noticed that Botany Bay, a natural harbor, might be a good
place for a settlement. Cook subsequently claimed the land for
Britain. The British were initially slow to colonize the land. Then,
the American Revolution ended in 1783, and the British lost
the American colonies. Why is that important . . . 7 Well, for
decades, the British had transported criminals to the American
colonies. These convicts worked as indentured servants until
their sentences ended. But, when the American Revolution
began in 1775, new convicts couldn’t be sent to America
anymore. Instead, many were kept in prisons and onboard
ships in British harbors. The conditions in these places were,
uh, simply atrocious.

Joseph Banks and James Marta then came up with a plan.
Both men had visited Australia with Cook, so they were familiar
with the land. They proposed that a colony be established
at Botany Bay. Maria suggested that convicts could settle
the land there. The proposal was accepted. So eleven ships
departed England and arrived at Botany Bay in January 1788.
There were more than 1,000 settlers aboard the ships. Most of
them were convicts. The leaders soon decided to leave Botany
Bay. They moved to Port Jackson, which they considered
a better site. This became the first European settlement in
Australia. Today, Port Jackson is where Sydney is located.
Now, as for that colony, here’s what happened . . .
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2. (D) (Making Inferences Question)
3. (B) (Detail Question)
4. (C) (Understanding Attitude Question)
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W student: Professor Roberts, I'm so glad you're in your office.
Do you mind if | come in for a moment?

M professor: Not at all, Cathy. Please be my guest.

W: Thanks so much. Um, | have a problem, and | think you can
help me. At least, uh, | hope you can help me.

M: How so?

W: You're teaching a seminar next semester, right? Uh, the
seminar on the history of colonialism in the Americas | mean.

M: Yes, that is correct. It should be a fun class. | taught it three
years ago, and the students seemed to enjoy it a lot then.

W: I'm sure they did. Well, uh, anyway, | tried to register for
the class, but | wasn't allowed to. Apparently, only seniors
are allowed to sign up for a seminar. As you know, I'm only a
junior, but, uh, is there any way | can get into your class?

M: Hmm . . . That's a good question.
w: What do you mean?

wm: Well, all history majors have to take a seminar before they
graduate. So, uh, senior students are always allowed to
register for the class first. In addition, the class is limited to
fifteen students. That way, everyone can participate in the

discussions.

w: ‘I'see. .. Soyou're saying | won't be able to get into the
class? That's too bad. | was really looking forward to taking it.

M: Slow down a minute. There is actually a small chance
that you can take it. If fewer than fifteen seniors sign up, then
juniors in the History Department can enroll in the class. I'll put
you on the waitlist. You'll be the first junior who gets to join if
there is enough room. How does that sound?

w: Some chance is better than no chance at all. It's not a
perfect result, but it's better than nothing. Thanks, sir.
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6. (€ (Understanding Organization Question)
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M1 Professor: People rarely think of birds as predators. However,
there are many species of birds that hunt. Some are the
condor, hawk, eagle, falcon, buzzard, vulture, and owl. They
are collectively referred to as birds of prey. For the most part,
they eat small mammals and other birds. Most birds of prey
attack by swooping down suddenly from above. They surprise
their victims and kill them with their sharp claws and beaks.

All birds of prey have several characteristics in common
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that make them good hunters. For one thing, they have keen
eyesight. This allows them to see potential prey from far away
or from high above. They have sharp claws that let them Kkill
animals. They also have very sharp beaks. These enable

the birds to tear the flesh of animals. Their beaks are usually
curved and pointy. Look at the screen here . . . You can see
an eagle’s beak . . . Note the sharp tip here . . . and the
downward turn of the end of the beak . . . In this picture . . .
look at the claws, or talons, as we call them . . . They can
grasp and tear at the same time.

Many birds of prey share those physical characteristics. But
don’t misunderstand. There are also many differences between
them. The shapes of their wings often differ. Some, such as
the eagle . . . and the condor . . . have broad wings. These let
the birds soar high above the ground while they search for prey
down below. Others, such as the falcon here . . . and the
hawk here . . . have short, compact wings. These are ideal
for swiftly diving on prey. Another difference is that most birds
of prey hunt during the day. Owls, on the other hand, are
night hunters. Over the years, their eyes have evolved so that
they have excellent night vision. This makes them extremely
fearsome nocturnal hunters. Do you have a question, Tina?

W student: Yes, sir, | do. You mentioned that buzzards and
vultures are birds of prey. Is that correct? | have never thought
of them as being hunters.

M1: Ah, yes. Thank you for bringing that up. That's rather
observant of you. Let me explain, class . . . While most birds
of prey are hunters, some are scavengers. They occasionally
hunt, but they prefer carrion . . . Yes?

M2 Student: Carrion? I'm not familiar with that term.

M1: It means the body of a dead animal. You know, uh, a
carcass. That is what buzzards and vultures usually eat.
Nevertheless, we consider them birds of prey since they have
all of their physical features. Everybody got that . . . ? Good.

In total, there are somewhere around 500 species of birds
of prey. They are found in virtually every climate and terrain.
“Among birds of prey, the condor, eagle, and vulture are the
largest. The Andean condor has a wingspan of more than
three meters. Conversely, falcons, hawks, and owls are among
the smallest birds of prey. One species of owl—the elf owl—
is only around twelve centimeters long and weighs next to
nothing.

Translation
M1 Professor: ZRE ZAIKIZ M7isH= ASE 70| QiELICH SIX[aL AKE 6l
U2 Zo| ZFS0| EMEiCE O3 Y= 2= 0f, 552, L2 thv2ls2], HA,
J2|n So|uch olS2 SEhAM B3R2D SELCL F2 2 ZRFLICE
MES Tol2E UiEE2| WIREE AZ0iM ZAD | SLsES2M S22 Lch
SMES mop ol J7 122 YWEN 22| & J1X|D =42 mioksLich

DE WIRER AIES EES AILPoZ OIS0 T ¥ 7| BEERI EME
T QigLich =M, Holdt AMS 7IXD QELICEL 0|2 ¢ ReeRE 2 52
Ro2HE o7} H 4 U= S 8 7t YgUC 0152 S22 558 Hid==
SiFE 7122 WES AlL|T ASLCE £3H iR P IEE 2a|s Jix|Tm st
Ol= WER2 5l03 529 HEHE Tojd 4= IS BLCh 0159 Hal= B8
FH2M lon Z0| WERILICE 07| ATRIS BAIH-- E42|0| H2|2 HA 4
QlgLich- 07| Y7128 48 F2a A 22|11 H2| 2 Zo| o= Sl 3l
Az FESH FHAIR - 0] AFEIOIA-- UED 2 A2 Leiojztn Se2l= 2S &t
FHR - 0|52 HoIE Holils SAlo| AEE EE -7 AUsLICh

EE WASS0| 29t 22 LHELI SESE ZRekT USLICE SRSt
SsligtRl= DiMIR. E8t 5 Ziole 042] 71X X01™EE ExHEiIct BF Hie
el CHELICE YS =, o7 S42l2f-- J2|0 225 20| Y2 D8

66

ZHX|0 UELICE oj2fst H2 oRHo Q= HoIS S 0 XX 2 320j|M 01S0|
HIH#S &+ USE siFELICE E Cf2 MS, oliZic] 6d7] Y22t 070l e e
D X2 WS XD UGLICE ol HolE &l ®=A| shashen olAELIct
I C}E ROES ipEe| WIZS0| & S0l APSS Sichs Feuc), i,
2tf0l= 0zl ARS BiLICE 4= Hofl ZF, &£0] Tigte]o] 0IE2 Hojdt gies
7HRIZ QUSLICE 0|2 OIS2 DR FAIRAIE 0RF AKSEO| ElLICE ZE0| LR,
Tina?
W Student: Y|, ', gUch o222t B0 BaFain Daski=te.
70| ArRIR? OIS Waakn Mz 2 =o| gliMe.
M1: Of, U, 2 ®E Mzh bl shEM DRUIR. BIE=0| AEE] 22, M calE,
o2l - P Ee| WIRSS WLR|DE U= Ha ZSULICH 2 ALE
SIAIRL W2 17|S o FOEIICH- WI?
M2 Student: 42 17|27 J2{5t B0i= U=5R7t g20|e.
M1: F2 S22 AIFHIE o[FLICE OtAZIXIZE, of, AFRIE, tHH2lalet Eai7t 5HE
S= QYU T S76, 0152 WaERL AHA EYE 25 7KL 2|
20l £2l= OIE8 WSR2 UFEiUch 255 L7iue-7 EaLict

PF EaliM, of S000iES| WSF7t EAEILICL AN BE 7IF Y RE
XIZolM WHELICH WES SolM, 2=, S4al, J2|m a7t 7 Sk ethla
Ex20| J7f| Zol= 30|67} EsLict, gie, T2 of, J2ln Swjojs 7R e
USF0| £t Sijn| £ 5t Z2 - U= Sw0|= — Zol7t 12ME[D[E H=Y
Ho| S2AI7t 7FE JA| LRILCE

Answers
9. (D) (Gist-Content Question)

10. (B) (Understanding Attitude Question)
11. CA> (Detail Question)

12. (B) (Making Inferences Question)

Script & ¥z

W Professor: For the next two weeks, we're going to focus on
The Canterbury Tales. I'd like to give you a brief introduction at
this moment. And then I'll dismiss you for the day. Oh, uh, be
sure to read the general prologue by the next class. That's the
very beginning of the poem in case you don’t know.

Okay, um, The Canterbury Tales . . . It was written by
Geoffrey Chaucer. He started working on it in 1387. When
he died in 1400, his masterpiece was incomplete. Hmm . . .
Actually, | think “incomplete™ might be an improper word. Let
me explain why. You see, Chaucer wrote his poem by using
a method common during his time. He wrote many relatively
short poems and combined them by using a framework. So
The Canterbury Tales can be taken as one very long poem. Or
it can be considered a compilation of many smaller poems.

M Student: What was the framework for the story, Professor
Madison?

W: Basically, the poem is about a group of people going on

a pilgrimage from London to Canterbury. They're going to
Canterbury to visit the shrine of Saint Thomas Becket. There
are thirty people in the group. They have various backgrounds
... The group includes a knight, a priest, a nun, some
craftsmen, and a lawyer, among others. They meet in a tavern
near London before starting their journey. The tavern owner
suggests that they have a storytelling contest. He says that
each person should tell two stories on the way to Canterbury
and two more on the way back.

So, uh, if all thirty characters tell four tales each, there
would be 120 tales, right? However, Chaucer only wrote



twenty-four. How come . . . 7 Some people believe Chaucer
stopped writing in order to revise his first twenty-four stories.
Then, he died before he could write any more. Others have
different theories. Whatever the case, The Canterbury Tales
isn't anywhere close to, um, to being as long as Chaucer had
planned. In fact, in the story, the pilgrims never even make it to
Canterbury. The poem ends before they get there.

But we're not going to focus on the pilgrimage itself. Of
more importance are the stories. These stories are told by
people with various backgrounds. As you can imagine, this
results in the stories being quite different from one another. The
knight's tale, for instance, is a poem about chivalry. But other
tales, such as that told by the wife of Bath, are cruder. Some
of the tales are funny. Others are not. The themes of many of
the stories focus on religion and the differences between the
various social classes of the day. We'll examine these various
themes as we read the poems. Oh, and we're going to read
The Canterbury Tales in the original language, which was
Middle English. It's quite different from modern English, so
you'll have to get used to it quickly. | hope that all of you can
manage to do that.

Translation
W Professor: Chg 25 S210ll=, ZHEfu2] 0/0f7 (o sl ZHS 20 28
SRISLICE ZIZ2 of2i2H ZiHs| A7HE si=|nxt gt J2] Lides 82
DII=Z sRIELICE 2, 0, OIS £ M7IX] 94X LT 428 U0 2R Z2AE
HE 95 Uss ca|H Al H 2R

F012, 8, fHeH2] ojokzl= HiZa] M| ofs MoiEELIC T 13870
7401 ChEt Zi2iS AERIELICH 71 1400E10) AlgkE ©A|, T2 ZiEe njekd
HENFELICE &+ AR, XM= "0/2bT0 2 2o| £EEE Tofrt 2 4 2ckn
MZIBHICE 11 0|RE s S2lE OMARIXICE EMs SAl] LdiHo|H WHs
AZ25101 ARble| AIS MELICE BlmE 2 AIS Bo| A1 Shie| B8 AEsiM
IS5 HEARIELICE W2t ZHEHE] 0f0f7 = SILIS| IS 21 AI2M 21F
USLICEL E2 U2 B2 MER 0|R0E BERORM ZIFEH 45 AUF
M Student: 00}7 |0l LiEH 20| 2210|9LIR., Madison m<=H7?

W:7[2H0o2 1 Al BTl ZEHEIR o ofEE mptd & f2lo] ARS
5 ZYULICE 0[S2 M2l E0kA HiZio| YXIS YEs?| el TEH2I= 7in
UELCL F2lolk= 302 A0 ARDR. IES CITt HiFS 1D s
Fa|oh= 7 M, SR £, 2 Bl FOIE, J2|0 B Fo| Y| CiE ARIED
| ZEElo] ARUSLICE OIES IS AlElE17| Tofl 2B 22| B ofzioflM
Z20[7| ELCh of2t FQI2 0[F0| 007 X[o{Li7| AlElE & 248 MISHERLICE ZIx7t
HEH2IZ 7H= =50 F 72l 0job|§ Yalu 012 2ol £ 1Y 0o IS o
&siof STt &= Eic

J2iA, 0f, 30T AUEE0| ZiZE 4712] 0[0F7 |E SHCHE, 12070 0[0F7 |7} LI=A|
= AYLcH JEE? SIXIR EA= 24702 MELICE of JENR-? S
ARISE M7t A 24912] 0[0P IS o] Rlsll 2 2= ZE BAl ST &1
QUELICE I8 ChS, 0[0R7 [F of A7) Hofl AlYE &t 20|% T2 0128 7R Rl=
AHER USLICH O ZR0IT, ZEe] 0/0f7f= 8, M7t AR 24t Ha]
CHE 20| ZIREELICE A, Ol017 [oflM, Z=2IXIEE2 23 ZHEH|2IoN 71X| BELICh
TIE0| R0l =257 | Toll APtHELHELUC,

SIR[ZE P27t 2| O AtHjol 2HE SIFKle tE AYHCL 2t 318 A 59
aih= 0[Ok IRIUCE 0] 0PV ISE Tt BiES 71! ARS0l 2fsh LshEuUCE
SHE £ UR0|, 0l= 1 Z2M MZ ofR CHE 0017 IE2 TE |iLICh oIS
£01, 7|Al2] 0107 k= 7 IAt=0l| 2iEE AYUICE SHX|2F HtA S£2010| Tt Zint 22 o2
Olop7IS2 2ot AM&ELICL 2 0017122 AHoRtEUICE 28X B2 e AR,
U2 0jop[S2l FHl= Bu W A CIYE A ZiE o] Xojol 27 50
UFLCEL AS H2EM P2 01213 CHS FHS0| St ZEs & UL
2 2|7 M2, F SM A2l Hol= ZHEjHz] 0[0f7 IS SHAl § ZLich Sl
Hoieh= Chi Xjo[7t LI7| th20l, 22 E2 BEAH XSS shHoF 2 2iiuch
Cl2f2 257t a8 et 4= U7 IS i)

Answers
13. (C) (Gist-Content Question)

14. (A (Gist-Purpose Question)
15.[2],[4] (Detail Question)
16. CA) (Understanding Attitude Question)
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W Librarian: Good afternoon. Is there anything | can do for you?

M Student: Yes, there is. | am trying to find a book, but it seems
to be checked out. Is there some way | can, uh, | don’t know,
reserve the book? | mean, when the person returns it, can | be
the next one to check it out? Is that possible?

W: Yes, you can do that. | can put a hold on the book for you.
M: Uh, what exactly does that mean?

W: When you put a hold on a book, the person has to return it
within ten days. So, first, we'll send a notice to the person who
has the book. Then, when the book is returned, we'll call you.
After that, you can come and check it out.

M: Awesome. What do | have to do?

w: Just fill out this form. Oh, | need to see your student ID, too.
M: Sure thing . . . Here you are.

W: Looks good to me. Thank you.

M: Ah, there’s one more thing. | need to renew my library
books. | think a few of them are due tomorrow. You can do
that for me, right?

W: Yes, | can do that now. Let me check your account . . .
Hmm . .. You have eleven books checked out . . . You're
right. Four are due tomorrow. I'll just go ahead and renew all
eleven.

M: Thanks so much for doing that. What's the new due date?

Ww: It's November seventeenth. That’s two weeks from today.
You can renew those books two more times before you have
to return them. Now, finish filling out that form, and | will put
the hold on the book you want.

Translation

W Librarian: QHISIMIR. SHES 2i8H A7t SIS 200| QULIR?

M Student: 4|, I, M2 5t A 30 4= Z000|, chE0| E 2 ZokMe. &P7L
04, H2H0 SHok BIX| 2 227=0|, MS ol F 5 s Yol QiEmR? M 2,
1 AfR0| A2 BE B, Pt O S oSS - e R oS ARITHE £
QUBTIR? J7i0| 7HsTI7IR7?

W: Ul JEA S 4 s SIS 2lE A7 =AM oS siERAIR,

M: 0, J210| k5| o QojRize?

W =M ofelE S1H, SR H0Y ojUliof] =S Bidshol e, JI2iM, M2, #E
ZER|Z QU= ARUIA X237t EXIE B2 Hole. T3 ChS, 20| P, Sl
S & 210112, T Roill=, S0 0212 2 T M2 thEE 47t S,

M: HX[ZL. M7t o= 51 =iLie?

W: 0] 2Alof LEEDH 71s THIR. 2, shdie] SHEEL SI016H0F sHS.

M: 2202 07| 2oL,

W: HEOE 20|, DOy,

M: O, &t 7IX|7H O 2l012. EAE HS0| thE 7|2 Akl siMe. 05 ¥ 32
LHMIR| Bhdshiol She Zio2 YD QoS %A sheal 4 UE, J8E?

W: U], X3 sHEZAHIR, M0 thE LIHE S0l EAI-- & 13RS M2
hEshizEe - Shd 2o| WolR, 47e| eigeo| LITIX|YIR. 13 250 s &7t
thiE 71218 HEEH =2,
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M: J2A siFACH] HUZ DEELCE M22 B 752 oA Hue?

W 118 TR, R=FE 2F $x M2 UdE oP| Tl £ AR O tiE 7RIS
HEBH o= 2U0iR. Xt Aol LIES of Z|2aH FAIT, H7t 2tedo] Blah= 2o
cishM =M ol2tS SH=ZAH IR,

Answers
17. (B (Detail Question)

18. Wind: [2],[4] Fetch:[1[3]
(Connecting Content Question)

19. (B) (Making Inferences Question)

20. CAD (Understanding Function Question)
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M Professor: Waves are mainly caused by the action of the

wind on the surface of the water. How so . . . ? Well, the wind
produces friction on the water’s surface. This causes the water
to start to ripple. Gradually, these ripples become larger. Soon,
a wave forms. Each wave has a crest—its highest point—and
a trough, which is its lowest point.

When a wave forms, it appears as though the water is
moving forward. Yet that's an illusion. Very little water actually
moves forward. It's the wave's energy that causes the water to
appear to move. The reason is that water is a fluid medium. I'll
explain that in a bit. Okay . . . 7

Now, uh, sometimes you might have seen some wavelike
motion on the ocean when there's no wind. These waves are
called swells. Have you ever wondered what swells are . . . ?
Uh, maybe not . . . Anyway, swells are the remains of waves
that formed in other locations where it was windy. *’The wave
energy is still present in the water, so that's why they occur.
Swells produce a gentler, more rolling motion than waves.

Okay, | got sidetracked a little there. I'm sorry. Let me get
back to the main topic: wave formation. There are five main
factors that affect wave formation and the sizes of waves. Let
me tell you a little about each. The first factor is wind speed.
When the wind is weak, it produces small waves. When the
wind blows harder, it produces more friction. This results in
higher waves. The second factor is fetch. This refers to how
far across the water the wind has blown. You see, uh, on the
ocean, the wind can move greater distances than it can on a
river or lake. Thus ocean waves are bigger than river and lake
waves.

Now, uh, the third factor is the width of the area the wind
blows on. When it blows on a wide area, the waves are larger
than when it blows on a narrow area. Fourth concerns the
amount of time the wind blows. If it blows a long time, the
waves are higher. The final factor is the depth of the water.
Some waves in shallow water can build up to great heights
before crashing onto shore. Yes, Amanda?

W Student: S0, uh, the waves near shore are the biggest ones?

M: No, they aren't. Some monster waves, or, uh, rogue
waves, can reach shore. But the biggest recorded waves
are formed far out on the ocean. Many monster waves have
been recorded at heights of thirty meters. That's as high as
a cruise ship or oil tanker. These waves were once thought
to be extremely rare. Yet they happen more often than we
had thought, which is unfortunate since they can be deadly.
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But don't worry too much. Most waves are just a few meters
in height. Now, since Amanda brought up the topic . . . let's
examine what happens to a wave as it reaches shallow water.

Translation

M Professor: D= $HO|| 2= HIER| 220 o6l =2 MMELUCE HEH -7
2. HIZ0| =00l 0HES Lo ZLct o|2M S0 S22 4717| AEEiCt
HrESR olefet 282 2ot A SLic) 2, oot MEELcE 2210 Dk =
S0iEe} - 7PE =2 AE - 7R U2 AR 22 ZsL)

Oi=7 $M=S, 20| 2o oISshs ZAE 2Lch iRt 0|22 Aziiuct
A= S0| %= 0lFshs A= A gaLich 20| olSsk=s Mg 20/
Dle= 242 HI2 Tje 0] oiXI-LICE 1 0lF= 20| AH2 & oiA(0]7| EeiL|ch
ZHA| 10/l chel MHel =2leF shlaLich HEUE--?

AL 0, mim 2 Higto| S of Hicloll M mhest 262 SXUS B4l =Ho| Jlod
At of2fst Iz WE02tkn BELCH B0 22121Xx| 238 sk o)
QULIS--? 0f, Ofol= X Yo NS 2 ZEE - OHiE HE2 0| B =02
HxjolM SHeE o] HESAULICE T2 HuZls 240 AlS Exfish=d], TRt
0[210] H20| Wizl= 0|77} ELICL L22 Dz Er} Of 2e3n 206 258
et

2012, BA| 922 P29 ZESICE CH FHIZ S0P =S shigUck
Oj=o] Sgiuc) meo| S4nt mie o] 3710 F2ks 0lxk= 5742] F2 991=0]
QUELICE ZiZiof| chah BAH| LEel S2|= S sRELICE A Bl 2012 E£20Lct,
HIZ0| ofsiH, =2 oot EELIC) HiZo] 2ot M 23, o Y2 o]
UNLICE O Faut B} =2 oot e ELICE 5 il 2212 chotH2IiLct o=
A HIZ0| & = U H2IE XIZELCE ofAICHAD], of, BiCtlME, Zolut
S0MECHHIZ0| O S H2UF 0fS8 &= UgLich w2k siciolMe oies 2iat
SL0Me Tz o U

AL O, Al Hnl 2212 HiZ0| 2= X1H0] So(Lict ©E XSolM o] 23,
S X|H0i|lA 2 wiEct oot o SLICE Y| #l= BIE0| 2= AlZHe| 2kt 20|
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M: OR|2, JX| ghgUch U8 1S OI=E, F, of, St ni=S0| sietzio)
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QUELICH REN0ILE FEM Heo| F0[LCt ol2E I EE shl J5| E&2
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X|HEY 4 7| HHZ0) Ol= QUEI7IZ YL|CH SHXISH LT ZHsK = nidIR.
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Al

Answers
21. (C) (Gist-Content Question)

22. (€ (Detail Question)
23. (D> (Understanding Organization Question)

24, (B) (Making Inferences Question)
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M Professor: What exactly was the Cold War? | think we can
best define it as a period of tension that was mostly between
the United States and the Soviet Union. The Cold War lasted
from 1946 to 1991. It ended when the Soviet Union collapsed
and broke apart into several nations. But, before we begin
today's lesson on the Cold War, I'd like to look briefly at what
led it to happen.



Two of the main causes of the Cold War were communism
and World War Il. In 1917, World War | was still going on. We
covered that already, right . . . ? Well, the Russian Revolution
took place in that year. It enabled the communists to come to
power. Thus Russia soon became the Soviet Union. Almost
immediately, there was a great deal of tension between the
Soviet Union and democratic nations such as Great Britain,
France, and the United States. Counterrevolutionary forces
tried to overthrow the communists. This resulted in the Russian
Civil War being fought right after the Russian Revolution. Many
Western democracies provided aid and even sent soldiers to
help the counterrevolutionaries. But the communists emerged
victorious.

For the next two decades . . . uh, the 1920s and 1930s . . .
there was a great deal of unease between the Soviet Union
and the West. They weren't exactly enemies, but, um, they
weren't friends either. Many in the West feared the spread of
communism. Yet this didn't happen to a great extent. Then, in
1939, World War Il began. At that time, Josef Stalin was the
leader of the Soviet Union. He and Adolf Hitler of Germany
signed a nonaggression pact. They even conguered and
divided Poland between their countries. This angered many
in the West. But Hitler soon turned on Stalin and invaded the
Soviet Union on June 22, 1941, By default, the West and the
Soviet Union became allies. Ultimately, of course, Germany
was defeated. But, in doing so, the Soviet Union's armies
came to occupy much of Eastern Europe. This set the stage
for the Cold War,

The Soviets began setting up and backing communist
governments throughout Eastern Europe. The West was
unhappy yet did nothing but protest. In 1946, British politician
Winston Churchill gave a famous speech. He stated that an
“iron curtain” had descended across Europe. It was dividing
the democratic West from the communist East. The iron
curtain would become a symbol of the Cold War.

Now, uh, what you need to remember about the Cold War
was that there was no direct fighting between the Soviets and
the West. Yes, there were proxy wars, such as the Korean War
and the Vietnam War. But Western troops and Soviet troops
never battled one another openly. One of the hotspots of the
Cold War, however, was Berlin, Germany. After Germany lost
the war in 1945, it was divided into four zones. They were the
Soviet, American, British, and French zones. Berlin, Germany’s
capital, was divided the same way. Naturally, this led to a lot of
tension. Here's what happened . . .

Translation
M Professor: 3802t Haks| SS0IUSTIR? F2 0|52 A2 A0 QS UH
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24 ASRI0| AR X|=XIGHELICE ot S0 OIEZ 5i1E8l= E7F F%40|
MESLICE X0 3 Alofofl 2= ETI=E FH5I0] 012 226 = MELIC
Ol= M2l B2 ARISE Bt 2SS oiXIN 5IF2= 2 AHRS
S2610 19413 68 22201 A8 S ESHGEUCL KISBAZA, M2t AH2 SUR0|
ERIGUCL 2=, 28 S0 MuisUICk sHRIE J2f= Seh A8 2t
SR B2 XISE TEa =itaUch ol2M ATe| 2ot ol ERisU

A7 NHES SR TH0| ShiFe| FLE M1 OIS XIgs17| AERESLICH
Mgie SIHlGER] ISXIR Eolsh= 2 02joli= OFFA= oFX| 2FELICh
1946, FF0| FRIQI! HAH AE0| RE PEE MELICH 2= "HY FAW 0|
FE Selfin ke FEREUCE 232 M7et SHF STESE TR 3=
ZoItEUICt Hel Faks W] HEo| =iRtatict

At Of, ‘A7l cha 21220 7[2aHof 2 22 A2int M7 Ziofl ZEERI HET}
QURACH= HYUCE H), 8= S0 HIEE S0 22 2] HE2 UUSLICE SRt
M| FLhet Ao Filis TAMOZ M2 HES ol Ho| EZ giigUch
SEAITE, WizEle| £ X|dk= See| HIETI0IRESLICE 194500 IS 8t = SY2
47he] FE X9z LiRisUct 48 FE 1Y, 012 A, 2 38 A,
J2ju ZetA HE XH0| JZ0ItELICE S| +20 HiERIE E2 Aoz
LIFRiEUC SEeIT, 0120 B2 10| 470l =iigUct o 2ol Q=X
I:Er%% Ealﬁ

Sample Response %33

Many people like shopping on the Internet, but | don't. In fact,
| dislike it very much. Most of the time, products sold oniine
don't look like the pictures on the websites. Once, | bought a
shirt from an online store. But the shirt | received looked totally
different from the picture. It's also difficult to return items that
you purchase if you aren't satisfied with them. Many online
stores have a no-return policy. You have to be careful when
you buy from them. If you aren’t happy with your purchase,
you won't get your money back.

Translation

HE ARS0| 2oz Alsk= J18 E0GIKIT, L= O8] Gt A L=
QIR A2 i A0{SICH RS A2, 221210 Tiisls HMES2 AL |Eo|
Ql= AFEInt 210| H0[X| =Lt SHHE, 22l ohEoM =8 7RIEH Xo| UAUCH
SIRITE L7} BE2 R AMED} 2HHE] Ch2s| Bolct 5 MiSo| 2SS 61| Eake
AR, s MES BrEdle AT OECh Y2 22101 HES0| e HES 2R
f4=Ch 248 2ol 7S 8 the Fefhof Bict Pl THES ofX| Me das
EEE x| R Ao[ct

Sample Response 1: Agree {&;ﬂ)

| strongly agree with the statement. Student evaluations of their
teachers are definitely valuable. First of all, teachers always
read their evaluations. So they can learn what they are doing
wrong. Last year, several students in my class criticized a
teacher for giving too much homework. The next semester, he
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gave less homework. Those student evaluations were effective.
Secondly, teachers can also learn what they are doing right.
Students often compliment teachers for certain actions. Thus
teachers will know which actions of theirs the students like. For
those two reasons, student evaluations of teachers are clearly
important.

Translation

Li= Jefet Ziso Zi2ia| THEEitt mAf st shlEo| Wok= o 71217} QICk
M, DASS S ZRASOof St E7FLHES Hi=Ch Taby XHIS0| f22s
AR USKIS L 4= QIck FA, 22| B SEER DS S So| LIECHD

St WALS HITEIC) CFS 87 |0), = ANE 2 WESiCh J2i8 Ss0| Haj=
SOE0IUCE S, WAISS E5 XL0| RS B Bl YRS U 4 Ut
SHIS2 E& SH dE0 ois ZASE 27| TolEih metd WASE Ko
Ol #EES SHIS0| S0lSI=X] YA 2 Zi0Ich 0f2i8H 5 71| O1R2, WAl chEt
ShiSo| Hrk= B S0t

Sample Response 2: Disagree g&g}‘j

| disagree with the statement. | think that student evaluations
of teachers are worthless. The first reason | feel this way is
that most students make useless comments. For example,
students with bad grades usually write that the teacher was
horrible. And students with good grades usually write that
the teacher was great. Those comments don't help anyone.
Second of all, many students don't even write any comments.
They just fill out their evaluations as quickly as they can. If the
students don't provide any input, then the teachers won't
know how to improve.

Translation

Li= 25t Tlsol| BHHSict Lhs mAl| cht SHEse| ot 71|17} gicta
Mzisic} Uizt oA MZisks 3 Hil 1R tHR2S SMS0| 42 Si= TIE
57| mi20|ct KIS S0, MZ0| L SIMSS EM mAH EEgictn Hert J2|n
MEo| Z2 SMSE BF AT FHOLICID H=rt J2{8 Bk S0 =20)
=X 4=t SW, B2 SHES0| W7 LSS HRI= H4=Ct 7Hs8t el B YA
LES A B0|Ch SMMS0| LIZES 7|US oiX] T, WAISE €A JHEAI-
ZoIx|E 224 € o|ct,

=l Reading

Translation
7AiM 3 HEH =S ofEdLct

tHEh 7|sAl LH 2E & Halv) o/ F EQYUQ 108 3o EAHE
HlEYUCH P22 SHdS0] SO S 71X 17| E, X S
Hate Ho| AEBEX| ¢ UGLICE E5t hSE2 2F a2 6 248
21 QgL 22 HMeE MAlstn #elshed) vIEE $Eshor §Uck a2ln
i 222 XISaHof StLich o2ty oist 3@ 222 I3 Tl EHEeEM
HIEE Fofsl7|2 BES WSUCh shxISt, st HE o] 25 Hale
Hrig|x| @S AHYLIC

W=l Listening
Script & ¥

M Student: Hey, the school is finally removing the payphones
from the dorms. It's about time.

W Student: Hmm . . . | have to disagree with you. | think it's a
bad decision.

M: Why do you say that? | mean, uh, I've never used a
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payphone in three years here.

W: Maybe you haven't. But | have. | sometimes forget to
recharge my cell phone's batteries. So | need to use one of the
payphones downstairs to make important calls. Now, I'm not
going to be able to do that anymore.

M: But what about the fact that the school is losing money
because of the payphones? Times are tough economically. |
am glad that the school is trying to save money.

w: Come on. | don't believe that. The school doesn't have to
pay any phone bills. After all, people pay every time they use
the phone. That's why they're called payphones.

M: Oh . . . yeah. You may be right about that.

w: I'm going to talk to someone in the administration. Maybe |
can convince the school to leave some of the payphones.

Translation

M Student: OJ&}, 5t 0| OHEL 7 |SAIIA 35 HEE EAE olgolz. 2
w7} =[x

W Student: E- Ll Wl Lojl S2/& = 8lo]. 2212 EX| 28 ZEol2tn M2i6,
M: 2ff JZA ks HAI? U 22 of, LiE 0714 34 S0t S5 HelE ME8al 2
=o| glof.

W: Ol O3S & QIR BHXITH  AZsH 2Ho]. 718 F817| HiEj2IS SF6Hok
Bith= ES olof. J2iM SR8 HEIE 57| 2siMe oS 23 Hat S shs
AkZahok sl O1A|, o olet T StX| 22 7ok

M: 3IX|2H BE HEI2 Qlal CHSES0| &4 1 QIrk= AMME HEH| SHAR?
ZHESR 2lE Al7|0k ShnE0| HIEE Folsl 1 Siths ©2 H K2 20jok

W: B L= D3 251K olot SInE2 2E Hel RS XIEE Tert el
RIS, AIZS0| HEiE 0128 1 0ict 832 XiEshs HoIHE. 23 Mkl
=2l 01871 J2dolx|,

M: 2 24, T Hoi tishiMe U] 20| %2 = U

W Bt #H 2i=o) =27 iof| ojof7 S sloRiod. oot SinEE MEsiM 25 Hat
2% the A & 5= U8 Hok

Sample Response & &=

The man and woman are discussing an announcement by
the school's management office. The school has decided

to remove the payphones from the dormitories. The woman
disagrees with this decision. She gives two reasons for
disagreeing with it. The first is that she sometimes uses the
payphones. Her cell phone often runs out of batteries. When
that happens, she uses a payphone. Also, she claims that
the school isn't losing money on the phones. She states that
people pay the phone bills when they use the phones. For
those reasons, she wants the school to keep some of the
payphones.

Translation

X1t OfX b= Shn #2|A0| ZX| AR Chsl =0l SHo QUCH CHEIE2 7| A A
EF H3IE HHehr|= ZEECt ok 0[2{8t ZEo| HithSich JHe RHlo|
Rithshs 0] et = 71K| OlRE MIAISICE & Y= 0147t 2 22 HeE
O[2EiCh= Holch, O49| REE &5 girio| 2ot O Yol WilsiH JH=35
Tz OZEiC), 5 Jld= StuR0| 25 Tl &4 H0 U= 22 olL2tn
FEGICEL D= ARE0| 25 TEE MEE of Hst R3E AZ6iCT oigEict
0248t 0|R2, Jld= SwE0| 23 Het W the Al |XAL 2 Heich



ml Reading

Translation
SEECESE
E5 U2 B0 5252 M= s EiCt of2] 7iX| Yoz S #iEE FiCl
IHIHZ 17 HOE o CiUAHL AP S BiCt Of X2 SE52 55 ZANERE
M7ILE o2l EEES Hsslr|x Bt 22 SES0| HolE HE 0, ClE 5882
RAZLE2 CHE FEf2| 28 SIS FAE F7|= Sir M2 F2iE So=M,
SESE £E5 SME Y1 AAS S PG XIZ 4= QICH 0|20 20} o] 224 &

4 9uct

ml Listening
Script & &)

M Professor: People love to watch monkeys at the zoo. But |
prefer to watch them in the wild. In the wild, monkeys often
act together. They truly cooperate with one another. Here are a
couple of examples.

Monkeys share their food with one another. For instance,
some monkeys may be too old or sick to find their own
food. So, um, other monkeys bring food to them. In addition,
baby monkeys can't find food of their own. So the babies’
mothers and other adults provide food for them. This lets
baby monkeys get enough to eat. Therefore, they can grow to
become healthy adults.

Monkeys protect one another, too. I'm going to show you a
video in a moment. This is what you're going to see. A leopard
approaches a colony of monkeys. Some monkeys are feeding.
But others are watching for danger. When the monkeys spot
the leopard, they start making noise. This alerts the other
monkeys of the danger. As a result, the monkeys scatter, and
the leopard can't kill any of them. By cooperating in this way,
the monkeys all stay alive. Now, um, let's take a look at that
video. | want you to see this for yourselves.

Translation
M Professor: MBS SEH0IM BE0I5 7sks S SOMRILICL SHRI9
H= ool Al= HS0IE B= WS O Z01BILCH opdiolM, HE0IE2 22
S| SiSEHCH MUz M2 HES 511 U= Z0|E £ 212 oS S0 =22
ShsLICE

HE0IEE M2 HoIE SFELICL olE S0], 2 H20IE2 U 7Lt
HENM AAZ HOIS 3| R84+ QSLICH J2{H, S, CIE H401S0] oS0
OIS 7PHCHSLICEL =8 M| BS0IS2 AHhie| HolE &2 =7t glaLch mhakd
Af7| H&01E2| ofn|et CF2 O} X2t #2050 OIS0H HoIE HiZsH SUck
O|2M M7| H=0IE2 HE + = S28 H0IE YA FLict m2bd, SEEHIM
ZZE "AHE 4 UL

HE0IE2 5t M2E 255l SUCHL EA F0fl H|C|28 20 =222
SHIGLICE ClRI2SHM A 8 U2E 23 =alE 2 st ol2|7h #80|
MATIO CERILICE 29 HE0I52 oIS S UsLIC SR CHE #40150]
A& 2012 AAlH SLICt H=0lE0] HHE UHGIKL 4218 X[27| AEELCE
Ol= CIE #=0IS0A YIS Zosl SLich 1 Zat 20|82 E0Aln, #H2 1
3 5= 5 47 g Bt o2ig gilos HES o, ES0EE 2R
A Sk XL S, O HIC|2E SAICH GRS AA27} 028 HE 2 TP IE
=]

Sample Response & &5

The professor tells the students that monkeys usually
cooperate with one another. He gives them two examples.
First, monkeys share their food with other monkeys. Healthy

monkeys find food for old and sick monkeys. They also
provide food for baby monkeys. In addition, monkeys protect
each other from danger. When a leopard approaches, some
monkeys spot the leopard. They make noises to warn the
other monkeys. As a result, all of the monkeys survive. Both
of these actions are related to animal cooperation. By working
together, the monkeys can help each other stay alive. So they
can live much longer.

Translation

W S H20[S0| BYHCE M2 S sitta Leich J= S
5 71%| OIRE MIAIEICH Sin, HA0ISE 12 #40(2t Ho|E ZRSICh 212s!
FE0IE0| 51 BE H20IES sl 20IE Z=0h E3HA7| 220[S07 SHolE
Sl E0t AlCh |, #0152 HEC2RH M2E B5s) £0), #H0| H2s61H,
T M=0[E0| BHS UHEl Wit 0[S 42|18 E2| CIE M=0iE0A Hog
SiZECH O H, 2E HE0[S0| MESICL 028t F 7| 88 2F= =224
TS 2HH0| QICt SEE Ho2M, HE0ISE MR dEskst =B8E Fu UE
% QICh miabd B of 2af & 4= Qict

Wl Listening

Script & ¥

W student: Daniel, you don’t look like you're doing all right. Is
something wrong with you?

M Student: Yeah, | have a big problem. I've got a horrible
toothache right now. My tooth is killing me.

W: You'd better go to see the dentist right away.

M: | agree, but that's not possible. | called the dentist, but he
can't see me until tomorrow.

w: Tomorrow? Can you wait that long?

M: Well, there's ancther dentist that | can see. He takes
emergency patients. It'll take me an hour to get to his office
though. And, if | go there, I'll miss a review lesson in my
chemistry class. I'm not that good at chemistry. So, um, I'm
not sure | can afford to miss the lecture.

W: You've got to take care of your health. But | see your point.
What else can you do?

M: | can just endure the pain. | made an appointment with my
regular dentist for tomorrow at one o'clock. | can probably
make it until then.

w: | guess you'll get to go to the review lesson. But what if
you're in too much pain to focus on the lesson?

M: Oh, right. | hadn't thought of that.

Translation

W Student: Daniel, $E0t H0IX|7} 24|, 22 Exi2t= Q101?

M Student: S,  2HPt 5Kt U0, X[ A5t XSS %1 U= S0/(0F 012 miSo|
HUZ o}

W: X2 23 x[ajo)| 7j2= 20| B2 H 2R

M: L= J3H| MZIsHx|0r O3 =7t glof. x|z H2tE sl Wnike 2IEE
g 27t tit=

W: L0247 TJ3AH| 22 7|CH 4= Uo7

M: & ZIES B2 £ o= E 02 Xt Q. 22 SIS 2|, siA12E O x|toll
Zh=d| 8t AlZH0| E3 7ok 2|1, T30 ZHIHE, 218 20| 55 gE XA
B HI L BElE E otr] Rall J2iM, S, 22l EXME 8 olRTt UeR 2
223104,
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W: 2428 AlZJok s, SXISH U 2XHs 270l 1 Yol 01 U 8 4 U
M: DES 2OB SIX| U 1AI0 BB |10l 0fofS SHEIUE. 00l Jupixfs
22 4 U 7ok

W: U7} 4218 52 45 US H02IT W23, SIXIZt LT DEAZISI
4200 HES 28t 0fFA SR

M: 2. 300k 1 A2 Ut 2I5HX] RE2.

Sample Response 1: First Solution 5@

The man’s problem is that he has a toothache but his dentist
cannot see him until tomorrow. The speakers discuss two
solutions to the man’s problem. The first solution is for the man
to visit a dentist who takes emergency patients. The second
solution is for him to see the dentist tomorrow. | support the
first solution. To begin with, the man says he's in a lot of pain.
It's an emergency, so he should see a dentist immediately.
Secondly, his tooth is hurting him very much. So he won't

be able to concentrate on the review lesson. Thus going to it
would be a waste of time.

Translation

Ao Exl= 7t XSS YT U LTI Rlnte] TS e 4 girks
Holch, BIXIES HAte| Exjol| thet F 7EX| 1A WOtS =olska it A Hu
HIok2 HA7H 23 XIS Y X[atol| 7hs Ziock & Hnf 2ot2 R L X|alof
7h= Ao[ck Lis A Snj Hiokg XIXISic M, HXk= Xiblo] oj2 DEARICtD
ST Z2ig AE0|7| 20, 2= ZA| Aol 7o Sich S0, 10| o1 w20l 2ot
o2 DEA2{Y 510 QU mRtd J= 25 SHUM EES 51| 2| 2 Zolct,
et =0l k= H2 ARZHEH7HE Zdoich

Sample Response 2: Second Solution {@

The man's problem is that he has a toothache but his dentist
cannot see him until tomorrow. The speakers discuss two
solutions to the man’s problem. The first solution is for the man
to visit a dentist who takes emergency patients. The second
solution is for him to see the dentist tomorrow. | support

the second solution. One reason is that the man needs to
attend the review lesson. Otherwise, he might do poorly in his
chemistry class. Another reason is that the other dentist is too
far away. Going there would be a two-hour round trip. It might
be a waste of time to go that far.

Translation

HRe| BHle 27} XSS Y AU IUTIXIE Xinte] FIES BE 4 gicks
Hoick 2RSS Hxte| Sxjol thst F 7Hx| sHZ WHS =olskn QI A g
HIOL2 AL S2 EAIE B X0l 7= Zi0ick & HHl 2iok2 gAbot L
X[2toll 7h= Z0|Ch Lis & Bin) 2I0kE XIXIEICE St 71X 01R= EAPE 84 20
EAdsliol st | th20Ict J2EA slA| =0, J= sist 20l SX] Zet 9EE
2| & Zi0Ic}, E siLte| 0lRE CHE |27t HR 2] 2o Q47| ti20ict a2
Ch{2H & 2A[Zt0| 2T Zio|ck O L2WiK| 7k= A2 AlZH |7t 8 Zo|ch

'l Listening

Script & ¥

M Professor: Take a look at these pictures of birds. Here's an
eagle... Here'soneofanowl ... Thisis arobin... And
this is a duck . . . Do you notice anything different about these
birds . . . ? Okay, let me tell you then. It's the placement of their

eyes. Some birds have eyes on the front of their heads. Other
birds have eyes on the sides of their heads. Thisis why . . .

Birds such as eagles, owls, and hawks have their eyes on
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the front of their heads. These birds are all predators. They
need their eyes positioned that way so that they can judge
depth. Uh, you know, this gives them depth perception. So,
when an eagle is diving to attack its prey, it can judge the
distance accurately. It can do that because of its eyes. That'’s
the easiest way to identify if a bird is a predator. Just look for
eyes in the front of its head.

Birds that are prey animals have eyes on the sides of their
heads. There's a reason for this, too. The reason is that these
birds have eyes that can see just about 360 degrees. This
enables them to keep a watch out for predators. Notice how
many of these birds often move their heads around. They're
doing that to look for danger. Thanks to the positioning of their
eyes, they can do this much more easily.

Translation
M Professor: Aol 251 0] JZIES B THR. S42171 Q4gLCH-- Stfo|7}
QT 0|42 FHEAMIHRILICH-- 2|1 0|02 22|10R- 0] S0 2U0IM M2
CIE FO7IE 0t X2l GLIR -7 S0IR, T2 M7 | LS SelsLIC HIR &9
HR[2LICE 2 MEE 02| UZ0| =0| 22 USLICE CIE MES H2|e] 0o
=0| UE. of 23 XIS Y =2pisL -

=<4a|, S0, J2|7 et 22 MSE2 o229zl =0] 23] gLt o218t
MEE 2F ZAXIRILICE Z/OIZS THE = Qe O Ao +=0] YRIEH0F
QUO{OF BILICE O, OIABIXIZE 0|24 JEE Z0IUS QIAE 4= QUSLIC matd,
OIS 22617| 2lell SIYE 2 o, Sl 24Tt H2lE HEsh THE +
ELich = 2ol A & 4 U= Z0|E s Mt ZAXRIXIS Sl & 4
U 7HE 2 WHRILICE D2| Yol =0| U=SKIE 22 gk

TIARIRI MSE M2|2] E2H0)| £0] QSLIC ololl chaiM= olR7H sLick 3
O|Re= O[St ME0| 360=E £ = U= =2 711 Uck= Foll USLICE 0|24
EAMXIS ZAHE = QgL 01218 M S Hollt 32 7t 55 02IE 0[2(x2]
SX0l=XI0f FS8l BHAIR. HE 221 27| Sl 2FA ot Us HEUCE =9
x| th2o0i, 2ot A O 571 Usick

Sample Response 424
The professor lectures about the positions of birds’ eyes. He
says that some birds have eyes in the front of their heads. But
the eyes of other birds are on the sides of their heads. The
professor mentions that birds with eyes in the front of their
heads are predators. These are birds like owls, hawks, and
eagles. Their eye position gives them depth perception. So
they can hunt other animals much better. Birds that are prey
animals have eyes on the sides of their heads. This gives them
a wider range of vision. So they can look out for danger from
many directions at the same time.

Translation

e M2 = SXlol chal Z2lE Sict O= 22 MSS o2|9] 9= =0| =22
QiCtn geict SHXI2HE0| 2l E2H0| 22 Al MEX 2UC 1= Hal Y20
=0| Sle ME2 ZAKIS0 2t eigsict 2o, of, 22|17 S4-2(2 22 MS0|
J2f6ich =2 YXI2 Qs 0152 oS QAR = Qlrt T2tM C12 558
Hr B AR 4 Qi A S80I MSEES mf2ie] SHol| 0| SiCt 0[2M Aokt
SITICE et B ol o2 ool BEttiM LI o Qs f1E RISE FojE 4
i,



Wl Reading
Translation

So2i7 ol BE S| AL SEEE0| Q/ct 0] HEHISE ofid Ycyst
20| ALIRE =0|1 QUck AHZ, 0IS2 1 o A2 B2 ALIRSE T0l=

£910] 171 QI ALIS EEaIS0| iotst 2olks 48 2%0| LIRS0| 58 4
QUCk CRESIE, ALIS TERE SIS 4 U B 71| WeS0| Zxic,

ALISE X2 4 i B 71| 20| 2E2 X1 KINZRE LiSCk B2 22
oIk, ALPE B3 WMt $2 SOMlRI7} KISOIM XIRiCE, Mol 8 780l
2021 KIS0l 50| K2 4 Tt AP TEREe £2 Lol X S|
R HIRH S 7120| HE HP0| 53| 22sick 25017 w20, ALk
TR 22 U0l HES 51X I 27} IR H2 F, WSS 55
FEC] D21 KIS Cio THERISS SO0l §2l0] Sk

ALS Syl Lo} BT E LRSS 26k 30| ik 0j2fet
LIS S01 71 F1of5iCh, M0 443 LIPSS AR BuR29E 55 AARE
8 4 9UCk 1 20, 2R 20IM= Lo} B0 WE LIRSS H2sp| 92t
2{0| FEIT 0k, Ol2M AL THHERS0| 324517 10] 04HRl LieSO|
RIOfEIC), 3055t LIRSS HOIHORM, ALS THZISS HHE 4 U0k AP
TRLSO| ST, % T} OIEREE OHIBHAl  ROICk

=l Listening
Script & ¥

W Professor: Take a look at this insect . . . It's the western pine
beetle. It's one of the numerous species of pine beetles in
North America. These beetles kill millions of pine trees during
some infestations. It's simply horrible what a pine beetle
outbreak can do to a forest. And there’s not much we can do
about them either.

Now, uh, it's true that cold weather deters beetles.
However, many pine trees grow in areas that never see freezing
temperatures. So beetles living in the southern United States
are never threatened by cold weather. In addition, some parts
of the United States have been getting warm winters recently.
These mild winters haven't killed as many pine beetles as they
normally do. Unfortunately, that means there are more pine
beetles than ever before.

You know that pine beetles often attack old and diseased
trees, right? It would be great if we could cut those trees
down. And people are doing it in some places. But, in other
places, there are problems. You see, uh, the problems are
caused by environmentalists. They're suing to prevent logging
in some forests. They don't want any trees, uh, even old and
sick ones, to be cut down. The environmentalists are doing
more harm than good. We need to cut these trees down to
keep the stronger trees safe. But we're not allowed to do that.

Translation
W Professor: 0| 258 2 FMIQ-- M2 ALIP T ILIC} SoHH(2|7H L
£H2 ALIS TEER(0] £ F siLgILICE 0] HES0| Btsi=s 2E 220
SO Q20| ALIPS0| EELch ALSF S0l SZ0| 0 7IE = Y
TS [UEILICEL J2(1 Do chish S217} 8 = s Y= W7 EUC

X Of, =2 M7t DEUSS ARBICHE ES ARRILICE SHX|TL B2
ALIPES AT 7120| HolA|x] 242 x|S0l M K2tm USLICE mhets ol=e] o
MAGHE DRSS 3 £2 HM0f 2t 9IS WX yaLICE Ackt 22
0|22 UL XSS mEEFt HS S Ho5HD USLICE 0218 2315t HSE2 TAA|

HY=o| 03 ALIR SRS S Z0|X| Ratn YUgLCh AERZAIE, 028 HR
T 0 m 20 LS SEE7 B0 EE 20f#uck

ALR DEE B3 Lio] 31 EE LSES SZeiths EE t2E2EME
LT 7 AT TER? J2f3 LIRSS Hjof BiE 4 QlckE 2 AUt
J2|n YL X|Hol= ARE0| 2T Bl USLICE SHRITE CHE XISoiA=,
EMPEUASUCE ORARIXIZE of, EXle HEESEXS2FE LT UgHCL
0[E2 TF 20N B WS MX(oh | 7fel 258 M7(sin gL 252 ofE
LiF2i=, Of, &Ko) Lo[7| B3 HE LIS UXEl: 28k As HA| YELich
EHEESEAEE WalFOlE YS 511 UsUC Rek= T3 LIRS o] LHo| 2ot
EEE LIPEO0| 714 2HE o~ Q=5 siof /LTt SIRIZE JA & 47} Slstich

Sample Response

The professor provides two reasons that defenses against
pine beetles are not successful. These two reasons challenge
the claims made in the reading passage. The author of the
reading passage believes that there are effective defenses
against pine beetles.

The first defense the author of the reading passage
mentions is cold weather. Many pine trees grow in regions
that have cold weather. The cold weather often kills beetles.
This prevents them from damaging any pine trees. However,
the professor refutes this point. She claims that the weather in
many places is not cold enough to kill the beetles. In addition,
some places that are usually cold are having mild winters these
days. As a result, fewer beetles are dying.

The reading passage also notes that people are cutting
down old, sick trees. Pine beetles usually attack these trees.
The professor admits there is logging in some forests. So
people are cutting down the old, sick trees. But she states that
environmentalists are preventing logging in many other forests.
She believes they are causing harm to these forests.
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Sample Response 1: By Email

| sometimes have to discuss upsetting problems with other
people. Doing that by email is better than talking about it over
the phone.

For one, you can explain the problem much easier in an
email. This way, people know exactly what you are trying to
say. Last week, one of my friends got fired from her job. |
wanted to give her some encouragement. So | wrote a long
email to her. However, before | sent her the email, | read it over.
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| made a few small changes to it. That made the letter better.
Because | was able to proofread the letter, | did not offend my
friend. She appreciated my email and felt much better after she
read it.

In addition, the recipient of an email can read the letter
again and again. This can let the person understand the news
much better. For instance, my sister received some bad news
by email recently. She got extremely upset because of the
letter. But, later, she went back and read the letter again. She
found some lines in it that improved her mood. Because she
reread the letter, she gained a better understanding of the
situation. As a result, she calmed down a lot.

No one is ever happy to get bad news. | would definitely
prefer to get bad news by email than over the telephone
though.

Translation
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Sample Response 2: Over the Telephone

| know that some people like to give bad news to others by
email. However, in my opinion, telling someone about upsetting
news is better to do on the telephone.

To begin with, when you receive bad news, you always want
to hear another person’s voice. The sound of that person’s
voice can be very comforting. When my grandmother died, my
mother called to tell me. | was upset about it. My grandmother
and | had been close to each other. But my mother was able to
comfort me. Her words on the phone made me calm down and
feel better. So, even though | was upset about my grandmother’s
death, | was still in control.

There is another reason that giving upsetting news over the
phone is better. The reason is that the person giving the news
can answer the other person’s questions instantly. For example,
my best friend’s father was hospitalized last month. He had
been in a car accident. My friend's mother called to tell him
the bad news. My friend asked his mother a lot of questions
over the telephone. He got instant answers. He might not have
gotten immediate answers by email. Since his mother called
him, however, he knew everything that she did.

Clearly, it is better to hear upsetting news on the telephone
than to read about it in an email. The telephone provides a
personal touch that email lacks.
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